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������!�'� A �����5 �%���� ������!�' $�/�� ��� ���7/���%� !��#�%��
����5 ��%�����%�%�� ���/�� ����%�%�� i���� $' �� �!��$ ����'��%�
������� ��������� ��$����'( ������!� ��� ��/�� � ��%�����%�%����
��%�$! �%� &%! ��-��$���+ ����#� �%���%� � ���!,�� ����(���$�5 ���
������#������ ��$��+%��� ��� ������%�� ����'( ��� $������������
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Q��� %����� �$� ��$���' ���#���%��� �� ��%� ����� �%�� $�/�% �'%�
��+���'$ �����$ ��� &%�5 ��$���'� %� $�/�� ���!��%� ������ ��$���
��� ��+���� � ����� 2�3 ���� � ��$�,�+

cnop q`\ .n 2�3 ����

Ǳ���#��5 ��$����5 ��� ���!����� ��%����%����5 ��-��$���� $�/�%
�'%� ��$���� Cb\y^D� ������ ���������� � ��$���' !��������� $� !%
��#����%��� � ��#�'( ���%�$�(�



�� ������� �� �������� � �Ǳ����������  � !�"� #�$%



������� �

�
���
������ �

�

����������

6������%���7���5 #�����5 � ����%� �� ���/�'$� -!�����$� �
&������$��%����'$� ����'$� �����%�� #����� ��%��������� ���
��������$����� 8�%��������� �!/��� �� �� $' �$��$ ����� #������5
-!������ ���%�%���� %���'(� � (�%�$ ���%���%�  ����!+ -!����+�
���(���,!+ ����# &%� #�������� B���� ��%������%� ��#�����%� �� ��
%����� �'�������� -!����� %�!��7$�� � ����%������ $�/�% �'%�
������%�� %����� ����� #������5 -!����� �� ����5.%� ��%�� #������5
�� !$��%�� B� �� ��� !����� � ������#������ &%�5 -!����� � ����(.%�
�����/����( $�/�% ���#�%��� ��� ����5 ������!�� ��%����������

B��$�� C��������$����D G ������/�����G ���$���$� �� �� $'
�� %���!�$ ���(�/����� ��������$��!+,�5 -!����� ����# �#���%�'�
#������� -!������ B���� $�/�% �'%�� �����$��� �� �� #�������
-!����� � #�����'( %����( �#���%�' � ����5.%� %�����%�+ ?���/�$�
�# &������$��%����'( �#$�����5@� ��������� ���� %������'� #�������
-!����� �����/�% �%�%��%�����!+ �*���!� %� %��������� ���(�/�����
��������$��!+,�5 -!����� %���� ����# %������'� #������� �����%�� ��
%����� ���#$���'$� �� ��/� �����'$� ����/�+,�$ ��%����� ���������
-!������
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�bk[ar ���j �%�������� ��%�������!+,� � ������$� ?���@ f(x) �%
1/
√
x� �����'� #������� -!����� �'������' � %����( xk =

0.01, 0.11, 0.21, 0.31, 0.41, 0.51, 0.61, 0.71, 0.81, 0.91

��� 
��� #���$�� #���������

8��� ��%��������� �#���%�'( #������5 -!����� ������$�$� ��#�����
����� ������ ��������� �%� ��� ��%��������� n #������5 -!�����
���%�%���� ������#���%� ������$ �%����� (n − 1)� Q��� ���#����%� �����
%���� � #������5 -!����� � &%�( %����( ����# xi, yi, i = 1, . . . , n� %�
��� ���%������ %��� � ������$� $�/�� ������#���%� !����!+ -��$!�!
�� ���/� T��Uj

f(x) =
n∑
k=1

yk ·
⎛
⎝∏
i�=k

x− xi
xk − xi

⎞
⎠ . ?���@

��%� %���� ��%���������� ��������� -��$����� �����%��  �����5
?�� ���5 ��� x �!,��%�!+% ������'��'� ����#����'� ���( ���������
������� ������� � ������� n + 1� ����#����'� %�/���%����� ����'
�!�+@� ����%������ ��� �����%�� ��!�����5 ��� ����*� � ����� %����
n� 8�%�������!+,�� -!����� $�/�% �$�%� ������ �'��/���'5
���������#�'5 (����%��� �������� !������+,�5��� ���� %������'�
#������� -!����� �'������' � �*����5� 
�� ���+�%����� ��#�$7$
-!����+ 1/

√
x � ����%� %����( xk = (k − 1)/10 + 0.01, k = 1, 2, . . . , 10�

�� ���� ��� ����#��� �%�������� ������$� �.�5 �%����� f(x) �% -!�����
1/
√
x�

Ǳ���#���'5 ���$�� ��$���%���!�%� �%� �� ���#�%����� $�%�$�%�������
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����%��  ������%� ���%��%�%�!�% ��%!�%���� �/����$�$! ��������+
-!������ <���� ! �!��7���� �������� ��%��������� ������$�$�� � %�$
����� �����! �*���� ��%���������� $�/�� ��5%� � T��U�

��� 
��� #���$�� �#�������

<���� �������%���7���5 � ���%��,�� ���$� �����%�� ��%���������
%������'( #������5 �!�������$� ����5��$� T�2U� �����'� %���� xk� �
��%��'( �#���%�� #������� -!����� yk� ��#'��+%�� !#��$� ����5�� ?�!��$
��� !����%�� �������� �%� �( !����������'$� xk < xk+1@�

��,�� ���� %���5 ��%��������� #���+���%�� � ����!+,�$j � ��/��$
��%������ $�/�! !#��$� -!����� �����%�����%�� � ���� �!������� �
������$�� � � !#��( ������$' C�*���+%��D !������$� ������'����%�
-!������ � %��/� �����5 � �%���5 ����#�����5� ������'����%� -!�����
�!��% ����������� ��%�%�� ��%�$�%������ �������������$ #������5
������$��� �������7��'( ������ � ����� �% !#�� xk� #������+ -!�����
yk� ���#����$ #������� �%���5 ����#�����5 ����5�� � !#�� xk ����# ck�
B� �� � ��%������ xk < x < xk+1 �����%������� �!������� � ������$�
$�/�% �'%� #������� � ����

f(x) = yk · xk+1−x
xk+1−xk

+ yk+1 · x−xk

xk+1−xk
+

+ ck · (x−xk)(xk+1−x)(x+xk−2xk+1)
6(xk+1−xk) − ck+1 · (x−xk)(xk+1−x)(x+xk+1−2xk)

6(xk+1−xk)

?���@

��&--�����%' ck �� ����+%�� ��#�����$'$�G !������ ������'����%�
�����5 ����#�����5 � ��/��$ !#�� xk �������% � !�������+

(2ck + ck−1) (xk − xk−1)
6

+
yk − yk−1

xk − xk−1
=

(2ck + ck+1) (xk − xk+1)
6

+
yk+1 − yk
xk+1 − xk .

?��2@
���%'���� �%� �$��%�� ��� ���5��( !#��� � ��%��'( ��% %���������

������'����%� ����#����'(� ���!���$� �%� ��*���5 !��#����5 #�����
�$��%�� ���������� $�� �� E%��' !�%����%� &%! ���������7����%��
$�/�� ��%������%� �����.%�  ������'� !������� 6�#�'� ������%'
%���( !�����5 ����$�%����+%�� � T�2U� 3 ��! �5 �%����'� $�/��
������'��%� !������ �� �� ��������� ����5�� � ���5��( !#��(� �
�� ���!+.%� �����++ (����%����%��! ����5��� �����$��� ��%���!�$�
�%��' ������������%����� �����#�� ���!�����5 �����5 �'�� $���$������
A'����$ � �����%�� $��' �����#�' �%��!+ ����#����!+ � ��5�7$�



�1 ������� +� ��!��Ǳ�.(��( � �ǱǱ��& �"���(

��� ����( !������( ���%� ��%�� $���$!$ ��%� ���� �% ������%� �%���5
����#�����5 �� ��%������ (x1, xn)� A%���� ����#������ ��� xk < x < xk+1

�����

f ′′(x) =
(xk+1 − x) ck + (x− xk) ck+1

xk+1 − xk . ?��0@

3������%������

xk+1∫
xk

[f ′′(x)]2 dx =
xk+1 − xk

3
(
c2k + ckck+1 + c2k+1

)
. ?���@

���#'���%��� �%� $���$!$ ������������%����5 �����#�' ���%� ��%��
��� #�������( ��&--�����%�� c1 = cn = 0� =%�% �� ���*��$
�������'5 �'��� �������� ����%� $�/�% �'%� ���!���� ����!� ����%� T�0U�
i����� $' ��#����$�$�� � ���%����%����5 ����$�%��#����5 �!�������(
����5���� � ����%��'( ��!���( ����� !�����5� A$��%� ��&--�����%�� ck�
����+,�(�� #�������$� �%���5 ����#�����5 ����5�� � ���%��%�%�!+,�$
!#��� ������#!�$ ��&--�����%' dk G ����'� ����#����'� ����5��� A
��%������ xk < x < xk+1

f(x) = yk
(x−xk+1)

2(2x+xk+1−3xk)

(xk+1−xk)3
+ dk

(x−xk+1)
2(x−xk)

(xk+1−xk)2
+

+ yk+1
(x−xk)2(3xk+1−2x−xk)

(xk+1−xk)3
+ dk+1

(x−xk)2(x−xk+1)

(xk+1−xk)2

?��1@

Q��� ��&--�����%' dk ����+%�� �������'$� ����$�%��$�� %� %���5
%�� ����5�� ��#'���%�� �!�������$ ����5��$ ��-��%� � ?��#�'��'$�
����+%�� ��� �%��*�� ����#����'�@� 
�� ����5��� ��-��%� � !������
������'����%� �%���5 ����#�����5 � !#�� xk #����'���%�� ����!+,�$
����#�$j

2dk−1
xk−1−xk

+ 4(xk+1−xk−1)dk

(xk−xk−1)(xk−xk+1)
+ 2dk+1

xk−xk+1
−

− 6yk−1

(xk−xk−1)2
+ 6(xk−1+xk+1−2xk)(xk+1−xk−1)yk

(xk−xk+1)
2(xk−xk−1)

2 + 6yk+1

(xk−xk+1)
2 = 0

?��
@

A%���� ����#������ ����5�� �� ��%������ (xk, xk+1) �����

f ′′(x) = 6(xk+xk+1−2x)(yk+1−yk)

(xk+1−xk)3
+

+ 3(2x−xk−xk+1)(dk+dk+1)

(xk+1−xk)2
+ dk+1−dk

xk+1−xk

?���@
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�%�+�� ���!���$ �'��/���� ��� ��%� ���� �% ������%� �%���5
����#�����5j

IC =
xn∫
x1

[f ′′(x)]2 dx =

=
n−1∑
k=1

{
(dk+1−dk)2

xk+1−xk
+ 3[(dk+1+dk)(xk+1−xk)+2(yk−yk+1)]

2

(xk+1−xk)3

} ?���@

��5�7$ $���$!$ &%�5 �������' ��� ����5��� ��-��%� � ?� &%�$
��!��� ��� dk ����+%�� ��#�����$'$�@� E��%��� ����#������ �� dk, k =
2, 3, . . . , n− 1 �����

∂IC

∂dk
= 2

[
dk−dk+1
xk+1−xk

+ dk−dk−1
xk−xk−1

]
+

+ 6
[
dk+1+dk

xk+1−xk
+ 2(yk−yk+1)

(xk+1−xk)2
+ dk−1+dk

xk−xk−1
+ 2(yk−1−yk)

(xk−xk−1)
2

]
= 0

?���	@

�� �� !����%���� �%� &%� !�������� %�/���%����� !�����+
������'����%� ?��
@ �%���5 ����#�����5� E��%�'� ����#����'� ��
d1 � dn ����'

∂IC

∂d1
= 2 d1−d2x2−x1

+ 6
[
d2+d1
x2−x1

+ 2(y1−y2)
(x2−x1)

2

]
= 0,

∂IC

∂dn
= 2 dn−dn−1

xn−xn−1
+ 6

[
dn+dn−1
xn−xn−1

+ 2(yn−1−yn)

(xn−xn−1)
2

]
= 0.

?����@

i���� %��/� �� �� �������%�� �%� ������ !�������� ���%��%�%�!�%
������%�! �!�+ �%���5 ����#�����5 � ���5��$ ����$ !#�� x1� � �%���� G
������%�! �!�+ �%���5 ����#�����5 � ���5��$ �����$ !#�� xn� 8%��� �����
���( ����5��� ��-��%� �� �$�+,�( #������� yk � !#��( xk� ���$���*!+
������������%���!+ �����#�! �$��% ����5� ��-��%� �� ! ��%��� � ���5���
��&--�����%' c1 � cn ����' �!�+� Ǳ��$�%��$� ��� $�/�� ���!��%�
��&--�����%' ck %��� � ����5��� Ǳ�����*�$ !������ ������'����%� ?��2@
�����5 ����#�����5 � ��! �$ ����j

ck+1 = 6(yk−1−yk)
(xk+1−xk)(xk−xk−1)

+ 6(yk+1−yk)

(xk+1−xk)2
−

− xk−xk−1
xk+1−xk

ck−1 − 2xk+1−xk−1
xk+1−xk

ck.
?����@

8�����#!� &%! ���!����%�!+ -��$!�!� $�/�� �'��#�%� #������� ���(
��&--�����%�� ck ����# c1 � c2� ��&--�����% c1 = 0� � ��&--�����% c2



�� ������� +� ��!��Ǳ�.(��( � �ǱǱ��& �"���(

$�/�� ��5%�� ������������� cn = 0� Ǳ���� &%� � ��� ��&--�����%' ck
���������'� � #������� ����5�� � �+��5 %���� x ∈ (x1, xn) $�/�% �'%�
������%��� �� -��$!�� ?���@�

��� �## ������$�� ,��#� ����������(


����(

A #�����( � ��/������ ��� ��������$���� ��������� ��! ��
���%������ #�����j �� ����%���5 ��%�� #������5 xk ���' #������� -!�����
yk �� �%�%��%������5 �*����5 σk� A &%�( ��!���( ��������$��!+,��
-!����� �� ���/�� �����$�%� #������� yk � %����( xk� Q��� ��%�
�����.%� %����%������� ��������� �'���%� ������%�'5 ��� -!����� ��
�������'$� ����$�%��$�� %� &%�% ������%� ��'���� �������%�%�������
<'���%� �%� ��% ������( ��������5 �'���%� ����5.%� ������%�'5 ���
-!������ B� �� ���%� �'����+% ��� -!������ ��(��� �# ���������
���������7��� � �������� G C�� �%� ��� ��(�/�D� =%� $�/�% �'%�
;�!����� ������� &�������%�� ������$'� �!$$� ;�!����'( ����'( �
��#�'$� ���%��$� � *�����$� � %��� A �����%�� $��' ���!�%�$� �
�%�������� ��������$��!+,�5 -!����� �% yk ��,� ��� � ������#!+% χ2

?���%���5 �%�%��%������ � �� ����� χ2 ���!/���%�� � ��#���� ���@j

χ2 =
n∑
k=1

(
f(xk)− yk

σk

)2

. ?���2@

A ����%� T��U ������� ���'%�� ����� � ���(��� � ��������$����
&������$��%����� � ������������� ��� �%�!%�%��� %����%������5 $������
�������5 ����5 &%�5 ����%' �����%�� �����%������� ��������$��!+,�5
-!����� �!�������$ ����5��$ ��-��%� �� ��������%' ���5��( !#���
����5�� ��������+%�� ���5��$� %����$� � $������ xk� Ǳ��$�/!%���'�
!#�' ����5�� �'����+%�� �� ���������$ ����%������ � �������%��
!#��� ��������%�� %���$� �%��' $���$������ #������� χ2 �'��
!�����%����%����'$ �� �%�%��%������5 %���� #������ 6���$�%����'�
����� �����%������� ����5�� �$�+% %�% �����%�%��� �%� ��&--�����%'
dk ��� ck ������ ������������' ?�#$������ ���� � ��&--�����%�
$����% #������� ����5�� �� ��7$ ��%������ x1 < x < xn@�
3!,��%����'$ %�(�������$ &��$��%�$ ������/���� � �� ���%$� � T��U
�����%�� �����%������� ����5�� ����# :.����5�'� ��%��'� �����%����+%
��$��%��%����'5 ��%�����
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�
�
	 �������
�

Ǳ���%�� :.����5��� ������� � ����%� T�1U � ������#!�%�� �� $�� �(
!�������(� �����$��� � T�2U� :.����5� �����%�� �!�������$ ����5��$
��-��%� � ���������� � ���� � ���������%�� �� ��%�� !#��� xk ����!+,�$�
%���������$�j

�� 3���5� Bk(x) �����$��% ���!���'� #������� %����� �� ��%������
xk−2 < x < xk+2�

�� A !#��( xk−2 � xk+2 ����' �!�+ #������� ����5�� � � � ����'( ��!(
����#����'(�

���#���'( ������'( ���5�%� :.����5�� �����%�%���� ��� ����� �
����������� -!����� G ��%�7%�� �,7 ���� �%����� ������'� ���
-�����!�%�� ����$.���� �������%����'$ !������$� ��'��� &%� ���
#������� ����5�� � !#�� xk ��� �������� ���,��� ��� �����5� ��������
����%� ���������%�� :.����5� �� �����$����5 ��%�� !#��� xk�  �� xk+1 −
xk = hj

Bk(x) =

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

0, x < xk − 2h,
1

4h3 (x− xk + 2h)3 , xk − 2h < x < xk − h,
1− 3

4h3 (x− xk)2 (x− xk + 2h) , xk − h < x < xk,

1− 3
4h3 (x− xk)2 (xk + 2h− x) , xk < x < xk + h,

1
4h3 (xk + 2h− x)3 , xk + h < x < xk + 2h,
0, x > xk + 2h.

?���0@
i���� �'����� ���$������ �� #������� ����5�� � $����$!$�� Ǳ��,���
��� �����5 ����� 3

2h� ������.������%����� �%�������� �% ������ � �����
h√
3
� �� ���� ��� �����%�����  ��-�� %��� � ����5��� :.����5� ��

-��$� ����� ��(�/ �� ;�!����! -!����+ ������������� �����%���%�5�
�+��5 �!�������5 ����5� �� ��%������ x1 < x < xn $�/�� ����#�����
�����%���%� � ���� ����5��5 ��$������� :.����5���j

f(x) =
n+1∑
k=0

µk · Bk(x) ?����@

A����� �%� ��� ������#������ &%�5 -��$!�' ���� �$�+,!+�� ��%�! !#���
x1, x2, . . . , xn �������%� !#��$� x−2, x−1, x0 � xn+1, xn+2, xn+3� 
�� ��!���
�����$����5 ��%�� &%� �� �����%�����% %�!����%�5� ��� �������$����5
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x

f(
x)

0

0.2

0.4

0.6

0.8

1

-3 -2 -1 0 1 2 3

�bk[ar ���j ;��-�� :.����5�� Bk(x) ��� ��!��� xk = 0� h = 1�
Ǳ!��%���$ ����#��� ;�!����� ������ � %�$ /� $����$����'$ #�������$ �
������������%���'$ �%��������$ �% ������ ��

��%�� $�/�� �'���%� �+��5 ������% �������������� 8�����#������ :.
����5��� �������� &--��%���� � %�( #�����(�  �� ����(���$� �������%�
�������!+ $���$�#���+ ����5.���� -!����� �� ����$�%��$ µk� %�� ���
� &%�$ ��!��� ����$�%�' µk ����� ������������' ?#������� ����5�� ��
��%������ xk < x < xk+1 #�����% %����� �% #������5 ��&--�����%��
µk−1, µk, µk+1, µk+2@�

�
�
�  ����!"���
�� ����
����������#
�� �����"
�
��� ����������$�� %��������
���!
�& ��

�&

Ǳ�� ��������$���� &������$��%����'( ����'( � �%�!%�%���
%����%������5 $����� $�/�� ���'%�%��� ������#���%� (����%����%��!
������5 �����#�' -!����� ?���@� A ����%� T�0U ������/��� ���
��������$���� &������$��%����'( #������5 $���$�#�����%� -!����+
L� ��R�����+,!+ χ2 � �����++ �����#�!j

L = χ2 + q · IC =
n∑
k=1

(
f(xk)− yk

σk

)2

+ q ·
+∞∫

−∞
[f ′′(x)]2 dx. ?���1@
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i���� q G ����%���� ����/�%������ ����%��%�� A ����%� $�%���$�
����������� � ���������� ����#'���%��� �%� � ������  �����( -!����5
f(x) $���$!$ L ���%� ��%�� -!�����5� ! ��%���5 f ′′′′(x) = 0 ��� x �= xk�
��� �� �� #�$�%�%�� &%� ��$�� ��,�� ����������� �!�������( ����5��� �
������$ !#��� xk� 
�� ��#�'( #������5 $��/�%��� q �!�!% ���!��%���
��#�'� ��*����� ��%��$��� q → 0� $' ���!��$ �%�����%�'5 �!�������5
����5�� ���(���,�5 %���� ����# #������� yk� Ǳ�� &%�$ χ2 → 0� A
���%�������/��$ ��!��� q → ∞ ���!���%�� ���������� ���$�5 ����#
&������$��%����'� %���� $�%���$ ���$���*�( ������%��� A �����$
��!��� $' �$��$ n �%�����5 ������'� ��&%�$! ��#!$�'$ #�������$ χ2�
�� �%�%��%������5 %���� #������ �����%�� n� A ����%� T�0U ������ ��%��
!��������%� q �� %�( ���� ���� �� �!��% ���%� �!%� χ2 = n − 2 ?#����
!��%'���%��� �%� ��� �%����� ������' C�R���+%��D $���$�#����5 -!�����
�� ��,�$! ���� ! � ������%!@�
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>�%���$ >��%� "����� ��#'��+% �+��5 $�%�� ����H�%� �
������#������$  �����%���� ��!��5�'( �������� =%� $�%��' $� !%
����%��� ��#�'( �����%�5 ��!�� � ��$'( ���/�����'( #����� �� �$�+,�(�
�� ����'5 �# ���� � ��!��5���%� ������ � �%��*����� ���.%�j ��*����
��%� �����'( � ��--����������'( !�������5� �'�������� �������H���'(
��%� ������ #����� ��%�$�#���� � %��� <���*�� ���%� &%�( $�%����
������� � !�������( � �����������( T�� �� �	� ��� ��U� i���� $' ����H�$��
%����� ��!( #����j �'�������� �������H���'( ��%� ����� � �$�%��������
$������������ -�#������( ����������

��� 	��%����� ����%���� -./��

(� ���� ������  ��# �
������

�� ���������

3�!��5�'� �������' ����#����� � ������%�+ (����%���#!+%�� ����5
-!�����5 ������������� �����%���%�5 f(r) ≥ 0�  �� r " ��!��5���

��������� �������H����� � ��%������ [a, b]� ����H�$
∫ b
a f(r) dr = 1� 8�%�����

$�/�% �'%� ������'$ ��� ���������'$�

4!�����

Φ(r) =

r∫
a

f(r) dr ?2��@

22
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%�/� ��#'���%�� -!�����5 �������������� E%��' ��#����%� &%�
��� -!������ ��'��� f(r) ��#'��+% ��--�����������5 -!�����5
������������� ?��.�� ��5��� ���4�4!"!(3 ����!(3 +��1(!�� 5 ����+�@� � Φ(r) G
��%� ������5 -!�����5 ������������� ?��.�� ��5��� G 1���"�(!6� ����!(3

+��1(!��@�
4!����� Ψ(r) �% ��!��5��5 �������'� ��%��%������ ��$� �����%��

��!��5��5 ��������5 � �$��% -!����+ ������������� �����%���%�5�
Ǳ������ ���!����� -!����� ������������� �����%���%�5 �� �������� Ψ
$�/�� �-��$!������%� ����!+,�$ ����#�$j

ΦΨ(µ) =
∫

Ψ(r) < µ
a < r < b

f(r) dr; fΨ(µ) =
dΦΨ(µ)
dµ

. ?2��@

A �����%�� ���+�%����� &%� � $�%��� ���!��$ -!����+ �������������
�����%���%�5 ��!��5��5 �������' y� ����+,�5�� �%��*����$ ��!(
��#�����$'( ��!��5�'( �������� ���������7��'( �� #����! ;�!��� �
�!���'$ ������$ � ��������5 ���������5�

y =
g1
g2

;
dW
dg1

=
1√
2π
e−

g2
1
2 ;

dW
dg2

=
1√
2π
e−

g2
2
2 . ?2�2@

3��$��%��� ���%���%� �����%���%� ��� ��#�����$'( ������� �����

d2W

dg1 dg2
=

1
2π

exp
(
−g

2
1 + g2

2

2

)
, ?2�0@

� ��%� ������� -!����� ������������� �����%���%�5 �� y �����j

Φ(y) =
∫

g1/g2<y

dg1 dg2
2π

exp
(
−g

2
1 + g2

2

2

)
. ?2��@

3�����$ #�$��! ����$���'( ��� ��%� ����$j

g1 = ρ · sinψ, g2 = ρ · cosψ, dg1 dg2 → ρ dρ dψ. ?2�1@

B� ��

Φ(y) =
∫

tgψ<y

ρ dρ dψ
2π

exp
(
−ρ

2

2

)
=

1
2

+
1
π

arctg y. ?2�
@
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�%�+�� �� �� ���!���%�� -!����� ���%���%� �����%���%�

f(y) =
dW
dy

=
d
dy

Φ(y) =
1

π · (1 + y2)
. ?2��@

3����$� &%�% ��#!��%�% $�/�� �-��$!������%� %��j �%��*���� ��!(
��#�����$'(  �!����'( ������� � �!���'$ ������$ �$��% �������������
�����%���%�5 ��*��

3������ #������� -!����� Ψ(r) ��!��5��5 �������' ���������%�� ���∫ b
a Ψ(r) f(r) dr � ���%� ���#�����%�� ��� < Ψ(r) > ��� Ψ(r)�

A�/��5 (����%����%���5 ������������� �����%���%�5 ����+%��
$�$��%' ������������� Mn � ���%�����'� $�$��%' Cn� >�$��%�$ n. �
������� ������������� ��#'���%�� ��������

Mn =
∫ b

a

rnf(r) dr,

���%�����'$ $�$��%�$ ������������� ��#'���%�� ��������

Cn =
∫ b

a

(r −M1)nf(r) dr.

>�/�� ���#�%�� �%� ������������� �����%���%�5 ������%�+
(����%���#!�%�� ������$ ���( $�$��%�� ?���� ��� �!,��%�!+%@�

����%��'� $�$��%' -!����� ������������� ����! �( ��/���%�
���!���� ����%����'� �$���� B��� ����'5 $�$��% -!����� ��������������
����+,�5�� ������$ #�������$ ��$�5 ��!��5��5 �������'� ��#'���%��
%��/� �H� $�%�$�%������$ �/������$� A%���5 ���%�����'5 $�$��% C2

��#'���%�� ���������5 � ���%� ���#�����%�� ��� D(r)� ������%�'5 ������
�# ��������� ��#'���%�� ������������%���'$ �%��������$ �% ������ � ?�
�� ��5���$ ������%� G a�q�c�� �����,���� �% a^^s.qr`\.c�[`ar@ � ���%�
���#�����%�� ��� σ(r)�

=--��%���'$ �����%��$ ���!����� �+�� � $�$��%� �������������

�����%�� ����#����,�� -!����� $�$��%�� F (x) =
∫ b
a e

xrf(r) dr�
��������� �%� ��� ���!����� $�$��%� n. � ������� ���%�%���� n ��#
�����--����������%� -!����+ F (x) �� x � ����/�%� x ����'$ �!�+�

9���� ���� $�/�% ������#���%��� ����#����,�� -!�����

���%�����'( $�$��%�� G(x) =
∫ b
a exp[(r−M1)x] f(r) dr � F (x) ·exp(−xM1)�

A ����%��'( ��!���( $� !% �%�!%�%����%� �����.%� ?��� ���@ $�$��%'�
�����$��� ������������� ��*�

f(r) =
1

π ·
[
(r − a)2 + σ2

] ?2��@



21 ������� /� "�!�� "��!�7&��.�

�� �$��% �� ���� � $�$��%�� A &%�$ ��!��� �� �!,��%�!�% � ����#����,�5
-!����� $�$��%���

A�/��� #������� �$��% ����%�� (����%����%������5 -!����� ?�$��
�����$��� T�
� ��U@j

ϕ(t) =

b∫
a

eitrf(r) dr. ?2��	@

�����%����%������� -!����� �!,��%�!�% ��� �+�� � ��������������
��! �� ���� �%� ���%� �7 �'���% %�!��� �'�����%�� 3 ��! �5
�%����'� �'��+% ��!���� �� �� ��� ������������� �����%���%�5 ���#���%��
����� #����� -!����� ������������� � &��$��%���'( -!�����(� �
(����%����%������� -!����� �#���%�� � �$��% �������� ����%�5 ����

A %�( ��!���(� �� �� $�$��%' ������������� �!,��%�!+%� �( $�/��
���!��%� �# (����%����%������5 -!����� �� -��$!��

Mn =
1
in
· dnϕ(t)

dtn

∣∣∣∣
t=0

?2���@

4!����� ������������� �����%���%�5 f(r) $�/�% �'%� ����%�������� �#
(����%����%������5 -!����� �� %�� ��#'���$�5 '� ��
� �$ �7���& T�
�
��U

f(r) =
1
2π

+∞∫
−∞

ϕ(t)e−itr dt. ?2���@

A �����%�� ���$���� ������#������ (����%����%������5 -!�����
����$�%��$ ��� ������������� �����%���%�5�
Ǳ��$�� �� /�	���������� ����*���	��8 �� �������� y = x1 + x2R  ��
x1, x2 " ��!��5�'� ������ �����$���� ���������7��'� � (0, 1)� $�/�% �'%�
���!���� %���������'$ �������$� ����$�%����'$ �� �%�� 20� � �����

f(y) =
{
y, 0 < y < 1,
2− y, 1 < y < 2. ?2��2@

9 ��� &%� ���!��%� � ��$�,�+ (����%����%������5 -!������
�����%����%������� -!����� � &%�$ ��!��� �����

ϕ(t) =< eiyt >=

1∫
0

dx1

1∫
0

dx2 · eit(x1+x2) =
(
eit − 1
it

)2

. ?2��0@
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�%�+�� ���#! $�/�� ���!��%� ��� $�$��%' �������������

Mk =
1
ik
· d

kϕ(t)
dtk

∣∣∣∣
t=0

=
k∑

m=0

k!
(m+ 1)!(k −m+ 1)!

= 2 · 2k+1 − 1
(k + 1)(k + 2)

. ?2���@

4!����+ ������������� �����%���%�5 $�/�� ��5%� �� -��$!��
����,����j

f(y) =
1
2π

+∞∫
−∞

ϕ(t)e−ity dt =
1
2π

+∞∫
−∞

(
eit − 1
it

)2

e−ity dt. ?2��1@

�������� ����%� ��%� ��� $�/�� ��5%� �� %����� �'��%�� T��U�
4!����� ϕ(t) �����%������� �� ���5 ��$�������5 �������%�� � %�$ �����
� %���� t = 0� Q��� �$��%�%� �!%� ��%� ��������� �� �������! δ ���#
�% ��5�%��%�����5 ���� %� �������� ��%� ���� �� �#$���%��� Q��� %�����
�����'%� ������ � ����$�%��%� ��/��� ��� ��$��� %� �� �� #�$�%�%�� �%�
! ���( ! ��( �������%�� ���+� �%��� � ������� � %���� t = 0�

6���$�%��$ ��%� ���

R(β) =
1
2π

−iδ+∞∫
−iδ−∞

eiβt

t2
dt. ?2��
@


�� %� �� �%��' �������#���%��� %�����5 �'��%��� ���� #�$��!%� �!%�
��%� ��������� �� �����������%� ���!���!/���%�+� ;�� $�/�� #�$��!%��
�%��' ��%� ��� �� &%�5 ���!���!/���%� �'� ����� �!�+ " � ���(��5
���!�������%� ��� � ��/��5�" #�����% �% #���� ����$�%�� β� Q��� β > 0�
%� #�$��!%� $�/�� � ���(��5 ���!�������%�� ���� β < 0� %� � ��/��5
���!�������%�� A #�����$��%� �% &%� � ���+� �������% ��� �� �������%
��!%�� ���%!�� ��%� ���������� A'��% ���'�%� ������5 -!����� � %����
t = 0 ����� iβ/(2π)� Ǳ�&%�$! �� %����� �'��%�� ��%� ���

R(β) =
{

0, β < 0,
2πi · iβ2π = −β, β > 0.

?2���@

A �%� � ���!���$

f(y) = 2R(1− y)−R(2− y)−R(−y) =

⎧⎪⎪⎨
⎪⎪⎩

0, y < 0,
y, 0 < y < 1,
2− y, 1 < y < 2,
0, y > 2.

?2���@
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�� �� !����%���� �%� ��#!��%�% �� �#$������ �'� ���� $' �!%�
��%� ��������� �$��%��� �' ����( �% ��5�%��%�����5 ����

=%! ������!�! �� �� ����,�%� �� �!$$! ����#������ � ����� n
��!��5�'( ����$���'(� �����$���� ���������7��'( � ��%������ (0, 1)�

yn =
n∑

m=1

xm, ϕn(t) =
(
eit − 1
it

)n
. ?2��	@

� ��/�����+� �'����%� ��,!+ -��$!�! ��� ����#������ � $�$��%�
������������� Mk �����%�����%�� #�%�!���%����'$� ������� $�/��
�������� ����%� �'�����%� �+��5 ������%�'5 $�$��%j

M1 = n
2 ; M2 = (3n+1)n

12 ; M3 = (n+1)n2

8 ;

M4 = (15n3+30n2+5n−2)n
240 ; M5 = (3n2+7n−2)(n+1)n2

96 ;

M6 = (63n5+315n4+315n3−91n2−42n+16)n
4032 .

?2���@

B��/� $�/�� �'�����%� � ���%�����'� $�$��%'j

C1 = C3 = C5 = . . . = 0; C2 = n
12 ; C4 = (5n−2)n

240 ;

C6 = (35n2−42n+16)n
4032 .

?2���@

4!����� ������������� f(yn) ���!���%�� �� %�5 /� �(�$�� �%� � ���
�!$$' ��!( ��!��5�'( �������� %����� ���+�' �!�!% n. � �������j

f(yn) =
n∑

m=0

n!(−1)m

2π ·m!(n−m)!

−iδ+∞∫
−iδ−∞

ei(n−m−yn)t dt
intn

. ?2��2@

A���$� �%����'5 ��%� ��� �� %����� �'��%��

Rn(β) =
(n− 1)!

2π

−iδ+∞∫
−iδ−∞

eiβt dt
intn

=
{

0, β < 0,
βn−1, β > 0. ?2��0@

Q��� ����%� ����$� �%������ ���#�������

(x)+ =
{

0, x < 0,
x, x > 0, ?2���@
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%� -!����+ ������������� $�/�� #�����%� � ����!+,�$ ����j

f(yn) =
n∑

m=0

(−1)mn · (n−m− yn)n−1
+

m!(n−m)!
. ?2��1@

4��%������� &%� -!����� �����%�����% �# ���� ������$�����'5 ����5�
������� (n− 1) T�2U�

Ǳ��$�� �� /�	���������� ����*���	��8 �� ��������
�����������72 �����9 ���*3����8 ��	���7� 6���$�%��$
������/7��!+ $����� ����#������'( ��%��� &��� �� #���/����5
���%��' ��� ���(�/����� ���� ��,��%��� Q��� ��%��� &��� �� $�� �
$���*� ��������5 &��� �� ���%��'� �%� ���%� �'���% ��� %�/7�'(
���%��� %� �������' ��%��� �% �%���������� � ��#�'$� �%�$�$�
���%�%���� ��#�����$'� � $�/�� ���%�%�� �%� ��� ���(�/����� ���%��' �
������$ ����/��+%�� na δ.&���%����� ?�'����+%�� � �%�$�'( ��������@�
������%��� ����� δ.&���%����� ���!���%�� �'�����5 �# �������������
Ǳ!������� 6������������ �� &��� �� ��/�� � δ.&���%���� (���*�
����'���%�� -!�����5

f(ε) ∼ 1
(ε+ I)2

, ?2��
@

 �� I " ����%��'5 &--��%���'5 ����#������'5 ��%������� =��� ��
��/�� � δ.&���%���� �� $�/�% ���%� �%� ����� ! ���� ����*�(
#������5 G #����' ��(������� &��� ��.�$�!���� ��������+% ����%��'5
����$�%������5 ������ ε ≤ Tc� B����� $�/�� ������%�+ ��������%�
������������� �����%���%�5 �� &��� �� δ.&���%����j

f(ε) =
(Tc + I)I
(ε+ I)2Tc

, 0 ≤ ε ≤ Tc. ?2���@

A ��5�%��%������%�� ��� ���(�/����� #���/����5 ���%��' ����#
��,��%�� ����*�� ���%� &��� �� %��%�%�� �� ��#�!/����� �%�$��� ��
�������/��+,���� ��/�����$ δ.&���%������ ���$� %� �� ��� &���%�����
� ��#�'( �%�$�'( �������� �$��%�� ���5 ��%������ ����#����� �%� �
�������$ $���-����!�% ������������� �����%���%�5 ��� $��'( ��%���(
&��� ��� Ǳ�&%�$! ����� %���� %� ������������� �����%���%�5� ��%���� $'
#���� �!��$ �'�����%�� $�/�� ��#��%� �������������$ �����%���%�5 ��
�!$$����5 &��� �� δ.&���%������ ����/�7��'( ���/!,�5�� #���/����5
���%���5�
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�����%����%�����!+ -!����+ &%� � ������������� $�/�� #�����%�
%��j

ϕ(t) =
∞∑
k=0

nk
ae

−na

k! ·
[
Tc∫
0

eiεt(Tc+I)I dε
(ε+I)2Tc

]k
=

= exp

[
−na + na

Tc∫
0

eiεt(Tc+I)I dε
(ε+I)2Tc

]
= exp

[
na

Tc∫
0

(eiεt−1)(Tc+I)I dε

(ε+I)2Tc

]
.

?2���@

�%�+�� �� �� ��5%� $�$��%' �������������j

M1 = Ē = na · I ·
[(

1 + I
Tc

)
ln
(
1 + Tc

I

)− 1
]
≈ na · I ·

[
ln Tc

I − 1
]
,

σ2
E = C2 = na ·

[
(Tc + 2I)I − 2I2 ·

(
1 + I

Tc

)
· ln (1 + Tc

I

)] ≈
≈ na · I ·

[
Tc − 2I · ln Tc

I

]
.

?2�2	@

i���� ������/7��'� �'��/���� �������' ��� ��!��� Tc 
 I�
Ǳ� -��$!�� ����,���� $�/�� ��5%� -!����+ �������������

f(E) =
1
2π

+∞∫
−∞

dt exp

⎡
⎣−itE + na

Tc∫
0

(
eiεt − 1

)
(Tc + I)I dε

(ε+ I)2Tc

⎤
⎦ . ?2�2�@

A� ���( ����%�( �� ������������+ �����%���%�5 �� ����#������'$
��%���$ #���/���'( ���%�� ��#����+% ������'� ��%� ���' � ��$�������5
�������%�� ������� � ���������� �+,�5 ����%' ��
������! T��U�
���$�%�� �� %�� �%� ���!������ -!����� ������������� �' ����%
�������� ���/��5� ��7 /� %�!��� ���� �����%���%�� ��� $�/�� ���!��%�
%����� �'��/���� ��� &%�5 -!����� ������������� ��! �$ �������$� ��
����# (����%����%�����!+ -!����+�

A ����!+,�( ��#����( $' ���!��$ ����%��'� ���%� ��%����+,����
������������� �����%���%�5 � ������'  �������� ��������!��5�'( ������
���������H���'( �� ���%��%�%�!+,�$! #����!�

��� 0��� ��� � ������ �( ����
� ���(

 ��# �
������

�
�
	 ���
����
�� ����������
��

�+��5 $�%�� >��%� "����� ������#!�% ����%��'5  �����%��
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��!��5�'( ������ A �������� $�/�� ����$�%����%�  �����%��' ��%����
��!��5�'( ����� � ��������!��5�'( ������ 8�%���� ��!��5�'� �����
����!�% ���!��%� � ��$�,�+ !�%��5�%�� ����%�+,�( �� ������ -�#������(
��!��5�'( ���������� A &%�$ ��!��� ����(���$� �������%�����
����!�$�%��%� ������!�! ���%'�����  �%��� � ��!��5�� � ����� �
=A>� A ����%��'( ��!���(� �� �� ��% ������( %��������5 � �����%�!
��!��5�'( ������ ������#!+% $���*�� ��#���' ��!%����� � %�5$���
=A>� ������ ��� ����7#�'( ����7%�� &%�% ������ ��  ���%��� A
��!��� (���*� ������%�������� �  �����%��� ��%���� ��!��5�'(
����� ?�����$��� T�	U@ ��7 /� ��%�7%�� ������$� �# �%������� &%� �
!�%��5�%��� ���%���� #� ���%����%��$ (����%����%�� � %��� 8#.#� &%�(
%�!����%�5 � ���*��$�  �����%���$� ��%���� ��!��5�'( ����� � ����%���
������#������  �����%���� ��!��5�'( ����� ����� ������ �'��� � ����#!
��������!��5�'( ������

��� �������� &%� ��� ��$$�'5  �����%�� ��������!��5�'( ����� �
�����$���'$ �������������$ �����%���%�5 � ��%������ [0, 1]� %� �� f(r) = 1�
��� �!��% ����� ����*�� %���5  �����%�� $�/�% �'%� ������#���� ���
 �������� ����#�����'( ������������5 �����%���%�5� A ���%��,�� ���$�
�$��%�� $�� � ��� ��$$. �����%���� ��!��5�'( ������� � �����$���'$
�������������$ �����%���%�5 � ��#�'$� �� ���%$�$� � ���%�%����
(���*�$� �%�%��%������$� ���5�%��$�� �� ���� �# ��( ����#�
���%�%� �������'$� i��!%�����%� �� ���%$� ��  ����%��!�% (���*�(
�%�%��%������( ���5�%�� �� &%�$ (���*� �������� � T��U� A�� �#���%�'�
 �����%��' ��!��5�'( ������ ����#���� ����%��'� ���-$�%�������
�������� ��� ����$ ��� ���������$� ����'�!,�$� ��!��5�'$� �����$��
���!��+% ���� ��� ��������� ���'( ��!��5�'( ������ A &%�$ �$'���
� �������� ���!����� ���� ��������!��5�'( ����� �� =A> ��% ���� �
��!��5�� �� <���� %� �� �#.#� �������5 ��#�����5 ��%�� =A> �+��5
��� ��������!��5�'( ����� �$��% ������'5 ������ T � ��/!,�5��
�����%�%��  �����%���� ��������!��5�'( ����� ?&%� %�� �%� ��� ���%����$
������#������  �����%��� ��� ��!��5�'( ����� � %�����%� ���%����%��@
�� ����%��� ����������%�� ����� ����*�$ ���%����%��$� ��%���� � �����5
$��� ���$����%�� ��� �%����� ����*�( ��� ��$$� ������#!+,�( $�%��
>��%� "������

Ǳ����� T " �������� (����%����%��� ����j ����� T ��!��5�'(
����� ��� �������% � %�����%� ���%���%���� E�$ ����*� ������
����� %�$ �!�*�  �����%�� ��� �����( ����'( !������(� ��'��'�
#������� ������� ���� " 109 � ����*�� ��� $���*�( #�������(
 �����%��� �����%��� ����#� ������#���%� � ����H�#�'( ����H�%�(� <���*��
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#������� ������� ����� ������� ��  ����%��!�% (���*�( �%�%��%������(
���5�%�� >���$����'5 C�/��%��$�����5D ����� �%�%��%������( %��%��
���  �����%���� �����$���� � ������������� ���!/���%�� � %�5 /� ��� �
T��U� 
�%������ �������� �� ���%$�� ���������(  �����%���� $�/�� ��5%�
� ����%�( T��� �2� �0� ��U� Ǳ�����H�$ �� ���%$ �������� ����%� �  �����%���
" $!��%������%���� ��

3!,��%����'$ &��$��%�$ %��� �  �����%��� �����%�� ����#����,��
����%��%� ���� k� �% �'���� ��%���5 #�����% �%�%��%������� ���5�%�� �����
������� � ����%��� � �%��%��� � ���� � �����  ������!�%�� ��� ���'(
����/�%����'( ��������!��5�'( ������ �� ������(���,�( 2n� �����
��!��5��� ����� ξi+1 ���!���%�� �# ����'�!,� � ξi �� -��$!�� ξi+1 = ξi×k
mod 2n� �����  ������ ����� ��!��5��� ����� ����� $���*�$ n ������'$
��#����$ ����#������� ����'�!,� � ��!��5�� � ����� � ����#����,�5
����%��%' �����

A &%�$ �� ���%$� ��(����� ��!��5��� ����� ���/�� �'%� ���H�%�'$
?� ��� ��%����'� ����� ���/�' ���!��%��� ���H�%�'$�@� ����#����,��
����%��%� ���� ���/�� !�����%����%� ������%�! k = 3 mod8 ���
k = 5 mod8� ��� &%�$ ���%� ��%�� $����$����� ��#$�/�'5 ���
&%� � �� ���%$� ������ T = 2n−2� ����*� #�����$�������*�� ����
����#����,�� ����%��%' ��� n = 32j

k1 = 452807053 = 1AFD498D16

�
k2 = 69069 = 10DCD16;

��� n = 63j
k3 = 70369817985301 = 40004001011516.

A�,��%����'� ��!��5�'� ������ �����$���� ���������H���'� � ��%������
(0, 1)� ���!��+%�� �������$ ���'( ����� ξi �� 2n�

8�%�����'$ ���5�%��$ ��!��5�'( ����� $!��%������%���� � ����
�����%�� %�� �%� ���%��' � r.$����$ ����%����%��� ��$�����%'
��%��'( ���%�����' �# r ���������%����'( ����� ���� ?��� ���%���%�
�!��$ ��#'��%� �( ����� ��!��5�'$� ���%���$�@� ������+% ��
����������'� &������%��%�'�  �����������%�� ����%����� $�/�!
��%��'$� ������%����� ������ ?���������%�� ����#����,�5 ����%��%�5
����@� =%� ���5�%�� ������� �'�� �����!/��� &������$��%����� ��
���$���  �����%��� -��$' K:V ?����� &%� � ���  �����%��' %,�%�����
����������� �� ���������� � r.$���'( ����%����%��(@ � �'�� ��������%�
��� ����*�5 �����%�%�� ��� &%� � %���  �����%����� i�%�$ ��� �'��
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g`u_r 2��j � ��������� ����(! �� $���$������ ����� Nq ����������'(
&������%��%�'(  �����������%�5 � n.$����$ ����%����%��� �� ��%��'�
�'����+% ��� ��!��5�'� ���%���� ���!����'� � $!��%������%���'$
 �����%���$� 6�#$�� $��%���' ��!��5�� � ����� " m ��%�

�����
n

2 0 � 1 
 � � �	m
2� ���2 �11 ��	 ��	 �	 1	 0� 0�
12 2���			 ���			 �1�
	 022� �
2� ��0 �2� 2�


����������� %����%������ T�1U�  �� �'�� ����#���� �%� �����%����� &%�
������� ��������%�� ��� �+��5 ����#����,�5 ����%��%� ����� $����%��
��*� ����%����� $�/�!  �����������%�$�� Q��� �� ��%�������%���
�������%��$ �������%�5� �� ��%��'� ������+% ��!��5�'� ���%���� %�
&%� ������� %���������� ��������! ��������%' ���( ���%���� ������%�'
� ��������������' �������� 2−m� Ǳ�&%�$! ��� �+�� �  �����%���

%��� � %��� �$�+%�� � n.$����$ ����%����%��� ��� $���$!$� n(n+1)
2

�������� ����������'( ��/��5 �# ��������%�'( �������%�5� � *� �$
$�/�! �������%�$� 21−m� =%� ������$ ���������%�� ������%���%�+
��!��5�'( ������ � �%����%�� ����,� �� ���$  �����%���$� ������� ���
$!��%������%���'(  �����%���� � ����%� T�1U �'�� ����#��� �������
!%���/������ �%� ��� ��!��5�'( ����� &%� � %���� ��#�����$� �%
����#����,�5 ����%��%' ����� ��5�7%�� �� ���5��5 $��� ���� ����� �#
N ����������'( &������%��%�'(  �����������%�5� �� ��%��'� ����+% ���
��!��5�'� ���%���� ����7$ ����� �������%�5 �� ������(���%

N ≤ Nq = (n! · 2m)1/n . ?2�2�@

A %���� 2�� ��������' #������� Nq ��� ����%��'( n � m� i����� &%� �
%����%������ � ������� ��#������ ������%� ����� ����$�%��� ������%�'(
������� �������%�5 ��� !��#���'( �'*� ����#����,�( ����%��% k1� k2 � k3

?�$� ����%! T�
U@� ����,7��� �� ���%$ ������ #���+����� � ����!+,�$�
A'������� ����� �# n ��!��5�'( ���%����� ����#����$'(

���%��%�%�!+,�$  �����%���$� %���(� ��%��'� �� ��/�% �� ����5
�������%�� i�%�$ ������������ ��� ��#$�/�'� �����' ����������'(
�������%�5� ���(���,�( ����# &%� %���� � ��/�'5 �# %���( �������
���������� �� ��%�����%� � ��$�,�+ ���%�%���� ����*� � �����
�������%����'( C���%�����'(D ���%���� ?����� �������%�� � %���5
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����� ����*���%�� ���#'���%�� ��/�'$�@� 8# ���( ������� �������%�5�
!���*�� ���*��*�( �������!� �'������� ����� � �������*�$ *� �$
Hmax $�/�! �������%�$�� A �������� %��� � �������� ���#������ �%�
n.$����� ����%����%�� �#��#��� �� ���( �����������( %���$� ������$�
�������%�5 � ��#�'$� ����%�����$� H � A %���� 2���  �� ��������'
��#!��%�%' %��� � ������� $��/��%������%� ������� (����%���#!�%�� �
����%���5 �%����� �������%��$ ��#�'( ������� �������%�5 � *� �$ H �
��%������ (0, 5 ·Hmax;Hmax)�

B����%������� ������������ &%� � ������� �������%������ �,7
�����*�$! ��������+ � $!��%������%���'$  �����%���$� ������
�� ���$���$ �'�� ���#����� �%� ������� C�!�%�%D ��� #���������
 ��������%����%�� %����$� � ��������%�$�� ����#�����'$�
���������%����'$� �����$� ��������!��5�� � �����" ���#��/��� #���
� -��$� &%�( C�!�%�%D � ���� ����%����%�� $�/�!  �����������%�$�
����$ �� (!/� ��! �5 -��$' C�!�%�%D� B����� $!��%������%���'�
 �����%��' ����� ��*�� � !��%��������� ����%� ����#����,�� ����%��%'
���� ��%������� ������!+% �� ����$�% %��� � ���� ���������� ?�$��
�����$��� ����%! T��U@� 
���'� � (����%����$ ��#$��� C�!�%�%D �
n.$����$ ����%����%�� ��!��5�'( ���%���� $� !% �����%����%� �
����%������5 ��%����� �����$��� ���  �������� $�� �$����5 ��!��5��5
�������' $�%���$ ��5$��� ?�$� ��#�� 2�2��@ � %�( ��!���(� �� ��
-!����� ������������� �����%���%�5 �$��% !#��� �����  �������� $�/�%
�'%� �*������5� ���� *����� ���� $�� � $���*� ��#$��� C�!�%�%D�
� ��/�����+� ��%��' �� ��%������ �����������5 ��! �( �� ���%$��
 �������� �����$���� � ������������� �� &%! %�$!�

A�� ������!+,�� �� ���%$'  �������� ��!��5�'( ��������
���������7��'( �� ��! �$ #�����$� �������� �+% ������� ���� �.
���� ?(���*� �@  �����%��� ��!��5�'( ������ �����$���� ���������7��'(
� ��%������ (0, 1)�

�
�
� ����������
�� '�(���

6������������ ;�!��� ?���$������ �������������@ �$��% ����*��
#������� � %����� �����%���%�5� F��%������� ���������� %����$�
!%���/���%� �%� ��H��%�� ����*� � ����� ��������'( ������������5
�����%���%� � ������� ��H�% ������������� ;�!���� �� ����%��� &%�
!%���/����� $�/�� ���$���%� � ����!+,�5 -��$!�������j �������������
�����%���%�5 �� ������$! #������+ ����*� � ����� ��#�����$'(
�#$�����5 ����5 � %�5 /� �������' ���#�� � ������������+ ;�!���
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g`u_r 2��j �����%����%��� ������� ����������'( �������%�5� �� ��%��'�
������+% ��� ��!��5�'� ���%��� $!��%������%���� �  �����%��� � n.
$����$ ����%����%���

n

Ǳ��.
�#��.
��,��
����%��%�

>����$����'5
*� $�/�!
�������%�$�
Hmax

�������%��
�������%�5
� ������ �
*� �$ Hmax

�������%�� �������
�������%�5 �
*� �$ � ��%������
(0, 5 ·Hmax;Hmax)

k1 1, 42 · 10−3 �	�� 0
2 k2 2, 78 · 10−3 2�� �

k3 9, 22 · 10−7 1, 47 · 106 �	
k1 1, 13 · 10−2 ��
 �

0 k2 1, 02 · 10−2 ��1 2
k3 5, 45 · 10−5 3, 4 · 104 �
k1 3, 66 · 10−2 �
 �

� k2 2, 30 · 10−2 �� ��
k3 2, 92 · 10−4 5, 9 · 103 �0
k1 3, 86 · 10−2 �2 00

1 k2 6, 43 · 10−2 2� 2
k3 1, 76 · 10−3 1, 2 · 103 �
k1 5, 70 · 10−2 0� �2	


 k2 7, 67 · 10−2 2	 �0
k3 2, 30 · 10−3 1, 04 · 103 2��
k1 1, 31 · 10−1 �� 0

� k2 7, 67 · 10−2 2	 2
�
k3 5, 98 · 10−3 2�� �0�
k1 	��2� �� 2�

� k2 	��		 �1 
�2
k3 8, 98 · 10−3 2	� �01
k1 	��2� �
 2�2

�	 k2 	��2� �� 0�0
k3 1, 39 · 10−2 �11 ���	
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�� ������������%���'$ �%��������$ �% ������ � σ/
√
n�  �� σ "

������������%����� �%�������� ���� � �#$������� n " �������%��
�#$�����5�

4!����� ������������� ;�!��� #����'���%�� ���

f(r) =
1√
2πσ

× exp [− (r − a)2
2σ2

],

 �� ����$�%�' ������������� �$�+% ����!+,�5 �$'��j a = M1

?$�%�$�%������� �/������@ � σ =
√
D(r) ?������������%�����

�%��������@�
Ǳ�����H�$ ���� �# ��#$�/�'( �� ���%$��  �������� �������������

�����%���%�5 ;�!��� � ����$�%��$� a = 0 � σ = 1�

•  ������!�%�� ��!��5��� ����� ξ1� �����$���� ���������H����� � [0, 1]�
� �'�����+%�� ��� %�� ���$�%�������� -!����� s = sin (2πξ1) �
c = cos (2πξ1)�

•  ������!�%�� �,H� ���� ��!��5��� ����� ξ2 � �'������%�� -!�����
R =

√−2 ln ξ2�

• � �%� � ���!���$ ���#! ��� ��#�����$'( ��!��5�'( ������ ��������.
�H���'( �� #����! ;�!���j g1 = R · s � g2 = R · c�

�
�
� ����������
�� Ǳ(����
�

�����%����� ��%!����� �� �� ����������� ������������� Ǳ!������ "
�#$������ ����� ��#�����$'( ���'%�5� �����*��*�( #� -������������
���$�� �����$��� �#$������ �������%�� �����%'����5 ��H�%����
���$������( ���%�� #� ���! $��!%!� 4!����� ������������� �����%���%�5

Wi =
pi

i!
e−p ?2�22@

(����%���#!�%�� ����$ ����$�%��$ p = M1 > 0 G ������� #�������
����� ���'%�5� A ������� ����*�( p ������������� Ǳ!������ ����(���%
� ������������� ;�!��� � a = p � σ =

√
p�

���� �# ��#$�/�'( �� ���%$��  �������� ������������� Ǳ!������j

�� Ǳ���/�%� i = −1, s = 1�

�� ;������!�%�� #������� ����$����5 ξ� �����$���� ���������H����5 �
[0, 1]�
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2� A ��H�%��� i ��������%�� ��������

0� s = s · ξ�
�� Q��� s > exp (−p)� %� ����(�� �� �!��% ��

1� Ǳ��!������ #������� ��H�%���� i ������������ �� #����! Ǳ!������ ��
������$ #�������$ p�

�
�
) *�
�����!
�� ����������
��

Q,H� ���� ���$�� ������������ � ?������%�� �@ �������������
�����%���%�5 ���$� �!���������� � " ����$������� �������������� =%�
������������� �����#!�%��� �� �� �# N ��#�����$'( ���'%�5 n ��#
�� ��%���!�%�� ��#!��%�%� !�����%����+,�5 ����$.%� !������$ �%�����
Q��� �����%���%� �����#���� C�!/�� �D ��#!��%�%� � ��/��$ ���'%��

����� q� %� ������������� �����%���%�5 �� n ����� Wn = N !qn(1−q)N−n

n!(N−n)! �

Q��� -��������%� ����#�������Nq = p � �������$���� !�%��$�%� N →∞�
%� ����$������� ������������� ����(���% � ������������� Ǳ!�������

Q���N �� ����� ������� %� ���  �������� ����$������ � �������������
$�/�� ������#���%� ����!+,!+ ������!�!�

• A ��H�%��� C�!/�'(D ���'%�5 n #�����%�� �!���

• ������ ����� �� N ���%�����5�

, ;������!�%�� �������� ξ� �����$���� ���������H����� � [0, 1]�

, Q��� ξ < q� %� � ��H�%��� n ��������%�� ��������

• ����� ������

• Ǳ���$����� n ������������ �� ����$�$! #����!�

�
�
+ ,����
�
$���!
�� ����������
��

=��������������� ������������� ������#!�%�� ��� ��#' �'*�
����� �� ���%�� � ��,��%�� �� %���� �#��$���5�%��� � ���$��� /�#��
���%������'( ���%��� 4!����� ������������� �����%���%�5 f(r) =
αe−αr� 3�!��5��� ����$����� ξ � �����$���'$ �������������$ � [0, 1]
�������#!�%�� � ����$���!+ r = − ln ξ/α � &��������������5 -!�����5
��������������
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6������������ ��*� �$��% -!����+ ������������� �����%���%�5

f(r) =
σ

π ·
[
σ2 + (r − a)2

] . ?2�20@

=%� ������������� #�$���%����� %�$� �%� �� �$��% �� ���� � $�$��%��
3�!��5��� ����$����� &%� � ������������� $�/�% �'%� ���!���� ��
-��$!��

r = a+ σ · tg
(
π · ξ − π

2

)
, ?2�2�@

 �� ξ " ��!��5��� ����$������ �����$���� ���������7���� � ��%������
(0, 1)�

�
�
0 ��
��
�� &������������� ����������
��
����1�
����

Ǳ���� ���������  �����%��� ���� �.���� ������������� ��� � �
�������� $�/�� ����#���%��� �� %����� ��#!����'$ ���%����$ �
��$�,�+  ��%� ��$$'� �� � ������%� �������%����'� (����%����%���
������������5 " $�$��%' " � ����H�%�'$�� 
�� ������ �'������'(
#������5 $�$��%�� $�/�� ����#���%��� ����!+,�$� -��$!��$�j

M1(r) =< r >=
1
n

n∑
i=1

ri ± σ√
n
, ?2�21@

√
C2(r) = σ =

√√√√ 1
n− 1

n∑
i=1

r2i −
n

n− 1
·
[

1
n
·
n∑
i=1

ri

]2

± σ√
2n
, ?2�2
@

 �� n G ��R7$ �'������
A %���� 2�2 ��������' ������'� (����%����%��� �����������'( �

����'�!,�( �����#����( ������������5 �����%���%��

��� Ǳ���%���� # �����������  ��# �
������

���%����� ����%���

>�%��'  �������� ����#�����'( ������������5 � %�5 ��� ���5 $���
����$�%����+%�� �� $�� �( !�������( T�� �� �	U� i���� �#��/���� ���/�
��� � � ��#��!� �$�+,�$!�� � ����%� T��U�
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�� ��� �� ��%� ��#$�/���%� �#����%�%� ��� ���� �.���� �������������
�����%���%�5 ���5 ����'5 �� ���%$  �������� ��!��5��5 �������' �
���'*����5 &--��%�����%�+ ����%' ?$��'$ ���$���$  ��������@�
8�� �� ���%�%���� ������#���%� ����5.%� �# �%�����%�'( $�%����
 ��������� � %�$! /� ��� �#����%���� ���� � ����� � �� ���%$� %�/�
����#�� #��%� �%�����%�'� ���H�$'� A &%�$ ��#���� $' ����$�%��$
��������� �%�����%�'( �� ���%$��� ��%��'� ��+% �%�%��%������
��������'5 ��#!��%�%� �!�!�� ���$��H���'$� � ����%���$! ������������+
�����%���%�5 ?���� ����,� �� ���%$ $�/�� �����#���%�@� ������
 �����%��'� ��������'� �� ��#�'$ �� ���%$�$� �!�!% ������#���%�
��#��� �������%�� ���$��� PmI ��  �������+ �������� � ��!��5�� �
������ Ǳ�&%�$! ��� ��/�� � ������%�� � ��!��� ����(���$� �'���%�
�������� ���(���,�5 ��� ����� � ������������� �� ���%$�

�
�
	 2���� ��1��� ��3����

A ��!��� ������'��� � ������������� �����%���%�5� ����'���$� �
-!�����5 ������������� f(r) �� ��%������ [a, b]� �� ���%$ ���+���%
����!+,�� *� ��

• ��(���%�� ��%� ������� -!����� �������������

Φ(r) =

r∫
a

f(µ) dµ.

��������� �%� Φ(a) = 0� � �# !������ ���$������

Φ(b) = 1.

• ;������!�%�� ��!��5��� �������� ξ� �����$���� ���������H����� �
[0, 1]�

• 6�*��%�� !�������� Φ(r) = ξ� i������� ����� &%� � !�������� r
�$��% ������������� �����%���%�5 f(r)�

A ��!��� ������%�� � ������������� Wi�  �� i $����%�� �% 1 �� m�
�� ���%$ ���%��% �# ����!+,�( *� ���

• A'�����+%�� ���%���'� �!$$' Si =
∑j=i

j=1Wj ?��%� �������
�������������@� 8# !������ ���$������ Sm = 1�
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• ;������!�%�� ��!��5��� �������� ξ� �����$���� ���������H����� �
[0, 1]�

• ���������%�� %���5 ��$�� i� �%� Si−1 < ξ ≤ Si ?#���� �����$��%���
�%� S0 = 0@� =%�% ��$�� � �����%�� ����$�5 �����#����5
��������������

Q��� ������������� �����%���%�5 �����%�� ���%���� ������'��'$� �
���%���� ������%�'$� %� &%� ��� �� ���%$� ����(���$� ��$��������%��

�
�
� 2���� 4����
� 5���6��$��7

A ����%��'( ��!���( �����#���� $�%��� ���$�5 �'����� �����%��
������%�5 #�����5� %���!+,�5 �'�������� ���/�� � ��%� ���� " -!�����
Φ(r)� � ������!+,� � ��*���� !�������� Φ(r) = ξ� �� ���������� �
� �'����5 �%�����+ ������$� ��� %����������%�� �� B� �� $�/��
���������%� ���$���%� $�%�� ��5$����

>�%�� ��5$��� �����%�� �������� ����%'$ � �����#����� ������ ���
����%��'( -!����5 ������������� �� ���#'���%�� ����$� ��&--��%���'$�
� � ���� ��!���� � � ����,� ����#$�/�� ���$���%��

4!����� ������������� f(r) � �����$ $�%��� �� ���#��� �'%�
���$��������5� 3 ��! �5 �%����'� ��%� �!,��%����'� %���������j
��%����� �#$������ r ���/�� �'%� � ������� −∞ < a ≤ r ≤ b < +∞� � ��
��H�$ ��%������ r ∈ [a, b] ���/�� �'%� � �������� -!����� �������������
�����%���%�5j 0 ≤ f(r) ≤M <∞�

�� ;������!�%�� ��!��5��� �������� r� �����$���� ���������H����� �
[a, b]� 8# �������' ξ1� �����$���� ���������H����5 � [0, 1]� $�/��
�$�,����$ � ���%�/����$ ���!��%� r = a+ (b− a)ξ1�

�� ;������!�%�� ��!��5��� �������� µ� �����$���� ���������H����� �
��%������ [0,M ]j µ = ξ2 ·M �  �� ξ2 �����$���� ������������ � [0, 1]�

2� Q��� f(r) < µ� %� ��#���% �� �!��% ��

0� i������� r ���%��%�%�!�% ������������+ f(r)�

�
�
� 2���� �(8�����

�� ��3����

A ��!��� ����� �������$����5 -!����� ������������� $�%�� ��5$���
���#'���%�� ��&--��%���'$� B� �� ����� �������%���'$ $�/�% ���#�%���
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$�%�� �!,��%�����5 �'������ ���� ��%��� � #���+���%�� � %�$� �%��' �
$���-����������$ $�%��� ��5$��� ��!��5�'� %���� �� ��� x �'����%�
�� �����$����� � � ����*�5 �����%���%�+ � �����%� ���� -!�����
��������������


�� ���$������ &%� � $�%��� ����(���$� -!����+ �������������
�����%���%� � ����

f(r) = g(r) · h(r)�  �� g(r) ≥ 0, 0 ≤ h(r) ≤M.

>�%�� ���#'���%�� ���%�%���� &--��%���'$� ���� ������������� g(r)
�� ��  ������!�%�� $�%���$ ���$�5 �'������ � �'��/����

M ·
∫ b

a

g(r) dr/
∫ b

a

f(r) dr

�$��% $���� #�������� ���#��� � ��������
9� ���%$ ���%��% �# ����!+,�( *� ��j

�� ;������!�%�� ��!��5��� �������� r� �$�+,�� �������������
�����%���%�5 g(r) � ��%������ [a, b]�

�� ;������!�%�� ��!��5��� �������� µ� �����$���� ���������H����� �
��%������ [0,M ]�

2� Q��� µ > h(r)� %� ��#���% �� �!��% � � ��H� ���%����%�� ��������

0� Ǳ�������� #������� r �����%�� ����$'$ #�������$ ��!��5��5
�������'� ���������H����5 �� #����! f(r)�

�
�
) 2���� �����"�$��

=%�% $�%�� &--��%���� %� ��� �� �� -!����+ ������������� !��.
H�%�� �����%���%� � ���� �!$$' -!����5 ������������� �����%���%�5
%���(� �%� ��/��� �# ��( �� ��  ������!�%�� $�%���$ ���$�5 �'�����j
f(r) =

∑i=k
i=1 αigi(r)� Ǳ�� &%�$ ���/�� �'%� αi > 0� B� �� �� ���%$

�'����� �������� � ��!��5�� � ����� r �����%�����%�� � ����!+,�$ ����j

• A ���%��%�%��� � ������%�'$ �������������$ �����%���%�5 αi
�'�����%�� ��!��5�'5 ��$�� i -!����� ������������� gi(r)� =%�

��� �� ��#$�/��� %�� ��� � ���! !������ ���$������
∫ b
a
f(r) dr = 1�∫ b

a
gi(r) dr = 1� ������������� αi %�/� ���$������� �� ������!j∑i=k
i=1 αi = 1�
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• 
�� �'������5 -!����� gi(r) $�%���$ ���$�5 �'�����  ������!�%��
��!��5��� �������� r�

• Ǳ��!������ %���$ �������$ ����$����� r �$��% �������������
�����%���%�5 f(r)�

�
�
+ 2���� �����"�$�� � ���6��$��

=%�% $�%�� �����%�� ��$�������5 $�%��� ��$��#���� � $�%���
��5$���� Ǳ!�%� -!����+ ������������� $�/�� �����%���%� � ���� �!$$'
-!����5 �������������j f(r) =

∑i=k
i=1 αi · hi(r)�  �� 0 ≤ hi(r) ≤ Mi� αi > 0�

B� �� $�%�� ��$��#���5 � ���/����5 $�/�% �'%� ���$��7� �� ����!+,�5
�(�$��

• ;������!�%�� ��!��5�'5 ��$�� -!����� i � ���%��%�%��� �

������%�'$ �������������$ βi = αi ·Mi/

(∑j=k
j=1 αj ·Mj

)
�

• ;������!�%�� ��!��5��� ����$����� r� �����$���� ���������H����� �
��%������ [a, b]�

• ;������!�%�� ��!��5��� ����$����� µ� �����$���� ���������H����� �
��%������ [0,Mi]�

• Q��� µ > hi(r)� %� ��H� ���%����%�� ��������

• i������� ����$����5 r� ���*��*�� �%��� � ����'�!,�$ �!��%��
�����������' � ���%��%�%��� � -!�����5 ������������� f(r)�

=%�% $�%��� �����#�����'5 � �%�� �$ ���%��%�%��� � &%�$ ����%'$
�� ���%$�$� �� �$��% ������5 ����%������5 ������%�� %�� ��� ��
&--��%�����%� !�%!���% ����%�$! $�%��! ��5$���� =%� $�/�� #�$�%�%��
�'������ ������� �������%�� ��# ���(�/����� !��#���� � ����� ��
���!����� �������� � ��!��5�� � ����� r� ���������H���� � �� f(r)j <n>=(∑j=k

j=1 αjMj

)
/

(∫ b
a
f(r) dr

)
� �%�+�� �%�����%�� ��������5 $���-������

�� ���%$�� ��%���� $�/�% ����%� (���*�5 &--��%� 
�� &%� � ��#��/����
-!����� ������������� ���/�� �'%� �'������� � ����!+,�$ ����j ��.
���/��$! ��%�� �� ���%$� � -!�����5 ������������� h1(r) ������#������
��� $������������ $�%���$ ��5$���� ��&%�$! 0 ≤ h1(r) ≤ M1� ������ ���
��%����'� -!����� ���/�' ������#���%��� ���  �������� $�%���$ ���$�5
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�'������ B�� ��� ��&--�����%' αk �� ����+%�� �����%���%�$� ����(���
�� ���%��%�%�!+,!+ ��%�� �� ���%$� � �� !���,�+% ��������� ����/�$
�( ����'$� �������� %��� �!�%� �����$��������� -!����� �������������
f(r) �����%�����%�� �� ��%������ (a, b) � ����

f(r) =
k∑
i=1

hi(r),

 �� ��� hi(r) ≥ 0 �� ��%������ (a, b)� ���$� %� �� ��%� ���' �% ���(
hi(r), i = 2, 3, . . . , k �'��/�+%�� � &��$��%���'( -!�����(

Hi(x) =

x∫
a

hi(r) dr

� ��#����+% ��*�%� ���%��%�%�!+,�� !�������� � ��$��( $�%��� ���$�5
�'������ A���H�$ �,H� ����%��%'

γi = Hi(b), i = 2, 3, . . . k.

B����� �� ���%$ �������%��% ����!+,�5 ���j

�� ;������!�%�� ��!��5�'5 ��$�� i -!����� hi(r) � ���%��%�%��� �
������%�'$ �������������$ βi�  ��

β1 = M1(b− a)/
(
M1(b− a) +

j=k∑
j=2

γj

)
,

βi = γi/

(
M1(b − a) +

j=k∑
j=2

γj

)
��� i > 1.

�� Q��� i > 1� %� ����(�� �� �!��% 1 ���  �������� �� $�%��! ���$�5
�'������

2� ;������!�%�� ��!��5��� ����$����� r� �����$���� ���������H����� �
��%������ [a, b]�

0� ;������!�%�� ����$����� µ� �����$���� ���������H����� � ��%������
[0,M1]�
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�� Q��� µ > h1(r)� %� ����(�� �� �!��% �� � ��H� ���%����%�� �������� A
���%����$ ��!��� #������� r ���%��%�� �����%'$ � �����%�� ����(��
�� �!��% 
�

1� >�%���$ ���$�5 �'�����  ������!�%�� ��!��5��� ����$����� r �
���%��%�%��� � �������������$ hi(r)� %��� ��*��%�� !��������

Hi(r) = ξ · γi,
 �� ξ G ��!��5��� ����� � �����$���'$ �������������$ � ��%������
(0, 1)�


� Ǳ��!������ #������� ����$����5 r �'��H�%�� � �����%�� �������� �
��!��5�� � ������ �$�+,� � ������������� �����%���%�5 f(r)�


�� $���-���������� � �� ���%$� ����� $�/�� �����%�%� �������
����� ���%�����5 ������ ���� �� �!��% ���!���� C����#���D ��!��5���
�����j

<n>=
[
1− β1 ·

(
1− γ1

M1(b− a)
)]−1

.

A����� �%� �� ���%$ %�$ &--��%������ ��$ ���/� M1 � ����$! ������!
γ1/(b − a) ?$���$������ ��#$�/��� #������� min M1 = γ1/(b − a) ���
-!����� ������������� h1(r) ���%� ��%�� ��� h1(r) ≡ const@�

Ǳ��$��� Ǳ!�%� �����$��������� -!����� ������������� �� ��%������
0 < x < 1 �����

f(x) =
1√
x

+
ex√

1− x2
.

A'����$ h2(x) = 1√
x
� h3 = e·x√

1−x2 G -!������ !����'� ���  ��������
��!��5��5 ����$����5 xj

H2(x) =

x∫
0

dξ√
ξ

= 2
√
x, H3(x) =

1∫
x

e · ξ dξ√
1− ξ2 = e ·

√
1− x2.

i���� ��� !����%�� ��*���� ���!��+,� ��� !�������� ��� ��%� ������5
-!����� ������������� H3(x) �'���� ��%� ��� �� �% ��/�� � ������� ��
%��!,�5 ��������%'� � �% x �� ���(�� � ������� G &%� ������ ���!�%�$��
�%�+�� ���!���$ γ2 = 2� γ3 = e�

h1(x) =
e · (ex−1 − x)√

1− x2
.
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9����#��!� ��������� -!����� h1(x)� $�/�� !����%���� �%�

M1 = max
x∈(0,1)

h1(x) = h1(0) = 1, lim
x→1

h1(x) = 0.

3��%��%�%�!+,�� �����%���%� ��� ����(���� �� %�� ��%�� �� ���%$�
���!��+%�� ����'$�

β1 =
1

3 + e
, β2 =

2
3 + e

, β3 =
e

3 + e
.

B����� �� ���%$  �������� ��!��5��5 �������' x � �������������$
�����%���%�5 f(x) $�/�% �������%��� �� ����!+,�5 �(�$� ?#����
���������%����'� ��#�����$'� ��!��5�'� ����� � �����$���'$
�������������$ � (0, 1) ���#�����' ��� ξk@�

�� 
����%�� �'����� ��!��5�� � ����� ξ1� Q��� ξ1 < β1� %� �'������%��
����!+,�5 �!��%� ����� ����(�� �� �!��% 2�

�� 
����%�� �'����� ����� ξ2 � ξ3� Q��� h1(ξ2) < ξ3� %� ��#���% ��
�!��% �� ����� x = ξ2 � ����(�� �� �!��% ��

2� Q��� ξ1 > β1 + β2� %� ����(�� �� �!��% 0� ����� �'����� �������� �
ξ4� x = ξ24 � ����(�� �� �!��% ��

0� A'����� �������� � ξ5� Ǳ��� ��$ x =
√

1− ξ25 � ����(���$ ��
�!��% ��

�� A x �����/�%�� ��������� #������� ��!��5��5 ����$����5�
���������H����5 �� #����! f(x)�

������ ��������� #������� ��%� ����

γ1 =

1∫
0

h1(x) dx =

1∫
0

e · (ex−1 − x) dx√
1− x2

≈ 0.386,

���!���$ ������� ����� ���%�����5 ����� ��  �������� �������� �
��!��5�� � ����� �� #������$! ������������+j

<n>=
[
1− β1 ·

(
1− γ1

M1(b − a)
)]−1

≈ 1.12

Ǳ��!���%��� �%� ���%� ��� �� ��!��5��� �������� x  ������!�%�� #� ����
���(�� �����  ���������
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��! 0��� �$�� ���������( ���%����(

����%�� # � ����%�� ��  ���$��

�� ����%��� ���%� ��%����+%�� ��!���� �� �� #����� ���$��%���
������������� �����%���%�5 ��� ���������( ��!��5�'( �������
f(x1, x2, . . . , xk)� ����H�$ ��/��� ��!��5��� �������� xi ∈ (ai, bi)� �
������������� �����%���%�5 �� ��/��5 �������� #�����% �% #�������
��%����'( �������� A &%�$ ��!���  �����% � ������� ���������� $�/�!
��!��5�'$� ��������$��

����%��'� �# ����$�%����'( $�%���� �� �� ����,�+%�� �� ��!��5
���������( ��!��5�'( ������� � !�H�%�$ ���������� ?�����$���
$�%�� ��5$���� ����! ���������%� &%�5 ������!�' $' �� �!��$ �H�
����$�%����%�@� A �+��$ ��!���� �� ���5��5 $��� %����%������� #����!
��� �� $�/�� ����%� � ���������%�����5  �������� ��!��5�'( �������
����!+,�5 ������!��5�

A���H�$ -!����� !������ � ������������� �����%���%�5

fi(x1, x2, . . . , xi) =

∫ bi+1

ai+1
dxi+1 · · ·

∫ bk

ak
f(x1, x2, . . . , xk) dxk∫ bi

ai
dxi · · ·

∫ bk

ak
f(x1, x2, . . . , xk) dxk

. ?2�2�@

��������� �%� ��/��� -!����� fi(x1, x2, . . . , xi) ���$������� ��

������! ?
∫ bi

ai
fi(x1, . . . , xi) dxi = 1@� ���� ��(����� -!����� f ���$��������

B����� ��#$�/�� ������H�����  �������� ��!��5�'( ������� � ����!+,�5
���������%������%��

• ;������!�%�� #������� ��!��5��5 �������' x1 � ���%��%�%��� �
�������������$ �����%���%�5 f1(x1)�

• ;������!�%�� #������� ��!��5��5 �������' x2 � ���%��%�%��� �
�������������$ f2(x1, x2) ��� -�����������$ #������� x1�

• Ǳ�����/��%��  �������� ����!+,�( �������� ����H�$ ��� �� �
!������$ ������������� �����%���%�5 ����� ���!����'� ��!��5�'�
�������' ����$�%����+%�� ��� -����������'� ����$�%�'
��������������

�������%����� �%����� ���������� $�/�� (����%���#���%�
�������������5 $�%����5 vij = < (xi− < xi >)(xj− < xj >) > T��U�
� ��%���5 ��� ������'� &��$��%' ����' ��������� ���%��%�%�!+,�(
�������� � ����� ������'� (����%���#!+% ����!+ ���������+ ��!��5�'(
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�������� 8�� �� ��� (����%����%��� ���������� �����% ��&--�����%
����5��5 ���������� ρij = vij√

viivjj
� ��%��'5 ��%������ %�$� �%�

�����$��% #������� � ��%������ [−1, 1]� �� �� ρij = 1�  �����% � �		p.5
����/�%�����5 ����������� �� �� ρij = −1� %� � �		p.5 �%����%�����5
����������� Q��� ρij = 0� %� &%�  �����% �� �%�!%�%��� ����5��5
�����������

Ǳ�����%�+ (����%���#!�% ���������+ ����$���'( %����� ���$��%���
���%���%� ������������� �����%���%�5� Q��� �������������� $�%����
����� �������� %� ���������� �������H���� ��%�� ������ ����%��� �������j
$�/�� ������%� $�� � ���$���� ������������� �����%���%�5� �� �� ��%�
����������� � �������������� $�%���� ��� ��������� %� �� ��&--�����%
����5��5 ���������� ����� �!�+� �����$��� -!����� �������������
f(x1, x2) = δ(x2

1 + x2
2 − R2)/π ��H�% ��&--�����% ���������� ρ12 = 0� � %�

���$� ��� ����������� $�/�� ���#�%�� �		p.�� %�� ��� ��� �+��$ #�������
x1 ∈ (−R,+R) x2 $�/�% �����$�%� %����� -����������'� #�������
±√R2 − x2

1�
8�� �� ��#�����% ����(���$��%�  ���������%� ����� ;�!����'(

��!��5�'( ����$���'( xk, k = 1, . . . , n� �%����� ���������� ��%��'(
#����� �������������5 $�%����5 Hik� =��$��%' $�%���' ����'

Hik = (xi − x̄i) (xk − x̄k).
3�$$�%������ $�%���� H� ���� ��� ���%��%�%�!�% ������'$ ����������$
����%��'( ��!��5�'( �������� �� ����������+ ���/�� �$�%�
���%����%����'� ����%����'� #�������� �%� ��7% ��#$�/���%� ���%���%�
�����  �!����'( ����$���'(� �$�+,�( %��!+ /� ������������!+
$�%���!� ��������� �%� ����5��� ���������� $�/�! ����$���'$� xk
$�/�% �'%� ���������� � ��,�$ ���� ����5�'$ �������#������$

xk = x̄k +
n∑
i=1

Tkigi, ?2�2�@

 �� ����$���'� gi, i = 1, . . . , n G ��#�����$'� ;�!����' ����$���'� �
��������5 ���������5� A $�%�����$ ����

∆X = TG, H = TTT . ?2�0	@

A &%�$ $�%�����$ !�������� ���#���%�'( &��$��%�� tij ����*�� ��$
!�������5 ?�#.#� ��$$�%��� $�%���' H@� �������%�� ���#���%�'(

����� n2� � �������%�� !�������5 G n(n+1)
2 � Ǳ�&%�$! ��*���5 �$��%��
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����������� $��/��%��� ���� �# ��( $�/�� ���!��%�� ������#!�
�������#������ ������%� U� �������,�� H � ��� �������$! ���! Λj

H = UΛUT =⇒ T = U
√

Λ. ?2�0�@

�+��� $�%����� ���!������ !$��/����$ T �� �+�!+ $�%���! ������%��
%�/� �!��% ��*����$� ��������� �%� $�/�� �������%� &%! $�%���! %���$
����#�$� �%� ��*���� �!��% �����%����%��� %��! �����5 $�%����5� B����
��*���� � ���� %��! �����5 $�%���' ����#������ � $�/�% �'%� ���!����
����!+,�$ �� ���%$�$�

�� T1,1 =
√
H1,1

k = 1

�� k = k + 1
i = 1

2� Tk,i =
Hk,i−

i−1∑
j=1

Tk,jTi,j

Ti,i

Ti,k = 0

0� i = i+ 1
Q��� i < k� %� ��#���% �� �� 2�

�� Tk,k =

√
Hk,k −

k−1∑
j=1

T 2
k,j

1� Q��� k < n� %� ��#���% �� �� ��

Q��� � �� � ������ ������%�'5 ����#$�/�� �#����� ?�� �������
�%����%����� � ���������� � �'��/����@� %� &%� �����%����%�!�% � %�$�
�%� �������������� $�%���� �� ����/�%����� �������7���� � %���� �
��*���� �� �!,��%�!�%�

��) 
���� � ������ ����
�� 1���� 2"� ��

�
+
	 2���� ����
�9�

>�%�� ������ � #������� �����%�� ����%�5*�$ �������$
��%� ��������� ����#������5 -!����� ����5 ��� ���������( ����$���'(�
����������� &%� � $�%��� �����$���%���!�$ �� ���$��� -!����� ����5
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����$����5� Ǳ!�%� %���!�%�� ��5%� �������H���'5 ��%� ��� R =
∫ b
a

Φ(r) dr�
Ǳ�����*�$ ���'�%� ������� �'��/���� %���$ ����#�$� �%��' ��%� ���
�����%����� ����5 #����� ������ � #������� ����%���5 -!����� ��!��5��5

�������' R =
∫ b
a
[(b − a)Φ(r)] · dr

b−a � i���� �'��/���� dr
b−a �����%�����%

����5 ��--�������� -!����� ������������� �����%���%� ����$����5 r�
�����$���� ���������H����5 � ��%������ [a, b]� � #����%� ���� ��%� ���
�����%�����% ����5 ������� #������� -!����� (b − a)Φ(r) �% ��!��5��5
����$����5 r� ������ ������ � #������� -!����� $�/�% �'%� ������� ��
����!+,�$! �� ���%$! ?����,��$ �� ��!��5 n �� !$��%��@j

• i��!���%�� ����$����� R = 0�

• ������ ����� ��  �������� ��!��5��5 -!����� �� N ���%�����5�

,  ������!+%�� ��!��5�'� �������' ri� �����$���� ���������H��.
�'� � ��%������( [ai, bi]� i = 1, 2, . . . , n�

, � ������%��� R �!$$��!�%�� #������� ��!��5��5 -!�����

R = R +
[i=n∏
i=1

(bi − ai)
] ·Φ(r1, r2, . . . , rn).

• ����� ������

• 8���$�� ������ ������ � #������� ����� R/N �

�*���� ����H�%� $�%���$ >��%� "����� ��������%�� ��'��'$�
�%�%��%������$� $�%���$�� ����$�%�����$'$� � ��#�� 1�

�
+
� :�����
�� 9���
�� #����

Q��� ��%� ���!�$�� -!����� Φ(r) ����� ������������ %� �� $�/�%
������ $���%��� � �������( �����%� ��%� ���������� %� �%�%��%�������
�*���� $�/�% �'%� #����%�����5� �*���! ����H�%� $�/�� �!,��%�����
!$���*�%�� ���� !���%�� ��#��%� -!����+ �� ��� ��� ��$'( Φ(r) =
Φ1(r) + Φ2(r) %���$ ����#�$� �%� ������ -!����� Φ1(r) ��%� ���!�%��
�����%������� ��&%�$! �� �$��% �%�%��%������5 �*����� � �%���� -!�����
Φ2(r) ����� ����������� ��$ ��(������ � ��� ��%� ��������� $�%���$
������ � ��H�% $���*!+ �%�%��%�����!+ �*���!�
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�
+
� 2���� �(8�����

�� ��3����

8���$'5 ��%� ��� $�/�� ��������%� ����!+,�$ ����#�$j

R =
∫ b

a

[
Φ(r)/g(r)

] · g(r) dr,
�%� ��������% � #�����+ �'��/���� ��� ������ � #������� -!�����
Φ(r)/g(r) ��!��5��5 �������' r� ���������H����5 �� #����! g(r)� 8# %� ��
�%� g(r) ���/�� �'%� -!�����5 ������������� �����%���%�5� �'%����%
�!,��%������ � ��������� �� �7 �'���j g(r) > 0� ���$� %� �� -!����� g(r)
���/�� �'%� C!�����5D -!�����5 ������������� ���  �������� ��!��5��5
����$����5 r �� $�%��! ���$�5 �'����� ?�$� ��#�� 2�2��@� Ǳ���� �'����
��������$��!+,�5 -!����� ������������� g(r) %���5� �%� Φ(r)/g(r) ≈
v^\cs� �(�$� �� ���%$� $�/�% �' ����%� %��j

• i��!���%�� ����$����� R = 0�

• ������ ����� �� N ���%�����5�

,  ������!�%�� ��!��5��� �������� r � �������������$
�����%���%�5 g(r) � ��%������ [a, b] $�%���$ ���$�5 �'������

, i������� !�������$�5 -!����� ��������%�� � �!$$�%��
R = R+ Φ(r)/g(r)�

• ����� ������

• Ǳ��!������ ������� #������� R/N ≈ ∫ ba Φ(r) dr�

�
+
) 2���� 2����������

A ����%� T2	U ������/�� $�%�� C��!��5�� � ��!/�����D � n.$����$
����%����%�� � ���%��%�%��� � #�����'$ �������������$ �����%���%�5
f(x)� Q��� ����$'5 ��%� ��� !��H�%�� �����%���%� � ���� �'��/���� ���
������ � �% ����%���5 -!����� g(x)� %� ������� #������� � ���� ��%� ����
$�/�� #�$���%� �� ������� #������� -!����� g �� ���������%������%�
%����j

∫
Ω

g(x)f(x) dx ≈ 1
N

i=N∑
i=1

g(x(i))�  ��

∫
Ω

f(x) dx = 1. ?2�0�@
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>�%�� >�%�������� ������ � ����%�( T2�� 2�U� Ǳ�����H�$ �� ���%$
 �������� ��������5 %���� ���������%������%� x(i+1)� ���� !/� ���!����
%���� x(i)� 3�$�� ������ %���� �'�����%�� ���%�%���� ����#�������

• ;������!�%�� ��!��5��� %���� � ��������%�$� x
(i+1)
j � ��/��� �#

��%��'( �$��% ��#�����$�� �% ��! �( ��������% �����$�����

������������� � ��%������ [x(i)
j −δj, x(i)

j +δj]�  �� δj " ����%��'� $��'�
����%��%'�

• Q��� ���!������ %���� �'(���% #� �����%� ��%� ���������� %� �����
%���� �����$��%�� �����5 �%���5�

• Q��� ������� %���� ��(���%�� � �����%� ��%� ���������� %�

�'������%�� �%��*���� k = f(x(i+1))
f(x(i))

� ;������!�%�� ��!��5��� ����� ξ�

�����$���� ���������H����� � ��%������ [0, 1]� Q��� ξ < k� %� �������
%���� �����$��%�� � �����%�� ����5 %���� ���������%������%�� �
���%����$ ��!��� ����� %���� �����$��%�� �����5 �%���5 x(i+1) =
x(i)�

Ǳ��!������ ���������%������%� %���� ��� ���%�%���� ����*�$ N �
������$ ������������ � ���%��%�%��� � -!�����5 f(x)�

>�%�� ���*�� ��(�/ �� $�%�� �!,��%�����5 �'������ ������ �$��%
������%����'� ���%����%�� � �����%�%��� � ���%����%��$ ����!�% �%���%�
��#$�/���%� �����#���� ��� �+��5 -!����� ������������� f � ����%�%!
�� ���%$� ��#�����$� �% ����� ����$���'( � �����%� ��%� ����������
Ǳ�� ����� ����*�$ ����� ����$���'(� ��� � ����%��'( #�����(
�%�%��%������5 -�#���� &%�% $�%��� ��.����$�$!� �����%�� �����%�����
��#$�/�'$ �# $�%���� >��%� "������ �����%�%��$ �����%�� ������$�
�'���� ����%��% δj ?��% �H�%��( ����$������5 �� &%�% ��H�%@� �%�!%�%���
���H�/�'( $�%���� ������ �*���� ����H�%�� ���$� %� �� ���� �������������
�����%���%�5 �$��% ��������� $����$!$��� %� ����(�� �# �����%� ���� �
$����$!$� � �����%� ��! � � � �������� ��!/����� #�%�!��H���

6��!��� 2�� ��$���%���!�% ������%� �(���$��%� ������ ��%� ���� �
%����$! #������+ ��� ��!���� �� �� �%��% �#���%��j

R =
∫ 4

0
dx
∫ 4

0
dy
∫ 4

0
dz (x2 + y2 + z2 − 12)2x2y2z2e−x−y−z =

= 192(51− 3694e−4 + 55787e−8)(1− 13e−4) ≈ 300, 83098.
?2�02@

3 !�H�%�$ %��������� ���$������ �'����$ -!����+ �������������
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�bk[ar 2��j �%�������� ������
��%� ���� � $�%��� >�%��������
?© � �@ � $�%��� ������ � ?�@
�% %���� � #�������� !$��/�����
��
√
N � � #�����$��%� �% �����

���'%���5 N

�bk[ar 2��j �%�������� ������
��%� ���� � $�%��� >�%��������
�% %���� � #�������� !$��/�����
��

√
N � � #�����$��%� �%

����� ���'%���5 N � 4!�����
������������� �����%���%�5
�$��% %�� $����$!$��

�����%���%�5 � ����

f(x, y, z) =
x2y2z2 exp (−x− y − z)

8(1− 13e−4)3
, ?2�00@

� !�������$�� -!����� %� �� �������%��% ���

g(x, y, z) = 8(1− 13e−4)3(x2 + y2 + z2 − 12)2. ?2�0�@


�� ����� ����H�%�� ?��!/���� � %��! �������@ ��#����+%�� �������'$
��!��5�'$ �����$  �����%��� ��!��5�'( ������ A ����� ���!/���*�(��
�� ���%$�( �'�������� ��%� ����� $�%���$ >��%� "����� �(���$��%�
��#!��%�%� � %����$! ��*���+ ��� �� �$��� #�����$��%� ∼ 1√

N
�  ��

N " ������ ����� ���'%���5� 
�� %� � �%��' ����H�%' ����#'����
������%� �(���$��%� �%����%����� &%�5 �%�����%��5� �� ��� ������%
�%����'���%�� �%�������� ��#!��%�%� �% %���� � #�������� !$��/����� ��√
N � ���$� %� �� �� &%�$ /� ���!��� ������%���$� � �*����$� ��������'

��#!��%�%' �'�������� &%� � /� ��%� ���� $�%���$ ������ � ?������
�*���� �������%�� �%�����%�'$� �%�%��%������$� $�%���$�@� A����� �%�
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��� ����� � ��!��� �(���$��%� $�%��� >�%�������� � %����$! ��#!��%�%!
�$��% $��%�� �� �!,��%����� (!/�� ��$ �(���$��%� $�%��� ������ ��

A�#�$7$ ��! �5 ���$��� ���+�%���!+,�5 ������$! �(���$��%� ���
������� ���������( $����$!$�� � -!����� �������������� Ǳ!�%�
-!����� ������������� �����%���%�5 �����

f(x, y, z) = 1

3(
√

2πσ)3×

×
[
e−

(x−1)2+y2+z2

2σ2 + e−
x2+(y−1)2+z2

2σ2 + e−
x2+y2+(z−1)2

2σ2

]
.

?2�01@

Ǳ�� $��'( #�������( σ -!����� �$��% %�� �����!���7��'( $����$!$� �
���$����5 �'��%�5

max f(x, y, z) ≈ 1

3
(√

2πσ
)3 ,

� %� /� ���$� �� �!%� �% ���� � $����$!$� � ��! �$! ���#��/�� C������D
�� !�����

2

3
(√

2πσ
)3 e− 1

4σ2
.

A�#�$7$ #������� σ = 0, 2 � !�������$!+ -!����+

g(x, y, z) = 3x− 2y − z ?2�0
@

� ���$�%��$� ��� �!��% $���%��� ������ ��%� ���� $�%���$ >�%��������
�� $��� !��������� �%�%��%���� B����� #������� ��%� ���� �� ��
�'������%��j ∫

f(x, y, z)g(x, y, z) dxdy dz = 0. ?2�0�@

�� ���� 2�� �����%������ #�����$��%� �%�������� ������ ��%� ���� �%
%���� � #�������� !$��/����5 �� ���$��!+,�5 $��/�%���

√
N � �%

�������%�� *� ��N � %����%���� ��!��5�� � ��!/������ Q��� �' ���N =
107 %���� �'�������� -!����� �������������� ��!��5�� �� �����%���%�$
$����$!$��� %� � �����%� ��/�� � $����$!$� �'�� �' 3333333 ± 1491�
������� � ��5�%��%������%� � ��5��� X.$����$!$� ���#����� 2���1�2 %����
�'�������� -!������ � ��5��� Y .$����$!$� " 2�����1� � Z.$����$!$� "
22���
�� ����7$ ����(���� �# �����%� ���� � $����$!$� � ��! !+ �����%�
�'�� ��� � 211��
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��* 1�
��� ������ � �
� ��� ,��#� ������

�� # ��� �  ����� �$�� ��.���� �


������ �

6���$�%��$ #����! �� ����������� �����%���%� �� ��%����� ���'
#���/���'( ������� ��/��+,�(�� ��� ���� ������ &���%���� �
��#�%����$� ��%�,�( ����%���! ��! ��! ! � ����'$� �� ��������
� ���%�������/�'$� �� ����������+ �$�!����$�� 6�/��+,����
����' �� ��%���!+%�� ��%��%���$� ���%��,�$ �# ��!( ��H�%������
��$$�%����� �������/���'( �%����%����� $��%� ��%����� ��/�'5
��H�%��� �����%�����% ����5 �����!+ ���$�! ����!+ ����%��! �����5 2a
?����� ��� �@ � *�����5 2b ?����� ��� w@ �� ����%����� t �% �������%�
w� ?���� 2�2@� Ǳ�� �����%���%�+ �� ��%����� ����$��%�� �%��*���� �����
���'%�5� � ��%��'( ��� ����� #��� ��%�������' ��%��%���$� � �����$!
����! ���'%�5 ��/����� ���' �������

B���� ��/����� ������ �����������' ����� ��� �!���� �� ;�!��!
�� ������������%���'$ �%��������$ σz � ������$ � ���%�� ��$$�%���
���%�$'�

6������������ �� ! ��$ �'��%� ������ ��7%�� ��--����������'$
�������$ ��������� ��%���� � ��!��� ��������#�����'( &���%���� �
��#�%���� #�����% %����� �% ������� � ! �� θ $�/�! �����������$ �'��%�
����� ?�����$��� K−@ � ���+ � ?��� e+e− �!����@ � ��H�%�� -��$!��5

dσ

dΩ
∼ sin2 θ.

B�� ��� ���� ���%�������� ���%���� �������+,���� � ����� �� ������$
���$���$ /�#�� τ = 1, 24 · 10−8 �� %� ��!��5��� ����� ����� � �� �������
����� �� ��%! ��H�%�� &�������������'$ #�����$ �� ������5 �����5 ����� �

λ = cτ

√(
E

m

)2

− 1,

 �� E " ������ &��� �� ������ �������+,�� � ��*�$ ��!��� � &��� ��5
�������� � &���%���� ?��#�%����@� m " $���� ������ �� �� ������#�%�� �%�
�� $�%�$�%������$ �#'�� #����� �'�������� &--��%�����%� �� ��%�����
�����%�� � �'�������+ $�� �$���� � ��%� ���� ?��#$�����%� �� $����
�	@ � ���%�%���� ����%�5 ���'�%� ������5 -!�����5 � ����$� ���/�'$�
�������$� ��%� ���������� %�� ��� �����#�� �#$������ ����5 ����$����5
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�bk[ar 2�2j >������������ �������� ��/����� ���' #���/���'( ������
��� �%���������� &���%���� � ��#�%����
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�����%�� -!�����5 ��! �( ����$���'(� 8������'$ ��� ��*���� &%�5
#����� �����%�� �$�%������'5 $�%�� >��%� "������ � ��%���$ � ��$�,�+
��!��5�'( ������ ���������H���'( �� �!/��$! #����! � ���%��%�%��� �
�������5 �������� $������!�%�� ?�$�%��!�%��@ *� #� *� �$ C�!����D
��/�� � �# ������� Ǳ��$���'5 �� ���%$ ��*���� $�%���$ >��%� "�����
�' ����% ����!+,�$ ����#�$j

�� V������!�%�� ��!��5��� %���� z0 �%���������� &���%���� �
��#�%����$ ?�� #����! ;�!���@�

�� >������!�%�� ��!��5�'5 ! �� θ ��� �%����%����� � ����� ?�� #����!
sin2 θ@�

2� >������!�%�� ��!��5�'5 ! �� ϕ� �����$���� ���������H���'5 ��
��%������ [0, 2π]�

0� ��(���%�� %���� ����������� ���$�5� �� ��%���5 ��%�% ����� �
�������%�+ ��H�%����� � ��������%��� ��(���%�� �� ��� ��!%��  �����
��H�%����� Q��� ���� �� ����� �� � ���� �# ��H�%������ ��H�$ �� �� ��
���� ������ %� ��H�$ �� �� ��

�� >������!�$ ��!��5�!+ ����! ����� � �� ������� ��
&��������������$! #����!� Q��� ��� $���*� ����%����� �� ��H�%�����
�������H���� � � �� 0� %� ���� ���%��%�� ������*�$�� �� �� ��%������
%� �� ������ ���'%�� �� ��H�% �����%'����� ��%��%��� � �!/�� ����5%�
�� $������������ ����!+,� � ���'%�� ?�� �@� Q��� ���� �� ��������
�� ��H�%����� %� �������$ ����$�%����� �%��� � ������ ��� ��%��� ��
��� ����� �# ���� 2�2�

θ = π − θ, ϕ = ϕ+ 2π,

� $�/�� ������%� � �� 0�

1� Q��� ��� ����� ������ � ��%��%��� �� �����%'���%� � %���� ���'%��
���%��%�� ����#�'$� 3����/�$�� ��H�%���� ����#�'( ���'%�5
!���������%�� �� ����� � �������$ $������������ ����!+,� �
���'%���

��/� ������H�� ���$���'5 ������% ��� ��$$' �� 4��%�����
�����#!+,�5 �������'5 �� ���%$ � ����/H���'5 �������'$�
��$$��%����$�� A ��� ��$$� ������#!+%�� ����%��'� �%�����%�'�
������ ��$$' �# ������%��� ��!��'( ������ ��$$ FQ6�� i�$�%�$�
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�%� ��� �+�'( �'��������( $�%���$ >��%� "����� $' ����$���!�$ ��
� ��������%��� �'����$ ?����%�+@ ��*� ������%����'( ��#!��%�%��� 
��
���%���� ����#�� ��#��%� ��+ �������$!+ �%�%��%��! �� ��#�����$'�
 �!��' � �'����%� ���$�/!%���'� ��#!��%�%' ��� �%�%��%���� ��������5
� �����5  �!��� ���'%�5� 3�������� ��#!��%�%�� �� �%�����'$  �!���$
��#�����% �����%� &--��%�����%� �'������ � �� ���%$� $�������������
� ���� �%�����'�  �!��' ��+% �%�%��%������ �� ���!+,���� ��#!��%�%'�
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����� ��� ��$$� ���!����% ������%����� ����%�� ����,���� ��
��!��5 �+�� � ��! � � �������� e+e− �#��$���5�%���� ���5 ���-� !�����
��%��%���� �������%����� � !�H�%� ��������� �#��$���5�%��� ���%��
� ��,��%��$ ��%��%���� #���$������ ���$������������5 ��-��$����
�� ����$ $� ��%��$ ����%��� � �!/��$ -��$�%� � %� �� A'�����
��%!������%� �����5 #����� ������� � ��#����+ ����*�( �%�����%�'(
����%�� ��� ��$$� ��#����+,�( $���������%� ����%������ �+�'�
�������' � ���-� !����� ��%��%����� Ǳ��$���$� %���( ����%��
����+%�� �NZJg � FQ6� T22U� IJKV]O � 8�4 3� 69� T20U�
A &%�( ����%�( ��� ��$$ �$�+%�� ������ ��$$' $������������
����*���%�� ��������� �#��$���5�%��� &��$��%���'( ���%�� � ��,��%��$�
��������� ������� ���%������'( ���%��� 3����$���'� ��%��%��'
����+%�� ���/�'$� ��/�����'$� ����!/����$�� 
�� $������������
���(�/����� ���%�� ����# ��%��%�� � !��#���'( ����%�( ��� ��$$
�$�+%�� ������ ��$$' $������������ ����*� � ������  ��$�%�������(
&��$��%��j ��������������� ���!�� ������� � %� ��� � %��/� ��#������#�'�
�� $��%' &%�( �%�����%�'( -��$� Ǳ�&%�$! ���/�!+  ��$�%��+
��%��%���� ��� �������� $�/�� �����%���%� � ���� ������ �%�����%�'(
&��$��%��� A�7 &%� ��#�����% ��� ��#����%�� ��� ��$$' $������������
���� � ��%��%��� �������%���%��� �� $������������ �����-������(
&��$��%��j ���%�����%�'(  ��$�%�������( -� !�� ���%�����%�'( ��������
�� ��%����� �����%�+,�( ���%�� � %� ��
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!�� 1�
��� ������ ������
������� %����$ �

��/������ 
������ �

������%�! ����'( � �����$���'( ��%��%���� &��$��%���'( ���%��
����#$�/�� �����%���%� ��# ������#������ ��� ��$$ ��%����� �
$������������ ���(�/����� ���%�� ����# ��,��%�� ��%��%���� A ����!+
������� &%� ���������%�� �'����5 �����%���%�+ �#$������ ����$�%���
���%�� ����%� �� ����� � �� ��,���� ��� ��/����� ���'( ���%�� ��
����( ��� &���%����'( ��������( �%�$���

4��$������ ����,�  ������ ��� �������' �#��$���5�%��� ���%�� �
�%�$�$� ��,��%�� ����+%�� C%�����'$�D� %��� � ����%���5 %����
%����%���� ���%��' �����(���% �#��$���5�%��� ���%��' � ����$ ���
&���%����$ �������� �%������ � �%�$�� Ǳ�� &%�$ $�/�% �#$���%���
����������� ���/���� ���%��'� &��� ��� �# �%�$� $�/�% �'��%�%� �!����
���� ��� &���%��� �# ��������� $�/�% %��/� ����#�5%� ��/�����
�������%����'( ���%�� � ���� ����� ������� ����%��'� �������'
���%����� ��%������' � �������$���� &--��% � ��( ���%����� $���
�%� $���������%� &%� ��%' �#��$���5�%��� ���� #� ��! �$ �����
�������������� B���������� � ��� ��$$�( $������������ !��%'��+%
�!$$���'5 &--��% ������� %���( ��������� �� ����$�%�' ���%��' ��
����%���$ !���%�� %����%����� B���� �������' !������ $�/�� ��#��%�
C������'��'$�D�

)
�
	 4�������
�� �"�����������1

������'��'� �#��$���5�%��� ����!,� #���/���'$ ���%���$� !
��%��'(� � ����5 �%����'� �#��$���5�%��� � ��! �$� #���/���'$�
���%���$� G �� ��$'� �����'� � $��� &��$��%���'( ���%��� �
��! �5 �%����' G ��������5�%�!+,��� Ǳ����� ���������% ������%�����
������*�5 &--��% ������� �� ����$�%�' ���/!,�5�� ���%��' � ��/��$
�%������$ ��%� �#��$���5�%���� �%���� G ����*!+ �����%���%� ��
�������%������ ����*�� ����� %���( ��%�� �� ������! %����%����� 8 (�%�
� ��/��$ ��%� �%���������� � �%�$�$ ��,��%�� �������$���� �����(���% �
�#$������ ����������� ���/���� ��������5 ���%��'� � �#$������ &��� ��
���%��'� �� $������!+% &%� �������' �%������ G ����#������'� ��%���
� $�� ����%��� ����������
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�� ������ "��16�

�& #����$

=%�% ������� ����� %���� $�/�� ��#��%� C��%��� &��� �� #���/����5
���%��' �� ����#���+ � ��#�!/����� �%�$��D� Ǳ������� &��� ��
&���%���! �%�$� � ��/��$ ��%� �#��$���5�%��� �$��% *�����5 �����#��
G �% ����%��� &���%���.����% �� �!,��%�����5 ���� ����%������5 &��� ��
���/!,�5�� ���%��'� Ǳ�� &%�$ ���� &��� �� %��� � &���%���� �������
%� �� ����� ���� � ��/����� �������% /�%� ����5 /�#��+ G �����������
�� ��! �( �%�$�(� ���/�%�� �� ����5 %����%����� � ���+ �������
��#�!/��� ��! �� �%�$' �� ���7$ �!%�� Ǳ�&%�$!� ���� $' (�%�$
�$�%� �'���!+ %�����%� $������������� �� ����!�% !������%� &--��%'
� ����*�$� ��������$� �$�!���� � &--��%' � $��'$� ��������$��
��,������%�� ����%��� � &%�5 ������$� G �����%� ����%��!+ ���� ��!+
�������! &��� �� η &���%���! �%�$�� � �������' � $���*�5 ��������5
&��� �� �!$$�����%� �� &��$��%� ����' %����%����� � �'�������
&���%����� � �%�$��5 �������� � ��������5� ����*�5� ��$ η ?δ.&���%���'@�
����$�%����%� ��� %�����'5 ������� � $���������%� �������!������


�� ���%��' � ���!���'$ #�����$ q� $����5 M � �$�!����$ P ���
����$�,���� �� ����%����� ∆x � ��,��%�� � �%�$�'$ ��$���$ Z � �%�$�'$
����$ A �$��%�� ����%���� ������������� �����%���%�5 �� �!$$����5
��%��� &��� �� �� ����#���+ � ��#�!/����� �%�$�� � $����$�����5
��������5 &��� �� η � ��/��$ �%����������� =%� ������������� ��/� �
����%���$ ������/���� $�/�% �'%� �����%������ %����� � ���� ���/�� �
��%� ���� � ��$�������5 �������%�� ����%������� !�������� ��� &%� �
������������� �����%���%�5 �'�� ���!���� ��
������! T��U� A &%�5 /�
����%� ��
������! ����7� �������� ��*���� ����%������ � !�������� ���
����%��'( ���%�%���� �����'( !���,����(� �������� ���!,����� ��%����
�� ��#�����% ������#���%� ��*���� �����! ��� %���� � $������������
���(�/����� #���/���'( ���%�� ����# ��,��%�� G ���%�� � ���������
�� �������! &��� �� � ��/��$ �%����������� 4��%������� ���(���%��
������#���%� ���! G ����� %���!+ -��$!�! ��� �'�������� ������ �
#������� ��%��� &��� �� �� ����#���+� � ���!+.���� -��$!�! ���
$������������ -�!�%!���5 ��%���� 3������ ��%��� &��� �� �� ����#���+
� $����$�����5 ��������5 &��� �� η �'�����+%�� �� -��$!�� T1�U

− dE
dx

=
0.307075

[
���·��2

�

]
q2Zρ

A · β2
·
[
1
2

ln
2mec

2β2γ2Tm
I2

− Tkin + Tm
2Tkin

β2 − δ

2

]
,

?0��@

 �� q G #���� ���/!,�5�� ���%��'� Z,A G �%�$�'5 ��$�� � ���
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g`u_r 0��j 6���7%��� #������� ������ � ����#������� � ��%������� ���
����%��'( ��,��%�

A�,.�� I� &A A�,.�� I� &A A�,.�� I� &A A�,.�� I� &A
� �� :r 10 P 
� J ��
Jr �2	 Z_ �11 Za ��	 P[ 2�2
:a 2
� �a 2�� Zk 0�
 Lr ���
mu ��1 I ��2

��,��%��� ρ G ���%���%� ��,��%��� mec
2 ≈ 0.511 >&A G &��� �� �����

&���%����� γ = E/M � β = P/E� i����' q � Z �#$����' � �������( #�����
���%����

I G ������5 ����#������'5 ��%������� ��%��'5 $�/�% �'%� ���!���
�������� ���/�'$� �'��������$� T2�U� ����� ������/7���� -��$!�� ���
�� � $�/�% �'%� #������� � ����

I ∼ 9.8 rW × Z ·
[
1 +

6
Z0.2

]

?%�����%� ������� �		p@� ������� �������� I �� �����%��  �����5
-!�����5 ����$�%�� Z� 
�� ����%��'( ��,��%� ����7%��� #�������
������ � ����#������� � ��%������� ��������� � %���� 0���

����$�%������5 ������ ��� �������� &��� �� ����%�+,�5 ���%���5
��������$! &���%���! ?� ��������/���� &��� ��5 ���#� � �%�$�$@ �����

Tkin =
2mec

2β2γ2

1 + 2γme/M + (me/M)2
. ?0��@

A -��$!�� ?0��@ � �����%�� ���������5 �������� &��� �� Tm
������#!�%�� $���$!$ �# ��!( �������

Tm = min {Tkin, η} .
8 �������� � -��$!�� ?0��@ ������� ��/��� �������� δ G �������� ��

&--��% ���%���%�� ��%���� !$���*��% ��%��� &��� �� ���%���5 #� ��7%
������#���� ����'� Ǳ�� ����� ����*�( &��� ��( &%� �������� �$��% ���

δ

2
−→

E →∞
ln (�ωp/I) + lnβγ − 1/2, ?0�2@
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 ��

�ωp = 28.816 [ &A ] ·
√
Zρ

[  
�$3

]
A

.

Ǳ�� ������'( &��� ��( ���%�� ����7% �������� �� &--��% ���%���%�
���%�%���� ���/�'5 � ��'��� ������#!+% ����%��!+ ��������$���+ T21�
2
� 1�Uj

δ =

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

0, ξ < ξ0(��,��%�� G �#���%��),

δ0 · 102(ξ−ξ0), ξ < ξ0(��,��%�� G ���������),

B + 4.606ξ + a · (ξ1 − ξ)k , ξ0 < ξ < ξ1,

B + 4.606ξ, ξ > ξ1,

?0�0@

 �� ξ = 0.434 lnβγ� B = 2 ln �ωp

I − 1� 
�� ���%�/���� �'����5 %�����%�
����$�%�' ξ0, ξ1, δ0, k �������+% ��� ��/�� � ��,��%�� %���$ ����#�$�
�%��' ����!�*�$ ����#�$ ��������$�����%� %���'� ����7%' ����� �
&--��%�� �����(�� %�����%� ���!���%�� ?�!�*� �p � ����7%� ��%���
&��� �� ���%��'@ ��� �'���� ����!+,�( ����$�%��� T2
Uj

δ0 = 0, a = −B+4.606ξ0
(ξ1−ξ0)k ,

��* �����72 ��4�	�� S3��
�2 � ��T��72UN

��� I < 100 &A ξ1 = 2, k = 3, ξ0 =
{

0.2, B > −3.681,
−1− 0.326B, B < −3.681,

��� I ≥ 100 &A ξ1 = 3, k = 3, ξ0 =
{

0.2, B > −5.215,
−1.5− 0.326B, B < −5.215,

��* 1���� ��� ������9��8 ����������� � ��������j

k = 3,

1) B > −12.25 : ξ1 = 4, ξ0 =

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

1.6, B > −10,
1.7, −10.5 < B < −10,
1.8, −11 < B < −10.5,
1.9, −11.5 < B < −11,
2.0, −12.25 < B < −11.5,

2) − 13.804 < B < −12.25 : ξ1 = 5, ξ0 = 2,

3) B < −13.804 : ξ1 = 5, ξ0 = −2.5− 0.326B.
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Q��� %�$����%!�� � ��������  �#� �%����+%�� �% ���$����'(� %� ���
��&--�����%' ��� ����7%� δ ���� �������%�� ������#!� �%��*���� Qρ
���%���%� ��,��%�� �  �#� � � � ���%���%� ��� ���$����'( !������(�
���#����� ����������'� #������� �������$ ρ� $�/�� ������#���%�
����!+,�� #�����$��%�j

Bρ = B + lnQρ, ξ1,ρ = ξ1 − lnQρ
4.606

, ξ0,ρ = ξ0 − lnQρ
4.606

.

6�����%���'� %���$ ����#�$ ��%��� &��� �� ���%��' $�/��
���������%����� ������#���%� ��� $������������ ���(�/�����
#���/���'( ���%�� ����# ��,��%��� � �� $�� �( ��!���( %�����%�
$������������ �!��% ����$��$�5� �����$��� ����7% &���%��$� ��%�� �
����� � %���%'( ����( ��,��%�� ������ ���!����% !�7% ��%��� &��� ��
&���%����� � ��#�%����� � ������$� %�� ��� ������'� -�!�%!����
&��� ��'������� �����(���% �% ��! �( ��!��5�'( ��������� G ��/�����
��� � %��$�#�� � �#�!������ ������� ��� ��� ��$$ ��,� � ��#�������
��/�� $���������%� � -�!�%!���� ����#������'( ��%��� �� ��/��$
&��$��%����$ ����$�,���� #���/����5 ���%��'� 6���� !��$��!%��
������/7���� ��*���� �����! T��U �����!�%�$� ������#���%�� %�� ���
��� �� !��%'���% ����7���� ��$� � ��������� η �� �������! &��� �� ���
��/��$ �%���������� � �%�$�$� <���� %� �� � �7$ ���� ��������� ��/�
����$�%������5 ������ Tkin �� &%! �������!� Ǳ�&%�$! ��%��� &��� ��
�� ��/����� δ.&���%����� �!�!% !��%'��%��� ���/�'� 6������������
A������� T2�U !��%'���% ����$�%������5 ������ Tkin � � &%�5 %���� #�����
����� ����������� ��$ ������������� �����!� ��  ������!+ &��� �+ η
��� ��#������� $��'( � ����*�( ������� &��� �� �� ������#!�%� Ǳ�&%�$!
��� %�/� �� ��� ���� ��� %���'( ��� ��$$ $������������� A�#$�/�'
����!+,�� ������%' �� ���%$�� $������������ -�!�%!���5j

• 8# ����%������ � !�������� �����! �� �� ���!���%�� -��$!�� ���
��������� ������������� �� ��%��� &��� �� #���/����5 ���%���5j

σ2
E =

0.153
[
>&A·�$2

 

]
Z Tm ρ∆x

Aβ2
?0��@

Q��� %����� ������#���%� �+��� ������������� �����%���%�5�
/���%������ ��(�/�� �� ������������� �����!� ��%���� �$��% �������
#������� ?0��@ � ������.������%����� �%�������� �% ������ � σE
� ?0��@� %� ��� $������������ ���/���� #���/����5 ���%��'
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�� �+��$ !���%�� %����%���� ���%��' �!��% �������#����%���
���������� ������� #������� � ��������� ��%��� &��� ��� %�� ���
��� �!$$�������� ��#�����$'( -�!�%!���5 �� ���������%����'(
���$�����5�'( !���%��( %����%���� ������� #������� ����� �!$$�
������( � ��������� �!$$' ����� �!$$� ��������5� Ǳ�� &%�$ -��$�
�������������� ����,�  ������ �� �!��% ���������5�

• ����%������� !�������� �����! $�/�� ��*�%� ��� !������
� ��������� ������� &��� �� �� ��/��$ �%����������� 6�*����
#����'���%�� � ���� ��%� ���� � ��$�������5 �������%�� ��%����
���$� �� $�/�% �'%� ������#����� ��� $������������ �#.#� ����*�5
%�!��7$���%� �'�������� ��%� ����� A ����%� T2�U &%� -!�����
�'�� ��������$������� �!�������$ ����5��$ �� ��7$ �����#���
�#$������ ����( ����$�%���� 8�����#������ ��&--�����%�� ����5��
��#�����% ������%� &--��%���!+ ��� ��$$!  �������� -�!�%!���5
����#������'( ��%���� A &%�$ ��!��� ��������� �������#����%��
�� %����� ������� #������� � ��������� ����#������'( ��%����
�� � ��� ��%����'� $�$��%' ?� -��$� �������������@� B�����%�
��������$���� ��� �+�'( ����$�%��( ��,��%�� � ���%��' �!�*�
	��p � ��%� ������5 -!����� �������������� ���%� �� �p �
���%���'( %����(� %�����%� �������#������� ������ � #������� �
��������� %�/� ������� ��� $���*� �p�
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!�! 3����� �� ��(��%����� # ����

Ǳ�	������� ����������9�72 ��� 
 ������� ���������� ��
�����
8�� �� %���!�%�� ���%���%� ��������%�!+ ���%�$! �# %��( ��%� ������'(
�������'( ���%����� �����$ ���� �# &%�( ���%���� e1 #���� ?��� ��������
&%� %��!,�� #������� ���%��� ������%� ���%��'@� B���!�%�� ������%� �
&%�$! ���%��! �,� ��� �������'( ���%���� ��%��'� �$��%� ���%������
�' ��������!+ �����%��! ���%�$! ��������%� <'�%�� ������%��� � %���5
#�����5 ��$�/�% ����!+,�5 ����$j

e2x = e21x

1+e1z
− 1, e2y = e1xe1y

1+e1z
, e2z = e1x,

e3x = e1xe1y

1+e1z
, e3y = e21y

1+e1z
− 1, e3z = e1y.

?0�1@

��%�!��� !����%���� �%� ��� !������ e2
1 = 1 ��� ��! �( ���%��� G %�/�

��������5 ����'� ��%� ������' $�/�! ����5 � � ����'$ ���%���$� �
�$�*����� ����#�������

(e1, [e2 × e3]) = +1.

>�/�% %�� ���#�%���� �%� �������� (1 + e1z) ���#�� � �!�+� �%� $�/�%
������%� � %�(�������$ %�!����%�$� B� �� $�/�� ������#���%� ��! ��
��� ���%��� � %���$� /� ���5�%��$�j

e2x = − e1xe1y

1−e1z
, e2y = 1− e21y

1−e1z
, e2z = e1y,

e3x = 1− e21x

1−e1z
, e3y = − e1xe1y

1−e1z
, e3z = e1x.

?0�
@
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i����� ����������� &��%��$!$�� -!����� ���������( ����$���'(
�����%�� ����$� ��%!�����5 � &������$��%�����5 -�#��� ?�$� ��#���
1@� ��� �������� � ������'( #�����( ����#$�/�� �����%������ ��5%�
%���� &��%��$!$� ��/� ��� -!����� ��!( ��� %�H�( ����$���'(� ��
 ����� !/� � ����%��( ����$���'(� Ǳ�&%�$! ��#�����% #����� �������� �
������ &��%��$!$�� �� =A>� >' �� �!��$ ����%��� ��������#�'( ���H�$��
����5�� � ��� ��$$��������� %� �� ����������� &��%��$!$�� ����5��5
-!����� � ����5�'$� !������$�� �� ��/� ��# &%� � #����� �����%�����%��
���%�%���� ���/��5� 8$��%�� $�� � !��������� ���������� �����,H���'(
&%�$! ������!� �����$��� T0	U� >�%��' ��%�$�#���� -!����� ��� �������
����(.���� � ��������5 �� ����$�%�' ����$�%����+%�� � ����%� T0�U�
=%� ���/��� ������$� �����%�� ���#�'��5�� ��%!�����5 � ������%��
&������$��%����'( ����'( � -�#��� �'����( &��� �5� � /���$ ��%����� �
&%�5 ������$�  �����% ��������+,�5 ��%�� ��� ������'( ����% �� ����!+
%�$! T0�� 02� 00� 0�� 01� 0
U� i���� &%�5 ������$' $' �� �����$�� ����! �7
���/���%�� 8#��/���� � �����$ ������� ���/� ��� � ���%��%�%�!�% ��#��!
� ����%� T0�U�

��������� �%� #����! ������ $����$!$� -!����� ��� �� $�/�� ����%�
� #����� $���$�#����� �#�� ������!�$!+ -!����+ � ����%�'$ #����$�


�
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8$��%�� $�� � ��� ��$$ ��������5 $���$�#����� ��*�+,�( &%!
������$! ��#����'$� �������$�� A ������%�� ����'( -�#������(
&������$��%�� �������� ���%� ������#!+% ��� ��$$! VKJIKg T0�U�
��#����%���!+ � FQ6��� >�/�% ��#��%��� �������� �����%������ �%�
�� %���!�%�� #��%� ���%����%�� � �����%�%�� ��#����'( �#���%�'( �(�$
$���$�#����� ���� ��%� (���*��� ���������'� �� ����%����  �%��'�
��� ��$$'� =%� �����$ �� %��� A�#�$H�$ ��/� %���5 ����%�5 ������� ���
�'��� �� ���%$� $���$�#���� � ��� ��$$� VKJIKg ?� ��5 ������ ��%��
��������� �� ���%$��@� E%��' �����%� %���5 �'��� ���#������ ����
�����%����%� (�%� �' � ��,�$ &%� �� ���%$'� �( ����'� $��%��

���$� %� �� �� ��#�'$ �������$ �� ��� �� ��#$�/�� ������#���%�
 �%��!+ ��� ��$$!� �����$��� ��� ��$$! VKJIKg �� ����$���!�%��
������#���%� ��� #���� �����5����5 ������%�� ����'(� %���( ���
������%�!���� ���'%�5 � %�����'( ��%��%���(� 
�� &%� � �!�*�
������#���%� ��������#�������'� ��� ��$$'� !��%'��+,�� (����%��
$���$�#��!�$�5 -!������ Ǳ�&%�$! ���%��5 ��#�� $�%���� $���$�#�����
�������$'5 ��/�� �� �����%�����%�� ��*��$�

8��+�%����� � $�%���$ �!�!% ��� �� �������%��� �� ���$��� ����5 �
%�5 /� ����%�5 -!����� ��!( ����$���'(

f(x, y) = (50− x2 − y2)2 + (x + y + 10)2

� �����%����'$ �������'$ $���$!$�$ � %���� x = −5� y = −5� 3%��%����
%���� ��� ������ $���$!$� ��� �� �!��% x = 2� y = 2 ?���� �� ���%$ �
�������� $�/�% ���%��� $���$!$� �# &%�5 %����� � ���%����$ ��!���
��������� %���� �!��% x = 1, 5� y = 2@� �������'5 *� ?���� %���5
%���!�%�� ��� �� ���%$�@ �!��% ����'$ �� ����� !����� ���������' �
�� ���-$������$ $��*%���j ����'5 !������ f(x, y) = 5� �%���5 " f(x, y) =
25� %��%�5 " f(x, y) = 125� ��%�H��%'5 " f(x, y) = 625�

B���� �'�������� -!����� ��$����' ��!/����$�� ���� #�������
-!����� � ��( $���*�� ��$ � ����� ���������'( %����( ?�+�� /� ���+����
��$�� ������ %����@� ����H�$ &%� %���� ��������' �%��#��$� ���$�5 �
������� ���������� ��%����'� %���� �%$���+%�� ������%���$�� A�� �
� ��/��$ $�%��� -�����!�%�� �		 ����'( �'�������5 -!������

���$� ������%� ������/���� �# ���H���5 ��������5 %���� � %����
$���$!$� &--��%�����%� �� ���%$� (����%���#!�%�� %��/� ������%�+
������/���� � $���$!$!� �� �� ��� ��$$� $���$�#���� !/� ���#�� �
&%�5 %����� A %�( ��!���(� �� �� �!��% ��$���%������%��� ����%�������
����%� ���� �.���� �� ���%$�� �!��% !��#'��%��� ��������'5 ��$�� n0.1

�'�������� #������� -!������ �� ��%���$ �'�� ���%� �!%� �%��������
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#������� -!����� �% $���$����� � $���*�� ��$ 	��� � ����� ���'�
#������� n0.01 � n0.001�

A %�( ��!���(� �� �� %���!�%�� #�������  ������%�� �� �!��%
�'�����%��� �����%������� �%�� ������� � ����*���%�� ����%������( #����
����#$�/���

)�� -
���� ��� ��������$��

i����� $���$�#���� -!����� f(x) ����5 ����$����5 �����%��
�������� ������������5� ��%� ����%������� #������ ��� ��������
%���!+% ��%�$�#���� ���������( ����$�%��� �������$����� �� ���%$
$���$�#���� -!����� ����5 ����$����5 ���%� �����%�� ���%����5
���%�+ ��! �(� ����� ���/�'( �� ���%$��� >�%��' $���$�#����
-!����� ���������( ����$���'( $�/�� %�� ��� ����� ���$���%� �
��� $���$�#���� -!����� ����5 ����$����5� � #���� $' �� �!��$ �(
�!�������%�� ������ ��� ����$����5 $���$�#���� ��#$�/�� C$�%��
#���%� � �������D� ��%��'5 � ��! �( ��!���( �����$���$�

i����! $�/�� �-��$!������%� %���$ ����#�$j �!�%� �$��%�� ��%�����
a1 ≤ x ≤ a2� ��!%�� ��%��� � ��(���%�� �������'5 $���$!$ -!����� f(x)�
B���!�%�� $����$����� �'�%�� !%����%� ����/���� $���$!$��

E%��' ��������%�� �%� $���$!$ ��(���%�� ��!%�� ��%�������
����(���$� ���� ��!%������ %����� ���$�  ����� ��%������� 
�� %� �
�%��' �����%�%� ��%������ ����(���$� �'�����%� #������� -!����� �,H�
� ����5 ��!%�����5 %���� � � ��#!��%�%� ��������� #������5 -!����� �
��!( ��!%�����( %����( a3 � a4 ?���� ���@ ��*�%�� ���!+ �# ��!( ���*��(
%���� �%�����%�� �����%�� %�$ ��$'$ ��%����� ������#���� $���$!$��

�� &����$�� ���$��� /���%����� ��%��*���� %�� %���� ������#���%� ���
����!+,� � *� � �����,���� ��%�������

Q��� ��/� �!#�%� #����! !������$ ��$$�%����� � �'���� ��!(
��!%�����( %����� #����� � %���5 ���%������ �� �$��% ����#����� �
��*����� 8#���%��� �%� ���� ���%���%� #����! ��� $����$����� �
�����,���� ��%������ #� -������������ ����� *� ��� %� ��������� ���
�'���� ��!%�����( %���� ���/�' �'%� ����$���'$� � �����'��%���
�� �����( ���� 4��������� 
�5�%��%������ !������ ��$$�%������%�
�������/���� %���� � �'�������� �� ��/��$ *� � %����� ����5
%���� ���������% ���#� $�/�! �����$� ���������%����'( ��%�������
������#���� $���$!$�j

di = di+1 + di+2. ?���@



��������� :� 1� .���*�"�!��*"���"�)����,��&��-�� &�.6&

�� �� #�$�%�%�� �%� &%� ��� 4�������� ?� ����%��$ �������@� Q��� ��
��������$ *� � ��!,��%��%� $����$����� ��#$�/��� �����,����

dn =
1
2
dn−1,

%� ��� ����%���������%��j

dn−2 = 3 · dn; dn−3 = 5 · dn; . . . d1 =

⎡
⎣
(

1 +
√

5
2

)n+1

−
(

1−√5
2

)n+1
⎤
⎦ · dn√

5
.

>' �� ��%���������$�� #���� �� &%�$ $�%���� 
�! �5 ������% ��*�����
�� �� ������'���%�� %��������� ��(������� ��������5 ��� �����,����
��%������� ��#'���%�� $�%���$ C#���%� � �������D� ��������$

x

f(x)

a a a aa
1 5 3 4 2

d

0.618d

0.382d

0.382d

�bk[ar ���j ����$�����
$���$�#����� >�%��
C#���%� � �������D�
#�%��
�
�	� ��
����	
� 
	�
������� 	� ��	�� $�&�'

ξ = a4 − a1
a2 − a1

= a2 − a3
a2 − a1

,

a3 − a1
a2 − a1

= 1 − ξ,

1 − ξ
ξ

= ξ,

ξ =

√
5 − 1
2 ≈ 0, 618.

��&--�����% �����,���� ��%������ �� ����$ *� �

ξ =
a4 − a1

a2 − a1
=
a2 − a3

a2 − a1
.

�%�+��
a3 − a1

a2 − a1
= 1− ξ.
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Ǳ�� �����,���� ��%������ ����� $' ���/�' �!��$ ������%� ���!+ %���!
a5 %��!+� �%��' ��������� �  �!��� %���� {a1, a5, a3, a4} ��%����� %���$�
/�� ��� �  �!��� {a1, a3, a4, a2}� %� �� 1−ξ

ξ = ξ� B���� /� !�������� $'

���!���� �'� ����%����� � ?���@ �'��/���� ��� dk � ���� dk = d0 · ξk�
6�*�� ������%��� !��������� ���!���$ ξ =

√
5−1
2 ≈ 0, 618�

3����,���� ��(���� � ��%������ � &%�$ $�%��� &����������������
�����$��� � 106 ��# ��%����� �����,��%�� $���*�� ��$ #� 2	 *� ���
Ǳ��� �'* � &--��%�����%� �� ��������+ � �'����$ ��������5 �
���%��%�%��� � ����$ 4�������� $�/�� (����%���#���%� �%��*����$
������'( ���� ��%������� ��� ��!( &%�( $�%����j

ξn−1

√
5
·
[

1
ξn+1

− (−ξ)n+1

]
−→

n→∞
1

ξ2
√

5
≈ 1, 17.

A����� �%� ��� ����*�$ �����,���� ��(���� � ��%������
&--��%�����%� &%�( $�%���� ������$�� (�%� � $�%�� C#���%� � �������D
��� �� ��������� ���� �'���%�

)�� 1���
 �����

=%�% $�%�� ��$'5 ����%�5 � ���$������� �� ���5�� ��&--��%���� ���
����*�$ ����� �� !$��%�� -!������ 9� ���%$ #���+���%�� � %�$� �%��'
����'%� ���� ������!�$'5 -�#��'5 ��RH�$ � ����%����%�� n ����$���'(
�� !�����5 ��%��5 � ���%����'$ *� �$ �� ��/��5 ����$����5� �'�����%�
#������� -!����� � !#��( ��%�� � �'���%� ����� ��( $���$�������

)�� 	��%����� #����

��'��� ��� ��!��5�'$ ������$ �����#!$����%�� ����!+,�5 �� ���%$�

• ;������!�%�� #������� �������%�� ��!��5�'( %���� N � n.$����$
����%����%��� ��'��� ������#!�%�� �����$����� �������������
�����%���%�5 �� ��/��5 ��������%� � ��%������ (xi − hi, xi + hi)�  ��
xi " i.� ��������%� ��������5 %����� hi " #������� �������� � *� �
������ �� i.5 ��������%��

• 3���� &%�( N %���� �'�����%�� %���� � $���$����'$ #�������$
-!������ Ǳ!�%� �H� ��������%' ����' yi�
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• =--��%�����%� �� ���%$� �!��% $���*� #�����%� �% ����%�$����� �
�'���� *� �� ������ hi� ���� �!��% ����!�$�%���� ����%����

������!�� ���%��5�� *� �� �����$��� hi = hi · (0.5 + |yi−xi|
hi

)� ����H�$
���� �� �'�� ��5���� %���� �� #�������$ -!����� $���*�$� ��$ �
��(����5 %����� %� ���� ��%�� yi = xi�

• ��������%' ��(����5 %���� xi #�$���+%�� ��������%�$� yi� � ��H�
���%����%�� ��������

�� ���� ��� �����%����� (�� $���$�#���� ��� ��!��5��$ �������
�'��������$ � ���%��%�%��� � �����%������'$ �� ���%$�$� 
��
��������� �� ���� ��2 ����#�� (�� $���$�#���� � ��� ��$$� VKJIKg�
���������5 � FQ6�� T0�U�  �� ��� �'���� ��!��5�'( �����'( %����
������#!�%�� ����� ���/�'5 �� ���%$ >�%��������� �!�*�� �# $�%����
$���$�#���� -!����5� ���!/���$'� � �����5 ����%�� �����#����' � &%�5
��� ��$$� � $� !% ������#���%��� ��� �� �'���! ����#���%���� ��� ��
!�$�%�����  ������5 ��� ��$$' VKJIKg�

)�! 1���
 #����
���������� ��������$��

�� ����'5 �# ��� ��/�%�� ��������%����'$ $�%�� ������H����5
������������%��5 $���$�#����� � ��%���$� �%��������� �% ��������5
%����� ��(���$ $���$!$ �� �����5 ��������%�� ��%����� ������
���%����'$�� #�%�$� #�-��������� ����!+ ��������%!� ��(���$ $���$!$
�� �%���5 ��������%� � %� �� Ǳ���� #����*���� ����� $���$�#���� ��
���$ ��������%�$� ��� �������� ����H�%�� ���%���%� � � �,H� �� ����
��# �� ���%�/���� $���$!$�� �%� ��$���%���!�%�� ���� ��0� <����
%� �� �� �� �������%� $���$�#��!�$!+ -!����+ � ���%��%�%�!+,!+
�������!+ %���! %��� �%� ������� ������ ����,� �� ��5�H�%�� � $���$!$!�
6��!��� ��$���%���!�% ��� ��# %���5 ��!��5� ��������� �!�*� �' ����%
$���-���������'5 �� ���%$ ������������%��5 $���$�#����� �������'5
� ��#�� ���� ������ � �� ��  ����%��!�% �(���$��%� � $���$!$!�

)�) 1���
 �����. ���

A $�%��� 6�#������� T�	U ���� ������������%��5 $���$�#���� �� ���$
��������%�$ �'������%�� %�� /�� ��� � ��#�� ��0� � #�%�$ ��������%�'� ���
������������+%�� %��� �%��' ���� �# ���5 �$��� ����������� �# ��������5
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x

y

�bk[ar ���j >�%�� ��!��5�� �
������ ��� �����$����$
������������� �����'(
%���� ��!%��  �����!���
n0.1 = 356� n0.01 = 873�
n0.001 = 1772� mini=1,100 f(xi, yi) =
f99(4, 31;−5, 89) = 81, 18

x

y

�bk[ar ��2j >�%�� ��!��5�� �
������ � �'����$ %���� ��
�� ���%$! >�%��������� n0.1 =
463� n0.01 = 704� n0.001 = 704�
mini=1,100 f(xi, yi) = f97(−7, 08�
0, 08) = 9, 03
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x

y

�bk[ar ��0j >�%��
���������%�����5 $���$�#�����
n0.1� n0.01� n0.001 > 2 · 106�
mini=1,100 f(xi, yi) = f100(6, 318;
−3, 303) = 170, 07

x

y

�bk[ar ���j >�%�� 6�#��������
n0.1 = 164� n0.01 = 204� n0.001 =
244� mini=1,100 f(xi, yi) = f96(2, 338;
−6, 703) = 31, 91

%���� � %���!� ���%� �!%!+ � ��#!��%�%� ����� $���$�#���� ?�/����� �%�
&%� ��%� ����������� ����� ����%��� � C!,����D� ���!,� � � $���$!$!@�
���$�%�� �� ����*�� !���/����� �� ���%$�� � ����*���%�� ��!���� &%� ��
��H�% �!,��%����� � �'� �'*� ?���� ���@�

)�* 1���
 # �. � �4�.��

���'$ �����%�%��$ $�%���� ���������%�����5 $���$�#����
?����������%�� � ��!���@ � 6�#������� �����%�� %��������� ������#���%�
$���$!$ ����� ����%��� � ������������ ��%���� ���(���% ������ �%
����$� � $���$!$�� A $�%��� 6�#������� �$�+%�� %��/� #����%����'�
�������'� ���(��' �� ���%�����+ ����$� �%�����5 ���%�$' ��������%�
6���$�%�����$'5 � �����$ ��#���� $�%�� ���� � �*���� �� %���!�%
���$��� �� �#��*��� !%������� ����� ���� �.���� ������������ �
������#!�% ��-��$���+ � ��������� -!����� ���#! /� ����� ������ �
*� �� 9� ���%$ $���$�#���� $�/�% �' ����%� ����!+,�$ ����#�$�

�� Ǳ���� ������$ $���$�#���� #����' ��������%' xi ��(����5 %���� �
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�������'� *� � hi �� ��/��5 ��������%��

�� ������ ����� �� ���$ ��������%�$�

?`@ 
�� ��������5 ��������%' i �����%�� *� hi � �'������%��
#������� -!����� f(xi + hi)�

?u@ Q��� #������� -!����� � ����5 %���� $���*�� ��$ � ��(����5
?f(xi + hi) < f(xi)@� %� ��������%� xi #�$����%�� �� xi + hi�
!���������%�� *� hi = hiα � �����%�� ��#���% � �!��% �`�

?v@ A ����( ����� !���*�� � ���(�/����� !#��( C!,���5D $�/��
�'�����%� �����'� #������� -!����� ��� ����'( �$�,����(
f(xi + hi, xj ± hj) � ����%���� i.5 ��������%' �� ���$� j �= i�
������ ���/���� � ����� �� j �= i�

K� ������ ���/���� � ����� �� ��� ���%������ k = −1; 1�
b� A'������%�� #������� f(xi + hi, xj + k · hj)�
bb� Q��� f(xi + hi, xj + k · hj) < f(xi, xj)� %� ��� ��������%'

xi, xj #�$���+%�� �� ��������%' !���*��5 %����� *� �
hi, hj �� &%�$ ��������%�$ !��������+%�� � α ��# �
�!��% �?v@Kb ���%����%�� � &%�$� /� i, j, k�

KK� ����� ����� �� k�

?e@ ����� ����� �� j

?r@ S� �� i.5 ��������%� !$���*��%��j hi = −βhi, � ��H�
���%����%�� ��� ����!+,�5 ��������%'�

2� ����� ����� �� i�

0� Q��� ���%���5 ���%�/���� $���$!$� �� �'������%��� %�
$���$�#���� ������/��%�� � �!��%� ��

6���%� &%� � �� ���%$� � ����$�%��$ !��������� *� � α = 3 �
����$�%��$ !$���*���� *� � β = 0, 4 ��$���%���!�%�� �� ���� ��1�

A����� �%� �� ���%$ ��#�����% ���%�%���� �'�%�� ���5%� � �����%�
$���$!$�� �� #�%�$ $������� !%�����% � � ����/����� ��������$'$
���%����%��$ &%� � �� ���%$� �����%�� ����%�%� �����#���� � ���H�/���
�(���$��%�� %� �� ���� ��� ��#��� &%�% �� ���%$ ������H�% � %���!
$���$!$��
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x

y

�bk[ar ��1j >�%�� ���� � �*�����
n0.1 = 308� n0.01 = 1578� n0.001 =
1689� mini=1,100 f(xi, yi) =
f93(−0, 609; −7, 054) = 5, 478

x

y

�bk[ar ��
j 3�$�����.$�%��
?��� ��$$� VKJIKg@� n0.1 =
112� n0.01 = 132� n0.001 = 145�
mini=1,100 f(xi, yi) = f99(−2, 94;
−6, 46) = 0, 53

)�5 	��#����6����


����$ �# �������� $�,�'( ��*� ��'( $�%���� � n.$����$
����%����%�� �����%�� ��$�����.$�%�� T��U� �� #���+���%�� �
�������#������ ������ (n + 1) %���� � ����%����%�� �!%H�$ #�$��'
��$�5 C(!�*�5D %���� �� ����� �������%���!+�

�� A'����+%�� �������'� ��������%' (n + 1) %���� ?�����$���
��!��5�'$ ����#�$ ��� ������H���'$ ���� �$ �� ��/��5
��������%�@� ���#����$ ����� n ��������% i.5 %���� ���%���$
xi� � #������� -!����� � ��5 " fi�

�� 3���� ���( %���� ���������%�� %���� i = h � �������*�$ #�������$
-!����� � %���� i = l � ���$���*�$ #�������$ -!������

2� Ǳ� ���$ %����$� ���$� i = h� �'������%�� ���%�� xaj

xa =
1
n

∑
i�=h

xi.
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0� A'�����+%�� #������� -!����� � ����5 ��� ����� %����(� ��/�,�(
�� ���$�5� ���(���,�5 ����# %���� xa � xh�

?`@ A'������%�� #������� -!����� fo � %���� xo = 2xa − xh�

?u@ Q��� fo < fl� %� �'������%�� #������� -!����� fs � %����

xs = 3xa − 2xh.

?v@ Q��� fo > fh� %� �'������%�� #������� -!����� ft � %����

xt = (xa + xh)/2.

Ǳ� &%�$ %�7$ #�������$ -!����� fh� fo � ft �������%��
��������� ���������%�� �������� ��$�� %���� $���$!$� xp � �
��5 %�/� �'������%�� #������� -!����� fp�

�� Q��� fo� ft � fp ����'*�+% fh� %� �����%�� ����(�� � �!��% ��
����#!�%�� ���'5 ��$����� ����� %���� xl� � ��H� ���%����%�� ��������

1� 8# ���'( %���� ?�% ����5 fo �� $����$!$ %�7( fo� ft � fp@ �'�����%��
%���� � ���$���*�$ #�������$ -!������ � %���� xh #�$����%��
�� &%! %���!� ����#!� ���'5 ��$������ Q��� ���%���5 ���%�/����
$���$!$� �� �'������%��� %� ��H� ���%����%�� � �!��%� ��

6��!��� ��
 ��$���%���!�% (�� $���$�#���� ��� ��$�����.$�%����
�����#������ � � ��� ��$$� VKJIKg T0�U�

)�7 1���
 ������ ��4��� �#����

A %�( ��!���(� �� �� ��� ������!�$�5 -!����� ��#$�/�� �����%�������
�'��������  ������%�� ����� $���$!$� $�/�% �'%� #����%����� !�������
A $�%��� ��������5*� � ��!��� � ������������ ���������$�$ ���%���$
 ������%�� �������%�� ����$����� $���$�#����� � ���!�����5 %����
����� �'������%��  ������%� � ����� $���$!$� ������/��%�� � ����$
������������ 6��� ��� ��$���%���!�% ����%! ����� � �� ���%$� ��
���$��� ��*�5 %��%���5 -!������

��� ����$� ������� -!����� ���#����� ����� ��!�����5 ���
���!/���$� � $�%���� A�.����'(� ���� ����%� $���$�#���+ �
���%��%�%��� � ����'$ �� ���%$�$ �# �%�����%��5 ��������5 %���� x =
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x

y

�bk[ar ���j >�%�� ��������5*� �
��!���� n0.1 = 6627� n0.01 = 15082�
n0.001 = 42310� mini=1,100 f(xi,
yi) = f100(1, 839; 6, 683) = 346, 89

x

y

�bk[ar ���j >�%�� ��+%���� n0.1 =
1144� n0.01 = 3499� n0.001 = 8389�
mini=1,100 f(xi, yi) = f98(4, 634;
−5, 727) = 97, 591

(2; 2)� %� ���#! /� ����#�5�H�% ��!�� � ������!+ %���! � �����%� x =
(5; 5)� � � ��$��( ����� � �� ���%$� ����#$�/�� �# ��H� �'5%�� Ǳ�&%�$!
$���$�#���� �'�� ����%� �# %���� x = (1, 5; 2)� ������ � � &%�$
��!���� ��� ����� �# ���!���� ��#!��%�%' ��!�����%����%����'�� A
�������� ������ $���$!$� �����(���% #� #� �����#��� ���/���� ����� ���
C!,����D � ����� $����$ *� �$�

)�8 1���
 3�9����

����5 �# �������%���'( ���5 � ������( &--��%���� � �� ���%$�
$���$�#���� �����%�� ������#������ ��#��/���� $���$�#��!�$�5
-!����� � ��5��� ��(����5 %���� x0 � ���� ������%����5 -��$'� %� ��

f(x) = f(x0) + gT0 · (x− x0) +
1
2
(x− x0)TM0(x− x0), ?���@

 �� f(x0),g0,M0 " #������� $���$�#��!�$�5 -!������ ���%���  ������%�
� ��$$�%�����5 $�%���' �%��'( ����#����'( � ��������5 %���� x =
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x0� A��(��$ �������$ T #���� � ����� ���#����+%�� %��������������'�
���%��' � $�%���'�

Q��� �' -!����� f(x) ��5�%��%����� �����%������ ����5 ����/�%�����
�������H���!+ ������%���!+ -��$!� %� $' ���#! /� $� �� �' �'�����%�
%���! $���$!$�

xmin = x0 −M−1g = x0 −Vg ?��2@

� #������� -!����� � $���$!$�

fmin = f(x0)− 1
2
gTVg, ?��0@

 �� ������� ����� ���#������� V = M−1 ��� �������������5 $�%���'
" ����%��5 $�%���' � $�%���� �%��'( ����#����'(� =%� $�%����
��#���� %�� /�� ��� $�%���� � ��#�� 2�0� ����'��+,�� ���������+
��!��5�'( �������� �� ����!+,�$ ������/����$� ��� �!��% �����
� ��#�� 1��� �������� &--��%���'5 $�%�� ������ ����$�%��� $�����
���#�� � $���$�#����5 -!����� {− lnP (x)}�  �� P (x) " ������
���%���%� �����%���%� #��� ��%������%� ���!����'� &������$��%����'�
����'� ��� ����$�%��( $����� x� Ǳ�� &%�$ �������������� $�%����
� $���$!$� -!����� ����'���% -�!�%!���� ����$'( ����$�%��� �
 �!�����$ ������/���� ?� !�H�%�$ ����5��5 ����������@ ��� $�� ����%��$
���%������ &%� � &������$��%��


�� ����%������ � ���$������ &%� � �� ���%$� ����(���$� ��*�%��
�%� ����%� � ��!���� �� �� $�%���� ������%����5 -��$' �%����%�����
�������H������ ��� $�%���� ����/�%����� �������H������ �� #�������
-!����� � �/����$�$ $���$!$� ����'*��% #������� -!����� � ��(����5
%����� ���� �������� ��������%��� $�%���' ����� �!�+� � ����%�!+
$�%���! ����,� ����#$�/�� ��5%��

A�#$�/�'5 �� ���%$ $���$�#���� �� $�%��! ��+%��� $�/��
�����%���%� ����!+,�$ ����#�$ ?�%�� �  ������ %���� ��#����� $�%���
����� ���(���% � ����$����$! ��!��+� �� ����'5 �� ���%$ �����%��
��%��%����'$ ����,����$ �� $�� �$���'5 ��!��5 � ������#������$
$�%�����5 �� ���'@�

• A ��������5 %���� �'������%��  ������% � $�%���� �%��'( ���%�'(
����#����'(�

• Q��� ��������%��� $�%���' ���!����5� %� �'������%�� ����%���
$�%����� #�%�$ �'������%�� %���� �������� ��$� � $���$!$� xmin
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� � ��5 �'������%�� -!����� f(xmin)� Q��� #������� -!�����
$���*�� ��$ � ��(����5 %����� %� �����%�� ����(�� � &%! %���!� �
��H� ���%����%�� ��������

• Q��� #������� -!����� � �������� ��$�5 %���� $���$!$� ����*��
��$ � ��������5 %����� %� ����#����%�� ����$����� $���$�#����
����� ����������� �# ��������5 %���� � %���! xmin� � ��H�
���%����%�� ��������

• Q��� ��������%��� $�%���' �!����5� %� ����#����%�� ����$�����
$���$�#���� ����� �����������  ������%� �# ��������5 %�����
��5������ %���� $���$!$� �����$��%�� #� �������!+� � ��H�
���%����%�� ��������

�� ���� ��� ��$���%���!�%�� (�� $���$�#���� �� ����5 �# ��#$�/�'(
�����#���5 ������H���� � �� ���%$�� i� ��$��$� ��*� � �����#� ��%�����
������!�� ��������5 ������ $�%���' �%��'( ����#����'(� �*����
�'�������� ��%���5 $� !% �!,��%����� ������%� �� ������%� ������/����
� $���$!$! ?����$��$� �%�  ������% � ��*�( %��%�( �'������%��
�����%������ � �������$���� �� #�������$ -!�����@�

��%�5�����%� ����� � �� ���%$� ��������� �� ����%��� ���(���%��
$���$�#�����%� -!�����  ���#�� ����� ���/�'�� � %� �� &%�% �� ���%$
�����*���� �� ������$� ���/�$� � ��$�����.$�%���$ ��� $�%���$ ���� �
�*����� ���$� %� �� #���� �!/�� ��(���%� ����%�!+ $�%���! � $�%����
�%��'( ����#����'(� �%� �%��$��% #����%������ ������������ ���$�� �
����� �% $���$!$� �� �$��% ������ � �$'���� %�� ��� -!����� ���(�
����'���%�� ������%����5 -��$�5�

)��: 1���
 ��# �;&���( ��# �������


�� %� � �%��' �#��/�%� �'�������� $�%���' �%��'( ����#����'(
� �H� ����,����� $�/�� ���'%�%��� ������#���%� ���5�%�� ������%����5
-��$'� �� ��(��� �H� �����%������� � ���� $�%���'� 
��� � %�$� �%�
� ����%����%�� n ����$�%��� -!������ ���� �' ��� �'�� ����/�%�����
�������H����5 ������%����5 -��$�5� $�/�� �'�� �' ��5%� ���%�$!
���%���� di� ��������+,�( �����/H���'� �����������j

dTi Mdj = 0 ��� i �= j. ?���@
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B���� ���%�$� ���%���� �� ���������� ����#������ �� $�/�% �'%�
�� �� ���%������ ���� �%��%���%� � ���� �.���!�� ����#������ � ���%����
��%��'5 ��������% ������ �# &%�( ����������5� 
���� ��� ��%����5
������%����5 -��$' ���%�%���� �'�� �' � ����( ��(�/����� $���$!$�
�# �+��5 ��������5 %���� ������%� ���������%����� n ����$���'(
$���$�#���5 ����� �����/H���'( ����������5�

Ǳ!�%� ! ��� �$��%�� k ���%���� di� #���+,�( �����/H���'�
����������� ��� �����5 ������%����5 -��$'� � �!�%� %���� x0

�����%�� $���$!$�$ -!������ ��5����'$ �!%7$ ���������%�����5
������������%��5 $���$�#���� �� &%�$ �����/H���'$ �����������$�
������� � ����%���5 ��������5 %����� B����� $�/�� ���%���%� (k + 1).
5 ���%��� #���+,�5 ������������ �����/H����� �� ���$� ����'�!,�$��

3$��%�$�� �# %���� x0 �� ���%�� ∆x� ��%��'5 �� $�/�% �'%�
�����%����� � ���� ����5��5 ��$������� k ���%���� di, i = 1, . . . , k�
B����� �# &%�5 ��������5 %���� k ��# ������H�$ ����$���!+ $���$�#���+
����� �$�+,�(�� �����/H���'( ����������5� Ǳ!�%� $���$!$ -!�����
��� &%�$ ��5��� � %���� x1� B� �� ���%�� dk+1 = x1 − x0 ���������%
����� �����/H����� ������������ B����� ��%����� ������%� ����$���!+
$���$�#���+ ����� &%� � ������������ � $' ����H�$ � ���%����+� ��%����
�'�� �������� %����� !/� � k+1 ���%���$� �� �� $����$����� ��#$�/���
�������%�� n �����/H���'( ����������5 �!��% ��5����� %� ��� ��%����5
������%����5 -��$' �!��% ���%� �!%� %���� $���$!$�� � ��� -!�����
��,� � ���� ���� �!��% ������/�%� ��+ &%! ������!�!� ���� $���$!$ ��
�!��% ���%� �!%�

�� ���� ���	 �����%����� (�� $���$�#���� �� &%�$! �� ���%$! ���
������5 -!������ A ��*�$ ��!��� ��!( ����$���'( �������5 �����%�%��
&%� � $�%��� �� ����� #�$�%��� �� ��� ����*�$ ����� ����$���'(
��%��� ���$��� ��� $���$�#���� � n − 1 ���!/�'( ��$ C��������'(D
�����������( ��� %� �� �%��' ��5%� n.� �����/H����� ������������ �%��!%
����$���%����'$��

Ǳ���#����% �����%����� ������%� �(���$��%� � $���$!$! ����� �
�� ���%$� � �����%���%� %���� $���$!$��  �� -!����� !/� (���*�
��������$��!�%�� ������%����5 -��$�5�

������� &%�% $�%�� �'� �!,��%����� !�!�*�� T��U� �������%�� ���%'
$�%���� �����/7��'(  ������%�� � ����$����5 $�%���� ����%����%�� ?�$�
��#�� ���� � ����@� Ǳ� &--��%�����%� &%�% $�%�� ������$ � $�%���$
����$����5 $�%���� ����%����%��� Ǳ� ��������+ � ������������'$
������%�$ $�%��� �����/7��'( ����������5 � ����$ ������%� ��
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x

y

�bk[ar ���	j >�%�� �����/H���'(
����������5� n0.1 = 306�
n0.01 = 308� n0.001 = 360�
mini=1,100f(xi, yi) = f100(7, 241;
−1, 510) = 269, 596

x

y

�bk[ar ����j >�%�� �����/H���'(
 ������%��� n0.1 = 358�
n0.01 = 388� n0.001 = 427�
mini=1,100 f(xi, yi) = f97(0, 599;
7, 333) = 338, 565

%���!�%�� ����5��� $���$�#���� ����� ��/�� � �# �����/7��'(
����������5�

��� � � $�%��� ����$����5 $�%����� ��� �'�������� �������' ��
��������$ �����%������� -!����� � ���� ������%����5 -��$'�

F (X) = F0 + BTX +
1
2
XTAX. ?��1@

A �������� $���$�#���� �����(���% ���%������ ��!( ���%�$ ���%����
pi, ei, i = 1, 2, . . . n� A��%��� ei ��%� ������' ���%���$ pij

eTi pj = |pi| · δij · γi,
���$� %� ��

ei = Api. ?��
@

B������ ���� $' ��#��/�$ ����$�,���� �# ��������5 %���� �� ���%���$
pij

∆X =
n∑
i=1

αi
pi
|pi| ,
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%� ���!��$ #������� -!�����

F (X + ∆X) = F (X) + BT∆X + XTA∆X + 1
2∆XTA∆X =

= F (X) +
n∑
i=1

[
BTpi αi

|pi| + XTApi αi

|pi| + α2
iγi

2|pi|
]
.

A����� �%� ����$���'� αi ��#����+%��� � $���$�#�����%� $�/�� ��
��/��5 �# ��( �%������� ������ ��������%� #������� αi� �������,�� �
$���$!$!� ������#!� !������ ������%�� �!�+  ������%��

g(X + ∆X) = g(X) + A∆X = g(X) +
n∑
i=1

αi
|pi|ei = 0,

�%� ��7%

αi = − 1
γi

pTi g(X).

3��5�%�� $�%���' A $�/�� ��������%�� ������#!� ���%��*�����
�%� �#$������  ������%� �� ����$�,���� ∆X ���#��� � $�%����5 A
����!+,�$ ����#�$

∆g = A∆X

� ��� ������%����5 -��$' �� #�����% �% ��$�5 %���� X� ��/���
��������� ����$�,���� � n.$����$ ����%����%�� -��$��!�%�� ���
����5��� ��$������� ���%���� pij

∆X =
n∑
i=1

αi
pi
|pi| .

A���7$ ���(��� ������' ��� ���#������� ��$��� *� �� %� �� ���!���$

∆g(k) = g(k+1) − g(k) =
n∑
i=1

αi
|pi|Api =

n∑
i=1

αi
|pi|ei.

�%�+��

γi =
1
αi

pTi ∆g(k).

B����� $�/�� ������/�%� ���������%������%� *� ��� ��%���� ��#�����%
���%���%� ���%�$! ���%���� � �������$���� &--��%���� ��!���%��� �
$���$!$!� ����7$ ��� -!����� G ��%����5 ������%����5 -��$'�G #�
(n+1) *� �� ���5%� %���� � %���! $���$!$�� Ǳ!�%� ��� ��� �%���� k.� �
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*� � � %���� Xk �'��������� #�������  ������%� ����� g(k) � !/� �$�+%��
���%��� pi, ei, i = 1, 2, . . . , k − 1� A'����$ ���'5 ���%��

pk = −g(k) +
k−1∑
i=1

β
(k)
i pi,

β
(k)
i =

1
γi |pi|e

T
i g(k), γi =

1
|pi|e

T
i pi.

i���� γi �'��/�+% �$���� ��������� ����#������� ���%����� B���5 �'���
��&--�����%�� βi �����������% ��%� ��������%� pi � ej ��� i �= j� 
����$
���'5 *� 

∆Xk =
n∑
i=1

α
(k)
i

pi
|pi| , α

(k)
i = −C(k)

i

pTi g(k)

|pi| ,

 �� ����%��%' C
(k)
i ������� #�������' ����#�����'$� �����$�� �����$���

C
(k)
k = 0.1 ·

∣∣∣∣pTi g(k)

|pi|
∣∣∣∣
−1

.

Ǳ���� &%� � �����%�� ����(�� � ���!+ %���! � � ��5 �'������%�� �����
#�������  ������%� g(k+1) � ���%�� �#$������  ������%�

∆g(k) = g(k+1) − g(k).

=%� ��7% ��#$�/���%� �'�����%� �����/7��'5 ���%��

ek =
|pk|
α

(k)
k

·
(

∆g(k) −
k−1∑
i=1

α
(k)
i

ei
|pi|

)

� ���������� #������� ����%��%

C
(k+1)
i =

αi |pi|
pTi ∆g(k)

, i = 1, 2, . . . , k

Ǳ��������%����� �'������ n *� ��� $' ���%���$ ��� ���'
�����/7��'( ���%���� � ����!+,�$ *� �$ �����7$ %���� � $���$!$�
���� $���$�#��!�$�� -!����� G ������%����� -��$�� ������� ���
����*���%�� -!����5 �� ����%��� $���$!$ �� �!��% ���%� �!%� ����
����%� ���'� *� �� #�$���� ��� &%�$ �����.%� �# �%��'( ���%�����
Ǳ�����$� �'���� C/��%�'D �� %���� ����%��� A ����%� T��U ������ ��%��
����!+,�5 ���%���5� $�/�� �� #�$���%� ���%�� pk �� ���'5 p∗

kj
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• A'������%�� ���'5 ���%�� p∗
k� ������#!� #�������  ������%� �

���%���� ���$� k.� ��

• Q��� eTk p∗
k > eTk pk� #�$��� ����#����%��� ����� �����%�� ���'%��

#�$���%� ��! �5 ���%���

=%� ������!�� ���%�%���� %�!��7$���� � ��%  ����%��� �%� $�/�� �!��%
#�$���%� ����5.���!�� ���%���


�! �5 ��/�'5 ������ G �� �� ������,�%� $���$�#���+� �� �� !/�
�-��$������' ��� n ���%����� %� ��������5 *� �������� ��% ����(��
%���� � $���$!$� ����7$ �#$������ -!����� �� &%�$ *� � �#���%��j

∆Fk = −
n∑
i=1

Ci
(
pTi g(k)

)2
2 |pi|2

·
∣∣∣∣2− γiCi

|pi|
∣∣∣∣ .

Q��� �������� �#$������ -!����� �%�����%�� �% &%�5 ������ ����*�� ��$
�� 1

2∆Fm� $���$!$ �� ���%� �!%� Q��� �������#���� �'�� !����'$� %�
�,7 ��������%��� �� ���*��$ �� ������ �������#���� ��� ����!+,� �
�#$������ -!������ Q���

n∑
i=1

Ci
(
pTi g(k+1)

)2
2 |pi|2

<
1
10

∆Fm,

%� $���$!$ ���%��%�� ���%� �!%'$� 
������%����� $�/�� �������%��
��������� ��$��� �������' Ci � γi� 
�� ������%����5 -��$' ���/��
�'�����%��� ���%��*���� γiCi = |pi|� E%��' �������%� � � � ��������� �
%���!�$�5 %�����%�+ ∆Fm� $�/�� ��%������%�

n∑
i=1

Ci
(
pTi g(k)

)2
2 |pi|2

·
∣∣∣∣1− γiCi

|pi|
∣∣∣∣ < 1

10
∆Fm.

)��� 1���
 ��# �;&���( � �
������

A ����%� T�2U ������/�� $�%�� ���%������ ���� � �����/H���� �
����������� ��# ����$� �%����'( $���$�#���5 � C��������'(D
�����������(� Ǳ!�%� ! ��� �$��%�� ����� ������������ #������$��
���%���$ d1� ��%���� �����%�� �����/H���'$ �� ���$ ����� �������H���'$
�����/H���'$ �����������$ ?�� ���$ &%�$ �����������$ �'�� ���������
����$����� $���$�#����@� Ǳ!�%� � ����'5 $�$��%� �� �� $' ����������
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����������� d1� $' ��(������� � %���� x1 �  ������% � &%�5 %����
�'� ����� g1� #�%�$ $' ������� ����$���!+ $���$�#���+ ����� &%� �
����������� � ���*�� � %���! x2�  ��  ������% ����� g2� 3���*����%���
$�/�� �� ���%���%� ����� �����/H����� ����������� �# �$�+,�(��
���%�����

�� �� �������%�� �%� �+��� ������������ ��%� �������� �

∆g = g2 − g1,

�����%�� �����������$� �����/H���'$ � d1� A'����$ ���'5 ���%��
����������� � ���� d2 = −g2 + βd1 � ������H�$ β %���$ ����#�$� �%��'
(d2∆g) = 0� 8�����#!� %�% -��%� �%� (d1g2) = 0� ���!���$ β =
− (g2∆g)

(g1d1)
� 6��� ���� ��$���%���!�% (�� $���$�#���� �� &%�$! �� ���%$!�

Q�%��%������ ����#� �'�� ������%� $���$�#���+ �# %���� (2; 2)� %�� ���
� ��$��( ����� � �� ���%$� ����#$�/�� �'�� �' ��5%� � ��� ��$$�%����
���(���,�5 ����# ������!+ %���!� ��&%�$! �'�� �#�%� ��������� %����
(1, 5; 2)�

)��� 1���
 #� ������� ��� ���

# ��� ������

�������� $�,�'$ $�%���$� ��#����+,�$ �� ����� �%� � ����$����5
$���$�#���� ����� �'�����'( ����������5 � �� �'�����%� %���� $�%���!
�%��'( ����#����'(� � %��/� �� ����,�%� �H�� �����%�� $�%�� ����$����5
$�%���� ����%����%��� ��,�� ���� &%� � $�%��� ���%��% � %�$� �%�
$�%���� M ?�$� ��#�� ���@ ����$�%�����%�� ��� $�%�������5 %��#��
����%����%�� ����$���'(� �� ��%��'$ ���� $���$�#�����%� -!����+�
Q��� -!����� �����%�����% ����5 ������%���!+ -��$!� %� &%�% %��#��
���%����'5� � ����%����%�� $�/�� ���%�%� ����%����%��$ � ���%�����5
$�%����5� A ��,�$ ��!��� $�%���� �%��'( ����#����'( #�����% �%
%����� � ��%���5 �H� �'�����+%� ��&%�$! $�/��  �����%� � ����%����%��
� ����$����5 $�%����5�

��,�� �(�$� �� ���%$� %�����j

�� A ��������5 %���� �'������%��  ������% g0 � -��$��!�%�� ����%����
��������� ���%����� $�%���' V0 ?���#������� %���� /�� ��� � ���@�
�����$��� ������ ��������5 $�%�����
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�� A'������%�� -!����� � %���� �������� ��$� � $���$!$�

xt = x0 −V0g0. ?���@

Q��� f(xt) < f(x0)� %� %���� x1 = xt �����$��%��� � ���%����$
��!��� �������%�� ����$����� $���$�#���� � ����������� ���%���
−V0g0� � � �����%�� ����!+,�5 ������5 %���� x1 �����$��%�� %����
$���$!$� -!����� �� &%�5 ���$�5�

2� A'������%�� �$�,���� � ����������� ����5 %����j

∆x = x1 − x2.

0� A ����5 %���� �'������%��  ������% g1 � �����%�� �������#������
$�%���'

V1 = Ψ(g1,V0,g0,∆x). ?���@

Ǳ���� &%� � ��H� ���%����%�� � �� ��

6�#����'� ������%' $�%��� ����$����5 $�%���� ����%����%��
��#����+%�� � �������$ �������$ �������#������ �������������5
$�%���' V0� ~���%������ �%��' � �������� $���$�#����
��%����5 ������%����5 -��$' ����%������������ �������� #�������
�������������5 $�%���'� � � ��!��� -!����� ��,� � ���� �� ���%$ �'�
!�%�5���� � $�%���� �%���/����� ��������� #������� �������������5
$�%���'�

���� �# ����'( �������� �������#������ �������������5 $�%���' �'�
������/�� 
�������$ � ��#/� � !���,H����5 -��$� �'� ��!�������� �
����%� T�0Uj

V1 = V0 +
∆x∆xT

∆xT∆g
− V0∆g∆gTV0

∆gTV0∆g
, ?���	@

 �� ∆g = g1−g0� 
�� !���*��5 ����%' &%� � �� ���%$� ���� ���#�%�����
�������%� ����$���!+ $���$�#���+ � �� ��

9� ���%$� �� %���!+,�5 ���#�%�����5 $���$�#���� �� ��/��$ *� ��
#���H�%�� �������#������$

V1 = V0 +
(∆x −V0∆g)(∆x −V0∆g)T

∆gT (∆x −V0∆g)
, ?����@

������ ���$������ &%� � �� ���%$� �� ��H�% (���*� � ��#!��%�%�� %�� ���
#��$���%��� ����� �������� ���%� ���!���%�� ���#�� � �!�+� � %� ��
�����,���� $�%���' ���!��+%�� ����*�$��
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6�#!��%�%' $�� ��������'( �����������5 ���(���,�( �������#�����5
�������������5 $�%���' �'�� ����,��' � ����%� T��U� ����%�������
�'���' ��%���5 $' #���� ������H�$�

���#����$ �������#������ � !�������� ?���	@ ��� V1 = Ψ1(V0)�
����%��� � &%�$! �������#������ V1 = Ψ2(V0) #����'���%�� ����!+,�$
����#�$j

V1 =
(
1− ∆x∆gT

∆xT∆g
)
V0

(
1− ∆g ∆xT

∆xT∆g
)

+
∆x∆xT

∆xT∆g
. ?����@

���#'���%��� �!,��%�!�% *�����5 ����� �������#�����5�
���������$'5 ����$�%��$ αj

V1 = (1− α)Ψ1(V0) + αΨ2(V0), ?���2@

��%��'5 �����������% $���%���!+ �(���$��%� Vi � $�%���� V
������%����5 -��$' ��� #�������( α � ��%������ [0, 1]� Ǳ������#������
?����@ %�/� �������% � &%�% ����� �

α1 =
∆xT∆g

(∆xT∆g −∆gTV0∆g)
. ?���0@

�� �� #�$�%�%�� �%� α1 ���� �� �� �������% � ��%����� [0, 1]� ��
����%��� (���*� ����%��% �� ���%$� �����#�����'5 � ��� ��$$� VKJIKgj
���� �� ��������$ *� � α1 < 0� %� ������#!�%�� �������#������ ?���2@
� α = 0� � ���� α1 > 1� %� �������#������ ?���2@ � α = 1� 6��� ����
��$���%���!�% (�� $���$�#���� �� &%�$! �� ���%$! �# %���� (1, 5; 2)�

��� ������ ������%� ��(�/����� $���$!$� ��$�� �'����� ����� ���(
����$�%����'( $�%����� ������ � &%�% �� ���%$ $�/�% �*���%���� Q���
����%� $���$�#���+ �# %���� (2; 2)� %� ��� ��$$� !������� ����,��%�
�%� ��*�� $���$!$ � �������5 %���� x = (4, 898; 4, 898)� ���$� %� ��
$' ������#����� ��#$�/���%� �����%������ �'�����%�  ������%� ���� /�
������ �%� ��� ��$$� �������� �������%�  ������%� %� $���$�#���� ��H�%
 ���#�� $�������� ?���� ���2@� ������ � &%�$ ��!��� ��$$�%��� ���!*��%��
� $���$!$ ��(���%�� � �# ��������5 %���� (2; 2)�

9� ���%$ $���$�#���� $�%���$ ����$����5 $�%���� ����%����%��
(���* �,7 � %�$� �%�� ��� � � $�%��� ��+%���� #��� $�%���! V� $�/��
�������#�%� �� %����� ����/���� $���$!$� ?���@� �� � #������� -!�����
� &%�5 %����j

Fmin = F0 − 1
2
gT0 Vg0. ?����@
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x

y

�bk[ar ����j >�%�� ����$����5
$�%���� ����%����%��� Ǳ�� ��$.
$� VKJIKg � �����%������$
�'��������$  ������%��
n0.1 = 87� n0.01 = 101�
n0.001 = 111� mini=1,100 f(xi, yi) =
f98(−5, 661;−4, 244) = 0, 013

x

y

�bk[ar ���2j >�%�� ����$����5
$�%���� ����%����%��� Ǳ�� ��$$�
VKJIKg � ��������5 ������5
 ������%�� n0.1 = 242� n0.01 = 272�
n0.001 = 309� mini=1,100 f(xi, yi) =
f100(7, 335; 0, 184) = 321, 686
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=%! ��#$�/���%� $�/�� ������#���%� ��� �'����%�� ���%���� ���%�/����
$���$!$��

)��� " ��� �� ��(�;
���� ��������

A� ���( ����$�%����'( �� ���%$�( $' ��������� %����� �������
�$�,���� �# ����%���5 %���� � ����!+,!+ � �����$ �� ����$�%������
���%���5 ��������� &%� � �%��������� � ��������� i����� �����%��
��%���������5� � � %�!��'( ��!���( �+��5 �� ���%$ $�/�% �*���%����
A�.����'(� ���� ���#! ��#����%� ��� ���(��� � ����( $���$�#����j
������#���� ��������% $���$!$� � #�����'$� ���!���$� �� ��/��$!
����������+ ��� ������#���� $���$!$� � ��������'$ �%��������$
-!����� � ��5�����5 %���� �% $���$����� � #�������� A #�����(
��%�$�����5 ������ ����$�%���� ��� �!��% ����� ����*�� ����(���$
�%���5 ���%���5 " �� ���!�%�$�$! �%�������+ -!����� �% $���$!$��
Q����%����'5 ������% �����#���� %��� � ���%���� " �����%� #�
�#$������$� -!����� � �������� $���$�#����� � ���� �� #������$
�������%�� �%��������'( *� �� ������ �#$������ -!����� �� ����'����
#�����'5 !������� %� ���%�%� $���$!$ ��5����'$� 
������%����'�
��#$�/���%� ������%����+% �� ���%$'� ����#����,�� �����!
�������������5 $�%���' � �������� $���$�#����� B� �� �$��%��
��#$�/���%� ������%� �������#����� #������� -!����� � $���$!$� �
��5�%��%����'$ #�������$ -!����� � &%�5 %�����

3���!�% ��$��%�� �%� ���%���5 ��(�/����� $���$!$� $�/�% ����%�
���5� ��&%�$! ����#�� �������%� ��������� ��������� $���$�#���� �#
��#�'( �������'( %�����

)��! Ǳ���� ���.������� ��������

A�� ����$�%����'� �� ���%$' ��#����+% ��5%� ����5.���� �������'5
$���$!$� E�,� ��� �� ������� �����%�����% ��%����  �������'5 $���$!$�
%��� ���$���*�5 $���$!$ �# ���( �������'(�

9� ���%$� ���H�/�� � ������  �������� � $���$!$� �� ��5�����
A ����%� T�1U ������/�� ������ �'���� ���'( �������'( %����
��� ���������%����'( ���'%�� ��5%� ���'5 �������'5 $���$!$ G
������ ��%�� ��(���!+ %���! ��� ������ ���� � $���$!$� �'����%� ��
���$�5 ������ �������+,�5 %���� ����� ��5����'( ��!( �������'(
$���$!$��� >���� &--��%�����%� %��� � �� ���%$� ��������� %�� ���
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��������/����� �%� �������'� $���$!$' C�'�%����'D �� ���$�5 ������
�� �� �H�$ �� �����'���%��� (�%� ��� ����%��'( -!����5 &%� $�/�%
���#�%��� � ����������'$� �� $���� �������%���'$ $�/�% ���#�%���
� ����%� ��!��5�'5 �'��� ��������5 %���� � *�����$ ��#�����$ ��
���$ ����$���'$� ���$� %� �� ��% ������ � ������/����� �� �� ����!�%
������,�%� ����� ���'( �������'( $���$!$���

<���� ��%�����'5 ������ ������/�� � ����%� T�
U� Ǳ!�%� $' ��*��
����%��'5 �������'5 $���$!$ x1 � �$��$ �����! $�%���' �%��'(
����#����'( M � %���� $���$!$�� ����#!�$ ����$� �%����!+ -!����+

f1(x) =
2[f(x)− f(x1)]

(x − x1)TM(x− x1)
. ?���1@

Ǳ� ���%�����+ ����5 -!����� $' C�'��+����D ��5����'5 $���$!$�
��&%�$!� ���� � ��#!��%�%� $���$�#���� f1(x) �!��% ��5��� ��! �5
$���$!$ � x2� %� &%� $�/�% �����%����%����%� � ������� ��! � �
�������� � $���$!$� -!����� f(x)� ��%��'5� ������� ����H�%�� !%����%��
������� $���$�#���+ f(x) � %���� x2� A ��!���� �� �� f1(x2) < 0� !���(
� ������ ���� � �������� � $���$!$�  ����%������� %�� ��� &%� �#�����%
f(x2) < f(x1)� =%�% ������� ������ ���'( �������'( $���$!$�� $�/��
������/�%� � ����*�� �� ��� ��� ��� ��% ���%����� ��� ��������� &%� �
���������
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=������$��%' � -�#��� &��$��%���'( ���%�� ���%� �������%�� ���
����������� �������� � ����$�%�� ����5.���� %����%������5 $������
6���$�%��$ ������� ��,�5 ���(�� � &%�5 #������

*�� 1���
 ������������� # ��
�#�
�.��

Ǳ!�%� ������������� �����%���%�5 �� #�������$ �������� �#$����$'(
� &������$��%�� #�����% �#���%�'$ ����#�$ �% ����$� � ����$�%��
αj dW = f(x, α) dx� 4!����� f(x, α) ��#'���%�� -!�����5
�������������� 6���$�%��$ ����%��!+ �����! ����$�%��� ����+,!+��
-!�����5 �#$�����'( ������� y(x)� ��������� �%� ���� ���%���%� &%�%
&������$��% $�� ����%�� � ���#$���'( !������(� %� #������� �������
y �!�!% ���.%� �����������' ����! ��%���� � #������� ����$�%�� α�
Q��� ������� #������� ������ ����$�%�� ��������% � ��%���'$ #�������$
����$�%��

�	�
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∫
y(x)f(x, α) dx = α, ?1��@

%� ������ ��#'���%�� ���$�,H����5� ������ ����$�%�� ��#'���%��
/�/0�&0�
���
� ���� ��� !��������� �%�%��%��� ������ ����$�%��
�(���%�� � ��%����$! #������+ �� �����%���%�� %� �� ��� �+�'( $��'(
������� δ > 0� ε > 0 ��5�7%�� N %����� �%� �����%���%�

P (|y − α| > δ) < ε

��� �+�� � n > N � �������%�� ��#$�/�'( ���$�,H���'( � ���%��%����'(
������ ��� ����� � ����$�%�� ��7 �,7 ������� ������ ����� ��( ��%�
������� ��%��'� ��+% ���$���*�5 ��#���� D(y) #������5 �%����%�����
��%���� � #������� ����$�%��� B���� ������ ��#'��+%�� &--��%���'$��

Ǳ������ $����$����� � ������������� ��#�����% ���!��%�
���$�%�%������ ?��� ����*�5 �%�%��%���@ ���$�,H���!+� ���%��%����!+
� &--��%���!+ �����! T��� ��� ��U� A ���%��%�%��� � &%�$ ��������$
����(���$� ��5%� #������� ����$�%�� α� ��%���� ��� �#$�����'(
#�������( x �����������% $����$!$ -!����� ������������� f(x, α)� ��
����%��� ��,� ������#!�%�� �� ���-$������� -!����� �������������

L(x, α) = − ln f(x, α).

A ���%��%�%��� � �����������$ ����(���$� ����%� $���$!$ -!�����
L� Ǳ���� $���$!$� �����%������$� $�%���$� ���%� ����#$�/�� ���
����� #�%�!��H��� � &%�$ ��!��� ���(���%�� ���$���%� �������'� $�%��'
$���$�#���� �� =A>� ����$�%����'� � ��#�� ��

A &������$��%����'( ��#!��%�%�( �����%� ��� �� �������%�
�%�%��%�����!+ � ���%�$�%�����!+ �*���!� 
�� ���!�����
�%�%��%������5 �*���� ��#!��%�%� ���$����%�� ����!+,�5 $�%��� Ǳ!�%�
� ��#!��%�%� $���$�#���� ���!���� #������� min

α
L(x, α) = L(x, α0) = L0

?���� 1��@�
Ǳ�����H�$ %����� �� !����� L0 + 0, 5  ���#��%����!+ ���$!+�

��������+,!+  ��-�� -!����� ������������� � ��!( %����(� ��%��'�
��������% 1�p.5 ������%����'5 ��%������ 
�! �$� �����$�� �
�����%���%�+ 1�p ��%����� #������� α �����/�%�� � ��%������ (α0 −∆1,
α0 + ∆2)� E��%� ��#!��%�% &������$��%� #����'��+% � ����

α = α0
+∆2

−∆1
.
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∆
2

0L

L +0.50

1
∆

α
α

0

�bk[ar 1��j �����������
������%����� � ��%������
��� ������ ����$�%�� α ��
�� ���-$������5 -!�����
�������������

;���#��%������ ���$��

�� !����� L0 + 0, 5�
��������+,��  ��-��
-!����� ������������� �
��!( %����(� ���������% 1�p.
5 ������%����'5 ��%������
6�#!��%�% &������$��%�
#����'��+% � ����

α = α0
+∆2

−∆1
.

A $�%��� $����$!$� ������������� � ������%����'$� ��%������$��
���!����'$� ��  ��-��! -!����� �������������� ��%� ���$�� ����� ��
� �������������$ ;�!���� Q��� $' �������  ���#��%����!+ ���$!+ ��
!����� L0+∆L� %� ���!���$ ��%����� #������5 α � %���$ !�����$ ��������
� ����5 �����%���%�+ ��!��5��� �������� ξ� ���������H����� �� #����!
;�!���� �������% � ��%����� (ξ0 −

√
2∆Lσ, ξ0 +

√
2∆Lσ)� Q��� �$�+%��

%�����' ���  ��-��� Pn(χ2) ?�$� ��#�� ���@� %� !������ ������� C.L. ?P^\.
{er\vr hrzr_@ $�/�� �'�����%� ����!+,�$ ����#�$j C.L. = 1 − P1(2∆L)�

�5�%��%������ ��� �%�����%�� � ��!��� ∆L = 0, 5 ���!���$ C.L. =
1− P1(1) = 1− 0, 3173 = 0, 6827�

A ��!���� ���� � %����%������5 $����� ��������� �������'( ����$�%����
%� ������� ��(�/����� ��%�$�����5 ������ � ������%����� � ��%������
���� � �# ����$�%��� ��%�+%�� ���/��$�� %����� %����� -!�����
������������� #�����% �% ���������( ����$�%���� � � ��8��
 0�%��

9 �'��� L(α) '���:�* ; ����;���$�& ���� ������<� ���0� ;� �/��

/��$���=� ;� ���0 ��� � ��� α�

���� �$�%� � ���!� �%� ��� ������� ���������( ����$�%��� $�����
�( &������$��%����'� ������ $� !% �$�%� #����%����'� �%�%��%�������
����������� 
�� !�H�%� &%�( ���������5 � �����$ ������/���� ���%�%����
#��%� &��$��%' �������������5 $�%���' � $���$!$� �� ���-$������5
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-!����� �������������� Ǳ�� ����%��'( �������( ��������5 $���$�#����
?�$� ��#�� �@ ������ �������������5 $�%���' ����#����%�� ���!%��
��� ������ $���$!$�� A ����%'( ��!���( $�/�� ���!��%� �����!
�������������5 $�%���'� ��%���� ����� ����%��5 $�%���� � $�%����
�%��'( ����#����'( �� ���-$������5 -!����� ��������������

Q��� ����(���$ ����� ����'5 !�H�% ���������5 ��� �'��������
����%���5 -!����� R(α, β, . . .) �% ��������$'( ����$�%���� %� ��$'5
����%�5 � ���H�/�'5 ������ #���+���%�� � ����!+,�$� ���� ����+��%�
�# ������ ����$�%��� $����� ���� �# ����$�%���� �'��#�� � � #�������
� ��,�$ ���� ����# #������� -!����� R � ��%����'� ����$�%�'� Ǳ����
&%� � R �%���% ����$ �# ����$�%��� $������ �� �������� �������'� �����
��5�%��� � -!�����5 �������������� $' ���!��$ ��������'� ������
������%����� � ��%������ ��� -!����� R� Ǳ�����H�$ ��� ����%'( ���$����

Ǳ����� �� Ǳ!�%� $' ������� ��������� ��������'( �#$�����5 ����5
� %�5 /� �������' � ���!���� ����� &������$��%����'( #������5 xi, i =
1, . . . , N � Ǳ������� ��%��� �%� �������� x ������������ �� #����! ;�!���

dW =
dx√
2πσ0

exp [− (x− a0)2

2σ2
0

], ?1��@

 �� a0, σ0 G ����$�%�' �������������� 3��%�����$ -!����+
�������������j

f(x1, x2, . . . , xN , a, σ) =
exp

(− N∑
i=1

(xi−a)2
2σ2

)
(
√

2πσ)N
?1�2@

� �� ���-$�����!+ -!����+ �������������

L(x1, x2, . . . , xN , a, σ) =
( N∑
i=1

(xi − a)2
2σ2

)
+N ln(

√
2πσ). ?1�0@

��(��� ���%�!+ ����#����!+ ∂L
∂a � ����������� �H� � �!�+� ���!���$

�����! ����$�%�� aj

a =
1
N

N∑
i=1

xi. ?1��@

�� �� �������%�� �%� &%� ������ �����%�� ���$�,H����5� %� �� < a >= a0�
6�*�� !�������� ∂L

∂σ = 0� ���!���$ �����! ��� σj
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σ2 =
1
N

N∑
i=1

(xi − a)2 =
1
N

∑
x2
i −

( 1
N

N∑
i=1

xi
)2
. ?1�1@

Ǳ������� ����#'���%� �%� &%� ������ ���!���%�� �$�,H����5� %�� ���
< σ2 >= N−1

N σ2
0 � Ǳ������ ���$�%�%������ &%� ������ ��H� /� ���$�,H�����j

lim
N→∞

< σ2 >

σ2
0

= 1. ?1�
@

A�������$ �������%����� � $��/�%��� N
N−1 ������ ?1�1@ ������,��%��

� ���$�,H���!+j

σ̂2 =
N

N − 1
σ2 =

1
N − 1

N∑
i=1

(xi − a)2. ?1��@

A'�����$ $�%���! �%��'( ����#����'(

M =

∂2L
∂a2

∂2L
∂a∂σ

∂2L
∂a∂σ

∂2L
∂σ2

=

N
σ2

2
σ3

∑N
i=1(xi − a)

2
σ3

N∑
i=1

(xi − a) 3
σ4

N∑
i=1

(xi − a)2 − N
σ2

⇒

⇒

N
σ2 0

0 2N
σ2

?1��@

����%��� � ��5 �������������� $�%����

V = M−1 =
σ2

N 0
0 σ2

2N

?1��	@

���������% ��������+ ������ ��/�� � ����$�%�� � ���������+ ?� �����$
��!��� ���������� ����� �!�+@� ������%����� $�/�� �'����%� ������
����$�%��� � �*����$�j

a =
1
N

N∑
i=1

xi ± σ√
N

� σ =

√√√√ 1
N − 1

N∑
i=1

(xi − a)2 ± σ√
2N

. ?1���@
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Ǳ����� (� Ǳ!�%� $' �� ��%���!�$ ����� ���'%�5 ni � %����( xi�
i = 1, . . . , k� ����H�$ ��� ����%�%' ���$�$ xi = x0 + ih� 
��!�%�$�
$�%�$�%������� �/������ ����� ���'%�5

< ni >= b0 · exp [− (xi − a0)2

2σ2
0

]. ?1���@

B���!�%�� ���!��%� ������ ����$�%��� a0, b0, σ0� ��%��'� ����� $'
�!��$ ���#����%� %�$� /� �!���$� ��# ���������

Ǳ������� ��� �%� ���'%�� ��#�����$' ��! �% ��! �� ���!��$� �%�
������������� � ��/��5 %���� xi ��������%�� #����! Ǳ!������

W (ni) =
< ni >

ni

ni!
exp [− < ni >].

B� �� �� ���-$�����!+ -!����+ ������������� $�/�� #�����%� � ����

L =
k∑
i=1

[< ni > + ln(ni!)− ni ln < ni >]⇒
k∑
i=1

[< ni > −ni ln < ni >]. ?1��2@

i���� �%���*��� ��� ��$�� ln(ni!) ��� �����$ �� #�����,�� �% ����$'(
����$�%����

A'������ ���%�'� ����#����'� �� ���$ %�H�$ ����$�%��$ � ���������
�( � �!�+� ���!��$ ���%�$! %�H�( �� ����������( !�������5 ���
����������� ��%�$����'( ������ ����$�%��� a, b, σj

∂L
∂b = 0⇒

k∑
i=1

{exp [− (xi−a)2
2σ2 ]− ni

b } = 0,

∂L
∂a = 0⇒

k∑
i=1

{(b exp [− (xi−a)2
2σ2 ]− ni)xi−a

σ2 } = 0,

∂L
∂σ = 0⇒

k∑
i=1

{(b exp [− (xi−a)2
2σ2 ]− ni) (xi−a)2

σ3 } = 0.

?1��0@

���$�%�� �� %� �%� &%�% ���$�� �� ���/���%� !�%!���% %�����'$
#�����$ � ������%�� &������$��%����'( ����'(� %�$ �� $���� ���������
�%� �����%������� ��*���� ���%�$' ?1��0@ ����#$�/��� ������ ����
�����%� ���!,����� �%� h � σ0� |a0 − x0| 
 σ0� |x0 + k h − a0| 

σ0� %� ����%��'� �!$$' ����#� $���$!$� L �����(� ��������$��!+%��
��%� ����$�



4��� "�!�� "�& �"�.6��'� Ǳ�����Ǳ���8�( ���

k∑
i=1

exp [− (xi−a)2
2σ2 ] = 1

h

k∑
i=1

h exp [− (xi−a)2
2σ2 ] ≈

≈ 1
h

+∞∫
−∞

exp [− (x−a)2
2σ2 ] dx =

√
2π σh ,

k∑
i=1

(xi − a) exp [− (xi−a)2
2σ2 ] ≈ 0�

k∑
i=1

(xi − a)2 exp [− (xi−a)2
2σ2 ] ≈ √2π σ

3

h ,

?1���@

�%� ��#�����% �!,��%����� !����%�%� ���%�$! ?1��0@ � ������%� �����#
�������������5 $�%���'j

√
2π σh − 1

b

k∑
i=1

ni = 0�
k∑
i=1

ni(xi − a) = 0�

√
2π bh − 1

σ3

k∑
i=1

ni(xi − a)2 = 0.
?1��1@

A���� ���#������� N =
k∑
i=1

ni� ���!��$ ��*���� ���%�$'

a =
1
N

k∑
i=1

nixi� σ =

√√√√ 1
N

k∑
i=1

ni(xi − a)2� b =
hN√
2πσ

. ?1��
@

�����! $�%���' �%��'( ����#����'( $�/�� �!,��%����� !����%�%��
���� ��������/�%�� �%� &������$��%����'� �#$������ ���#�� �

%����%������$! �������+ �
k∑
i=1

ni(xi − a)2 ≈
k∑
i=1

< ni > (xi − a)2�


�� ����%�-������ �%������ � �%��� $�%��� �!��$ ���%�%�� �%� ���%��
����$�%��� $����� �$��% � �����%�� ����( ��$�����%�� (a, b, σ)�

M =

N
σ2 0 0

0 N
b2

√
2π
h

0
√

2π
h

3N
σ2

� V = M−1 =

σ2

N 0 0

0 3b2

2N − h
2
√

2π

0 − h
2
√

2π
σ2

2N

. ?1���@

B����� $' $�/�$ ��������%� ��#!��%�%' ?1��
@ �$��%� � ������5
�*����j
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a = 1
N

k∑
i=1

nixi ± σ√
N
� b = hN√

2πσ
× (1±

√
3

2N )�

σ =

√
1
N

k∑
i=1

ni(xi − a)2 × (1± 1√
2N

).

?1���@

A ����$�%�����$�$ ���$��� �������������� $�%���� ���!������
����� ��������� >�/�� ���#�%�� �%� $�/�! ����$�%��$� b � σ
�$��%�� �%����%������ ����������� Ǳ��$�%��$� ��� &%� ���#'���%�� ��
�'�������� �*���� �������� ����+,�(�� -!�����$� �������H���'( ��$�

����$�%���� 
��!�%�$� �%� ��� ��%����!�% �������� S =
√

2πσb
h ?C���,���

��� �����5D@� ��� ������%�%� �����! &%� � ����$�%�� � �*���! ��
��#!��%�%�$ &������$��%�� ��%�$������ ������ ����$�%�� S ���!���%��

����%������5 ������ ����$�%��� � -!����+j S =
√

2πσ
h

hN√
2πσ

= N �

������ ����������� �������%� �%����%����!+ �*���! &%� � ����$�%���
��� �%����%����!+ �*���! ����#������� ��#�����$'( ��!��5�'( �������
" ������ ������%�'5 �# �!$$' ������%�� �%����%����'( �*����

∆S
S
�=

√√√√(√
3

2N

)2

+
(

1√
2N

)2

=

√
2
N
.

Ǳ��������� ������!�� ������#������ �������������5 $�%���'
����!+,��� Q��� $' ���#����$ α1 = a� α2 = b� α3 = σ� � ���'5
����$�%� S = Ψ(α)� %� ��������� S � �����$ ������/���� �����

D(S) =<(S− <S>)2>=
∑
j,m

vjm
∂Ψ
∂αj

∂Ψ
∂αm

. ?1��	@

Ǳ��$���� -��$!�! ?1��	@ � ��*�$! ��!��+� ���!���$

D(S) =
3b2

2N
· (
√

2πσ
h

)2 − 2 · h

2
√

2π
·
√

2πσ
h
·
√

2πb
h

+
σ2

2N
· (
√

2πb
h

)2 = N.

�%�+�� ��� �%����%�����5 �*���� ���!���$ 1√
N
� 8%��� �*������

�������� �� ����������5� ���!���$ �%����%����!+ �*���!
√

2
N � � � !�H�%�$

���������� " 1√
N
�
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*�� 1���
 �������4�( ���
 ����

E��%�'$ ��!���$ $�%��� $����$!$� -!����� ������������� $�/��
����$�%����%� $�%�� ���$���*�( ������%��� Ǳ!�%� � ���������( %����(
xi� i = 1, . . . , k ����#�����' �#$������ ����%���5 �������' yi � �#���%�'$�
�*����$� σi� Ǳ������� ��$� �%� ������������� �#$������5 �������'
�%����%����� %���� � #������� y(xi, α1, α2, . . .)  �!������ ����$�%�'
α1, α2, . . . ���� ��������%� �� ��#!��%�%�$ &%�( �#$�����5�

�� ���-$������� -!����� ������������� ���!���%�� �����5

L = − ln
{

k∏
i=1

[
1√

2πσi
exp [− (yi − y(xi, α1, . . .))2

2σ2
i

]
]}

=

=
k∑
i=1

[
[yi − y(xi, α1, . . .)]2

2σ2
i

+ ln [
√

2πσi]
]
.

?1���@

�%������ �� #�����,�� �% ����$'( ����$�%��� αi ��� ��$'� ln [
√

2πσi]
� !$��/�� ��+ -!����+ �� �� ���!��$ $���-���������!+ -!����+
�������������

L̃ =
k∑
i=1

[
[yi − y(xi, α1, . . .)]2

σ2
i

]
, ?1���@

$���$�#���� ��%���5 �������% � %�$ /� ��%�$����'$ ����$�%��$� �%�
� $���$�#���� L� F��� ��%�$�#���� ����$�%��� �$��% #���� �� ����'5
�$'�� " ���� �������%� %���� ����$�%�' αi� �%��' $���$�#�����%� �!$$!
������%�� �%�������5 ?���$�������'( �� �*����@ ��#!��%�%�� �#$�����5
�% %����%������5 �����5� Ǳ�� ������ �*���� ����$�%��� ��  ��-��!
-!����� L̃ �� ���� #��'��%� � ����������$ $��/�%��� �� ��������! 1�p.5
������%����'5 ��%����� ���������%�� �� !����� +1 �% $���$!$� -!�����
L̃�

Ǳ������ Ǳ�������' �#$������ �������' yi � ���� %���� xi, i =
1, . . . , k � �*����$� σi� B���!�%�� ������%� ���$!+ ����!�*�$ ����#�$�
Ǳ��$�� ���/�� ����#����� #�����%��� ��!$� ����$�%��$�� A'����$
����$�%��#���+ ���$�5 � ���� y(xi, b, c) = b · (xi − a) + c�  �� ����%��%�
a �� �����%�� ��� ����$'$ ����$�%��$� �H� #������� $' �'����$ ��#����
�# ������/���5 !����%�� -��$!�� >���$�#��!�$�� -!����� #���*�%�� �
����
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L̃ =
k∑
i=1

1
σ2
i

[b · (xi − a) + c− yi]2 . ?1��2@

������� $���$!$� -!�����j

∂L̃
∂b = 0⇒

k∑
i=1

xi−a
σ2

i
[b · (xi − a) + c− yi] = 0,

∂L̃
∂c = 0⇒

k∑
i=1

1
σ2

i
[b · (xi − a) + c− yi] = 0.

?1��0@

�� �� #�$�%�%�� �%� ���� $' �'����$ ����%��%! a �# !������∑
(xi − a)/σ2

i = 0,

%� ���%�$� !�������5 ?1��0@ �!,��%����� !���,��%�� � ����$�%�'
b, c �%�����%�� �%�%��%������ ��#�����$' ?�������������� $�%����
��� �������@� A ��#!��%�%� ���!���$

a =

k∑
i=1

xi
σ2
i

k∑
i=1

1
σ2
i

� c =

k∑
i=1

yi
σ2
i

k∑
i=1

1
σ2
i

± 1√√√√ k∑
i=1

1
σ2
i

�

b =

k∑
i=1

yi
σ2
i

(xi − a)
k∑
i=1

(xi − a)2
σ2
i

± 1√√√√ k∑
i=1

(xi − a)2
σ2
i

.

?1���@

*�� <� �
����� ,��#� ����������(

 ����������

Ǳ!�%� ��������� ��������� �#$�����5 ����5 � %�5 /� �������' �
��#�'$� �*����$�� B���!�%�� !������%� ��#!��%�%' &%�( �#$�����5�
A &%�$ ��!��� y(xi, α) = α� Ǳ�����H�$ ���!%�� ���$�� ���$�,H����5

������ ����$�%�� α̂ = 1
k

k∑
i=1

yi� ��%���� �� �����%�� &--��%����5� �� ��

�������%�� �%� ������� #������� &%� � ����$�%�� �����%�� ��������'$�



4�/� � �������� 5& Ǳ���"��!�.6�*3 ��)�.6!�!�� ���

�� ��������� D(α̂) = 1
k2

k∑
i=1

σ2
i ����'*��% ��������+ ��%�$�����5 �������

��%��!+ $' ��5��� ���!��$� Ǳ���������� � �!�+ ���%�!+ ����#����!+
∂L̃
∂α � �'������ ������������!+ $�%���! ��� ���!����� �*���� ����$�%���
���!���$ ���$�,7��!+ � &--��%���!+ �����!

α =

k∑
i=1

yi

σ2
i

k∑
i=1

1
σ2

i

± 1√
k∑
i=1

1
σ2

i

. ?1��1@

B����� $' $�/�$ ������%� ��������� ��!( ������j

D(α̂)
D(α) =

1
k2

k∑
i=1

σ2
i

1
k∑

j=1
1

σ2
j

= 1
k2

(
k∑
i=1

σ2
i

)(
k∑
j=1

1
σ2

j

)
= 1

k2

(
k +

∑
i<j

[
σ2

i

σ2
j

+ σ2
j

σ2
i

])
≥

≥ 1
k2

(
k +

∑
i<j

2

)
= 1.

?1��
@
�� ��� �� ��!��5�'� �������'� !���%�!+,�� � �#!���$�$ ���������

�$�+% ;�!����� ������������� �����%���%�5� A %���( ��!���(� ��'����
 �����' ������%����� � ��%������ ����$$�%����' �%���%�%����� ������
����$�%��� � ��#!��%�% �#$������ �����%�����%�� � ����

x = a
+σ+
−σ− ,  �� σ+ > 0, σ− > 0. ?1���@

A &%�$ ��!��� ����$�%������ �'*� ������!�� !��������� �� $�/�%
�'%� ������#������ A������' �*���� ��������+% � ����%���5 �%�����+
%�����%� #�����$��%� -!����� ������������� �% ����$�%��� B�������
#�����$��%� -!����� ������������� ����#� $���$!$� " ��������� �������
���$$�%��� �*���� ���������% �������� ����!+,� � �������� ��������
����%�� � ���7/��� $����� -!����� ������������� � ����$$�%����'$�
�*����$� $�/�% �'%� ��#���� �� ����� �� � ������!��5 ������ ������ �
#������� Ǳ!�������� ������������� �� �������%��$! �#$�����+j

L ∼ a1 · x+ a2 · ln (x+ a3) . ?1���@


�� %� �� �%��' &%� -!����� �$��� $���$!$ � %���� x = a� �����
����$�%��� ����!�% $���-�������%� ����!+,�$ ����#�$j
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L =
1
b
· [z · (x− a)− ln (1 + z · (x− a))] , b > 0. ?1�2	@


�� ��(�/����� ��&--�����%�� b � z ���� ��*�%� ���%�$! !�������5j{ 1
b · [z · σ+ − ln (1 + z · σ+)] = 1

2 ,

1
b · [−z · σ− − ln (1− z · σ−)] = 1

2 .
?1�2�@

Ǳ���$���'� ��#����+%��� � ��� ����������� ����$�%�� z ���� ��*�%�
!��������j

z · (σ+ + σ−)− ln
1 + z · σ+

1− z · σ− = 0. ?1�2�@

Ǳ�� σ+ �= σ− ��*���� z = 0 �����%�� ��/�'$� 
�! �� ��*����
�� �� $�/�% �'%� ��5���� �������'$� $�%���$�� Ǳ�� σ+ > σ− ��*����
��(���%�� � ��%������

1
σ−
− 1
σ+

< z <
1
σ−

,

� � ��!��� σ+ < σ− G � ��%������

− 1
σ+

< z <
1
σ−
− 1
σ+

.

Ǳ���� ����������� z ����$�%� b $�/�% �'%� ��5��� �# �+�� � �# ��!(
!�������5 ���%�$' ?1�2�@�

Ǳ�� ���#��( #�������( σ± ����$�%�' z, b �%��$�%�� � �!�+� � ��*����
$�/�% �'%� ��5���� �!%7$ ��#��/���� � ��� �� ���-$��j

z =
3
2
· σ+ − σ−
σ2

+ − σ+σ− + σ2−
; b =

9
8
·
(
σ2

+ − σ2
−
)2 (

σ2
+ + σ2

−
)

(
σ3

+ + σ3−
)2 . ?1�22@

��%�!��� !����%���� �%� ��� $��'( z -!����� ������������� ?1�2	@
������,��%�� �

L ≈ z2 · (x− a)2
2b

=
(x− a)2
σ2

+ + σ2−
≈ (x− a)2

2σ2±
?1�20@

B������ �� �� $' ������%�!������� ��� ��/�� � &������$��%����� �
��#!��%�%� ��� -!����� ������������� � ����%���5 %�����%�+� $�/��
������#���%� �!$$���!+ -!����+ ������������� ��� ���!�����
!�����7��� � ��#!��%�%�� �������� �������� � ��(�/����� $���$!$�
-!����� ����5 ����$����5 � �����5 !�������� L(x) = Lmin + 1/2 ��
���%�����% %�!����%�5�
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*�! Ǳ ��� ������
� ���� �$���� #� ���� �

Ǳ!�%� ! ��� ��%� ������������� ���'%�5 �� ����%���$! ����$�%�! m�
����'���$�� -!�����5 �������������

dN
dm

= F (m) · f(m), 0 < m <∞, ?1�2�@

 �� f(m) G �#���%��� -!������ ���� ���!��%� �����! ������ � #�������
���#���%��5 -!����� F (m) �� ����%���$ ��%������ (a, b)� �$�� $�����
���'%�5 ���%�%���� ����*� � ��R7$� n�

������%��� ��� $�/�� �'�� �' ���%�%���� ����%� ������%� �����!
�%�����%�'$� $�%���$� ��# �!,��%����'( !���,���5 ��� ���!,���5�
����*� �' ����%� ����$'5 ����$�%� � -��$!�!� ����'��+,!+
������������� �����%���%�5� ���%���%� -!����+ ������������� � $�%���$
$����$����� � ������������� ������%� �����! &%� � ����$�%��� �������
��� �����%� &%� � �����$ ���$��� �� ����� ����%���

A���7$ ����$� �%����'5 ����$�%�

ρ =

m∫
0

f(ξ) dξ. ?1�21@

B�� ��� -!����� f(m) ����/�%������� %� #�����$��%� ρ � m �#��$��
����#������ �

dρ
dm

= f(m). ?1�2
@

6������������ ���'%�5 �� ����$�%�! ρ ����'���%�� -!�����5

dN
dρ

=
dN
dm

/
dρ
dm

= F (m). ?1�2�@

��� ��%����!�% ������ ������ � #�������

R =
1

b− a

b∫
a

F (m) dm =
1

b− a

ρb∫
ρa

F (m)
dρ

f(m)
?1�2�@

6���$�%��$ ������� #�������

<
1

f(m)
>=

ρb∫
ρa

1
f(m)

· dN
dρ

dρ

/ ρb∫
ρa

dN
dρ

dρ =
b− a
Nab

· R. ?1�0	@
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�%�+��

R =
Nab
b− a <

1
f(m)

>, ?1�0�@

 �� ���#������ Nab G ����� ���'%�5 � ��%������ a < m < b� A���7$
�������%����'� ���#�������

µ1 =
1
Nab

∑
a<m<b

1
f(m)

, µ2 =
1
Nab

∑
a<m<b

[
1

f(m)

]2

. ?1�0�@

���%'���� �%�

<
1

f(m)
>= µ1 ±

√
µ2 − µ2

1

Nab
, ?1�02@

���!���$

R =
Nab ±

√
Nab

b− a ·
⎡
⎣µ1 ±

√
µ2 − µ2

1

Nab

⎤
⎦ =

Nab · µ1

b− a ·
[
1±

√
µ2

µ1

√
Nab

]
. ?1�00@

i���� ��������� ������%����� ���/���� �%����%����'( �*���� �% ��!(
��%�������j -�!�%!���� ����� ���'%�5� �����*�( � ��%����� a < m < b�
� &--��% ��!��5�� � ����������������� ���'%�5 �� ����$�%�! m ��!%��
��%�������

*�) "�������%�����  ������ ��$�� ��.����

A &������$��%�( �� -�#��� &��$��%���'( ���%�� ���%� $�/��
���$���%� ������!�!� ��#'���$!+ C����$�%������5 ������%�!����5D�
��%���� ��#�����% !�!�*�%� &��� �%������� � ! ����� ��#��*����
��%��%���� 4��$����� ������!�! ����$�%������5 ������%�!���� $�/��
�����%���%� ����!+,�$ ����#�$�

Ǳ!�%� � ��%��%��� ��� ����� � ���'%�� �#$���� �����
&������$��%����'( ������� xi, i = 1, 2, . . . , n ?�$�!���' ���%��� ! �'
� %���@� 
�� ��/��5 �# &%�( ������� �#���%�� �*���� �#$������ ����
� ����� ��,�$ ��!���� ������������� �����%���%�5 �� �%�������+ �%
��%���� � #�������� ���#����$ ��%���'� #������� &%�( ������� ����# αi�
Q��� ���'%�%��� �����%� &%� ��%���'� #������� $�%���$ $����$����� �
������������� ��� ���$���*�( ������%��� ����� �� ���-$�����!+
-!����+ ������������� ��� χ2j

L(x1, x2, , . . . , xn;α1, α2 . . . , αn), ?1�0�@



4�:� &���"�!�1� &�( ��&�� !��&��(  �8*!�- ���

%� � ��#!��%�%� $���$�#���� &%�5 -!����� �� ����$�%��$ αi $'
�� ���!��$ ���� � ���� � " ��*���� �!��% αi = xi� 3�%!����
$����%��� ���� $�/�! &%�$� ��%���'$� #�������$� �!,��%�!+% �����.
���� ���#�� ���������$'� #�����$� ��(������� &��� ��.�$�!���� ���
�������$ ���$�/!%���'( ���%������'( ���%�� � �#���%��5 $����5� A
��,�$ ���� &%� ���#� $�/�� ����%� ����!+,�$ ����#�$j

Fj(α1, α2, . . . , αn) = 0, j = 1, . . . , k ?1�01@

3 !�7%�$ &%�( ���#�5 ��*���� !/� �� �!��% %���$ %��������'$� ���$�
%� �� �������� �%�������5 αi �% ��%���'( #������5 ᾱi �!��% $���*��
��$ �%�������� ��(���'( ������� xi� ��� �������� �����%�������
$���$�#���� -!����� L � !�7%�$ ���#�5 �����%�� %�!��� �'�����$�5 ���
���'�����$�5 #�����5�

�������� &--��%���'$ �������$ $���$�#���� ��� ������� ���#�5
�����%�� ����+����� C��*��(D ����$���'( � $���$�#���� �� ��%��*�$��
����$���'$ !/� ��# � ��������5� ������� � ��,�$ ��!��� &%� #����� ��
��� �� �'�����$��

��������� �%� ���5�� ��#��� &--��%�����%� ! %��� � ����%� � �������j
����7$ $���-���������!+ -!����+ �������������

L̃ = L+
k∑
j=1

w2
jF

2
j (α1, α2, . . . , αn). ?1�0
@

Q��� ��&--�����%' wj ���%�%���� ������� %� &%! $���-���������!+
-!����+ $�/�� $���$�#�����%� !/� ��# � ��������5� � &%� �
$�%���� ���$� ���������7��� � !������ Cwj ���%�%���� ������D� ��%�
����7#�'5 �����%�%�� " ���-��� $���$�#��!�$�5 -!����� �%�����%��
����� ���/�'$ � ��� ��$$' ��������5 $���$�#���� �� �$� !% ��(���%�
$���$!$�

-
+
	  ����$��

�� ����� ��/�
�1

A ����%� T1�U ������/�� �� ���%$ �%��������� � ��*���� #�����
��(�/����� $���$!$� -!������ ��������'5 �� $�%��� $��/�%���5
�� ���/� ?�$�� �����$��� T��U@� A����%�� $���-����������� -!�����
�������������

L̂ = L+
k∑
j=1

wjFj(α1, α2, . . . , αn). ?1�0�@
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3���� &��%��$!$�� -!����� L̂ � ���*������$ ����%����%�� ����$���'(
α1, α2, . . . , αn, w1, w2, . . . , wk �!��% ��(���%��� � ����$'5 $���$!$ L �
� ���������$� ?1�01@� Q�%��%������ ����#� ����%� ��*���� $�%���$�
��������5 $���$�#����� ��%�$! �%� ����$�� %���� � ���*������$
����%����%�� �����%�� �$���� &��%��$!$�$ ?�� $����$!$�$� ��
$���$!$�$@ -!����� L̂� � &%� ����/���% ��(�/����� ��*���� &%�$
$�%���$� %�� ��� �����%������� ��*���� #����� ��#$�/�� � ���5�� �����(
��!���(� 8�����#!� #����� -!����� ������������� � ���� ������%����5
-��$' �� �%��������$ �#$�����'( ����$�%��� �% ��%���'( � ���#��%� �
����5��5 #�����$��%� !�������5 ���#�� � ����%� T1�U �'������ �(���,����
�%���������� ������!�� ��(�/����� ��*����� Ǳ������ �(���$��%� &%�5
������!�' ����#'���%�� %����� ��� ����5�'( !��������( ���#�� ���$�
%� �� ������� �*���� ���! ����� ��� �'��������( $�/�% �������%� �
�$�,���+ �%����%����� ��%����5 %���� $���$!$�� � %�$! /� !��������
���#� � &%�5 ������!�� �� �+��$ *� � �%������ �'�����+%��� ����,�
 ������ � ����$.%� ������/����$�

-
+
�  ����!"���
�� #����

�& ������� (����
��
��
���"�$��

��� !/� !��#'������ �  ���� �� �$��%�� ��*����� ��%���%!�� ��
$�%���$ !������5 ��%�$�#���� ��# ��������/���� ����5���%� !�������5
���#� T0�� 0�� 02� 00� 0�� 0�� 0
U� A'���� ����5.���� �# &%�(
�� ���%$��� $�/�� ���%�%���� &--��%���� ��*�%� #����! ������
$���$!$� ��� ������� !�������5 ���#�� �������5 ������$�5 � &%�$
����������� �����%�� ������%� �(���$��%� �'������ � �� ���%$� �
�%����� ������/7����%� �'�������� !�������5 ���#��

A %� /� ���$� -�#������� #����� ����$�%������5 ������%�!����
��� �� ���!���+% ����+����� ����$���'( � �������� #����� !������5
$���$�#���� � $���$�#���� -!����� $���*� � ����� ����$���'( ��#
!�������5 ���#� $�/�! ��$��

-
+
�  ���@#�
�� A��/
�&B ������

�&

4�#������� #����� ����$�%������5 ������%�!���� ��� �� ���!���+%
!$���*���� ����� ����$���'( � ����+ �#�������� �% !�������5 ���#�
� �������� #����� !������5 $���$�#���� � $���$�#���� -!�����
$���*� � ����� ����$���'( ��# !�������5 ���#� $�/�! ��$�� ������'$
�����%�%��$ &%� � ���(��� �����%�� %�� �%� �� �%�� � �������!���� ���



4�:� &���"�!�1� &�( ��&�� !��&��(  �8*!�- ���

��/��5 #������ 6���$�%��$ � � �� ���$��� ������%�!���� ���'%���
��/�7��� � �� !�%������ �� ��%����'$� &���%���.��#�%����'$� �!���$�j

e+e− → η′γ,
η′ → ηπ0π0,

η → γγ,
π0 → γγ.

A �������$ ���%����� �� ��%���!+%�� 
 -�%���� ?&��� �� � ! �'@ " ��
����$�%�� A �����%�� !�������5 ���#� #���� �'�%!��+% #����' ��(�������
&��� ��.�$�!���� ��� ���5 ���%�$' � ����$� � %��/� ��������%�'� $���'
��� -�%����� ���!����'( �% ������� ���%�� � �#���%��5 $����5� �����$���
mη ≈ 550 >&A � mπ ≈ 135 >&A� Q��� �� ���%�%� $���! η′.$�#��� �#���%��5�
� ������#���%� ���!��+,!+�� � ��#!��%�%� ����$�%������5 ������%�!����
$���! ���%�$' m(ηππ) ��� �����#� ������������� �� &%�$! ����$�%�! ���
������ !����� -���� %� ��� � !�������5 ���#� �������%�� 
� =%� #����%�
�%� ����� ����+����� C��*��(D ����$���'( ���/�� ��%�%��� 21− 7 = 14
����$�%���� 6���$�%��$ �(�$! ����$�%��#���� ���'%��� ����������+,!+
����+����� C��*��(D ����$���'(�

Ǳ���'$ ����$�%��$ $�/�� �'���%� $���! ���%�$' ηππ� ���#�����
�7 ��� Mx� i����' ��(������� &��� ��.�$�!���� ��#����+% �'�����%�
&��� �+ -�%��� �%���� Eγ1 � �$�!��� Ps1 ���%�$' ηππ � ���%�$� ���%��
$��� �%������+,�(�� &���%���� � ��#�%����j

Eγ1 = Ps1 =
W 2 −M2

x

2W
. ?1�0�@

4��$!�� �������� � C����%����%���5D ���%�$� �������  �� �����%�� �%�
������%� ���%� c = 1� i���� %��/� ������� ���#������� W G �!$$�����
&��� �� &���%���� � ��#�%���� � ���%�$� ���%�� $����

A%��'$ ��%�$�#��!�$'$ ����$�%��$ $�/�� �'���%� $���! mππ

���%�$' π0π0� ��%���� $����%�� � �������( �% 2mπ �� (Mx − mη)� 
��
%� �� �%��' !����%�%� #����! ��� ��� ��$$' ��������5 $���$�#���� �
�#����%��� �% �������� �#$������ ����$�%��� $�/�� ����%� ����$�%� λ1�
��%��'5 ����#����� ���������% $���! ���%�$' � �� �$��% � ��������5�
>���� mππ �'��/��%�� ����# �� � ����!+,�$ ����#�$j

mππ =
Mx −mη

2
(1 + sinλ1) +mπ · (1− sinλ1) . ?1��	@

B����� $�/�� �'�����%� �$�!��� η.$�#��� � ππ.���%�$' � ���%�$� �����
η′.$�#���� A'��/���� ��� &%� � �$�!���� pη ����# ����$�%� λ1 �' ����%



���������� 4� �Ǳ����.����Ǳ���"�!���!����!�1� &�-"���.�Ǳ�

����!+,�$ ����#�$j

pη = 1
2Mx

√(
M2
x +m2

η −m2
ππ

)2 − 4M2
xm

2
η =

= |sin(
λ1
2 −π

4 )|
2Mx

√
(Mx −mη − 2mπ)×

×√(Mx +mη −mππ) (Mx +mη +mππ) (Mx −mη +mππ).

?1���@

A'����$ ����������� ���/���� η′.$�#��� ����� ��� z� B� �� -�%�� �%����
�!��% ��� �%��� � �%����%�����$ ����������� ����� ��� z�

Ǳ!�%� ������ Mx → mη + mππ �����(���% � �������%� XZ� B�����
$�/�� �'���%� %��%�5 ����$�%� " ! �� �'��%� θη � ���%�$� ����� η′.$�#����
%�� �%� �$�!��� η.$�#��� � &%�5 ���%�$� #����'���%�� � ���� ���%���

pη = pη · (sin θη, 0, cos θη) .

E�%�7�%'5 � ��%'5 ����$�%� " ! �' θγ2 � ϕγ2 �'��%� ���� � �#
-�%���� ������� η.$�#��� � �-��������5 ���%�$� ��������% � ���%�$�
����� η.$�#���� 
�! �5 -�%�� �% ������� η �'��%��% � ���%�������/��$
����������� � %�$ /� ��$'$ �$�!����$

pγ2 = pγ3 =
mη

2
.

S��%�5 � ����$�5 ����$�%� " ! �' �'��%� θπ � ϕπ ���� � �# ������
� ���%�$� ����� π0π0� ��� ����� � &%�5 ���%�$� �$�+% ��������'� ��
�������� �$�!���'

pπ =
√(

mππ

2

)2 −m2
π =

= |cos(
λ1
2 −π

4 )|
2

√
(Mx −mη − 2mπ) (mππ + 2mπ).

?1���@

A���$�5 � ����%'5 ����$�%� " ! �' �'��%� θγ4 � ϕγ4 ���� � �# -�%����
������� ����� � ����� � ���%�$� ����� &%� � ������ 8$�!���' ���(
-�%���� �% ������� ������ � ���%�$� ����� ����� ����' mπ/2�


���%'5 � ���������%'5 ����$�%� " ! �' �'��%� θγ6 � ϕγ6 ���� � �#
-�%���� ������� �%��� � ����� � ���%�$� ����� &%� � ������

����� &%�( ���������%� ����$�%��� ������%�+ ��������� ���%���
�$�!����� ���( ��$� -�%����� ������� � ��#�'( ���%�$�( �%��7%�� A�
���( ��!���( $' �$��$ %���� (����%����%��� ���%�$' �%��7%� � ��������5



4�:� &���"�!�1� &�( ��&�� !��&��(  �8*!�- ��2

���%��'j $���� C����%������5D ���%��' M � �7 ���%�� �$�!����
P� $���� C�������5D ���%��' m � �7 ���%�� �$�!���� p � ���%�$�
����� C����%������5D ���%��'� 8�����#!� &%� ����'�� $�/�� ������%�
�������#������ ������� �# ���%�$' ����� C����%������5D ���%��' �
���%�$!� � ��%���5 #���� �7 �$�!���� �� ����!+,�5 -��$!��j

p′ = p +
P
M
·
[√

p2 +m2 +
(p ·P)

M +
√
P 2 +M2

]
. ?1��2@

Ǳ�&%���� ���$���� &%� �������#������ �� ���$ -�%���$� $' ���!��$
���%��� �$�!����� ���( ��$� -�%���� � ���%�$� ���%�� $��� e+e−�

�������� ����� �,7 %�� ����$�%�� " ! �' =5���� ������%� ���5
���%�$'� ��� ���� �� $' ���!��$ &��� �� � ! �' ���( -�%���� �
������%����5 ���%�$� ��������%� #�����,�� �% �0 �������'( ����$�%���
��# !�������5 ���#�� � %� /� ���$� ��$� ���!����'� �$�!���' � ! �'
-�%���� �%�� � !�����%����+% !��������$ ���#� ?1�01@�

Ǳ��$������� Q��� ���%�$� ���%�� $��� e+e− �� ��������% �
������%����5 ���%�$�5� %� ��� �$�!���' ���� �������#������$
������� �������%� � &%! ���%�$!�

>' !���*�� ����� #����! $���$�#���� -!����� �% �� ����$�%��
� ��$�+ !��������$� ���#� � #����� $���$�#���� -!����� �0
��#�����$'( ����$�%���� i����� �%��� ��$�� � ���,�� ������� ���������
$���$�#���� -!����� �0 ����$���'( G %�/� ������%�� #������ B�$
������ �%� �������� ��$�� ����$�%������� ������%�!���� �������%�� �
��%�$�%������$ ��/�$�� ���'%�� #� ���'%��$� � ! &������$��%�%���
��% ��#$�/���%� �#!��%� ���������%� $���$�#���� � ��/��$ ���'%���
A %���( !������( �����,���� ����� ��#�����$'( ����$���'( $�/�%
������%� �� %����� � �����,���+ ��,� � ��$��+%���� � ���$����
����(���$� � �� ����$�%�����!+ ������%�!���+ ��%�� ��� ����� ���'%�5�
�� � ������%� � �����%�����$! &--��%! " !�!�*���+ ��#��*����
�� ��������%�'$ $����$ � %���� ���#����$! � ����� �����%�����5
$���$�#����5� B���� �����,���� ��#$�/��� ���� �� ����$.����
����$���'$ $�/�� ��5%� $���$!$ �����%������ ?��� ���( ��%����'(
����$���'( " -����������'(@�

A �����5 #����� %���� ��#$�/���%� ��#�����%� ���� &������$��%
�������%�� � ���%�$� ���%�� $��� e+e−� %� �� &��� �� � �$�!���'
������'( ���%�� �� #�����% �% %�7( ! ��� ������%� ���5 ���%�$' ���
���� �� ���$� %� �� ! ����� ��#��*���� ��%��%��� � ��#�'( ��������(



��0������� 4� �Ǳ����.����Ǳ���"�!���!����!�1� &�-"���.�Ǳ�

���/�� �'%� ���������j σθ = σϕ = σα/
√

2� Q��� � %�$! /� &%�
��#��*���� ���%�%���� (���*��� �%��' $�/�� �'�� ����� � -!����+
������������� �% �%�������� �� ! �! ��/��5 ���%��' �% �#$������ �
����������� ������/7��� #�$���%� �� ����!+,�� �'��/����

∆α2
i

2σ2
α,i

≈ 1
σ2
α,i

[1− (ei · ni)] , ?1��0@

 �� ������� ���#������� ��� �������'( ���%���� �#$������ � �����������
���/���� ���%��' ei � �������� ��$� � ni � ��*�5 $����� ������%�!�����
%� $���$!$ �� ! ��$ ������%� ��(���%�� �����%������ T12� 10U�

6���$�%��$ �%������ ! ���!+ ���%� -!����� �������������j

LA ≈
∑
i

1− cos∆αi
σ2
i

=
∑
i

1− #i · Vi
σ2
i

=
∑
i

1
σ2
i

−
∑
i

#i · Vi
σ2
i

. ?1���@

i���� � ���� σi ���#������ ��#��*���� � �#$������ ����%����%����� � ! ��
i.�5 ���%��'� Ǳ����� �!$$� � &%�$ �'��/���� �� #�����% �% ����$'( ! ���
������%�� � �%���� �!$$� �$��% &��%��$!$' � %�( /� %����(� �%� � LA�
���#����$ �%��!+ �!$$! ���

LM =
∑
i

#i · Vi
σ2
i

. ?1��1@

�� �� &%� �!$$� ���%� ��% $����$!$�� %� �� -!����� LA ���%� ��%
$���$!$�� Ǳ!�%� �������'� ���%��� 'i �����%����+% �����������
���/���� ���%�� � ��*�5 $����� �� ��,� � ������%� ���%�$'� %� ��
���%��� ni $� !% �'%� �����%�����' � ����

Vi = W · 'i ?1��
@

B����� $' $�/�$ �-��$!������%� #����! ��.��! �$!j ����(���$� ��5%�
$�%���! ������%� W %��!+� �%�

LM =
∑
i

eTi Tsi
σ2
i

= Tr

(
T
∑
i

sieTi
σ2
i

)
= Tr (TV) ?1���@

���%� ��% $����$����� � #�������� i���� �������%��$ ���(�� � �������
CATD ���#�����%�� %���������������� $�%����� � Tr (A) G -!�����
������%��5 $�%���'� �#���%��5 ��� ��#�����$ C���� $�%���'D�G �!$$�
��� ������'( &��$��%��� i���� %��/� ������� $�%����

V =
∑
i

sieTi
σ2
i

. ?1���@



4�:� &���"�!�1� &�( ��&�� !��&��(  �8*!�- ���

Ǳ!�%� %�7($���'� ���%��� v1,v2,v3 G �%����' $�%���' V� �
�������'� ���%��� u1,u2,u3 G �%���� $�%���' ������%� T� B� ��
-!������ $����$!$ ��%���5 ���� ��5%�� #���*�%�� � ����

LM =
3∑

k=1

uk · vk ?1�1	@


�� �%��� $�%���' ������%� ����������' ����!+,�� ���%��*����j

u2
1 = u2

2 = 1, u1 · u2 = 0, u3 = u1 × u2. ?1�1�@

B����� #����! $�/�� ����-��$!������%� ����!+,�$ ����#�$j ���
����'( ���%���� vk, k = 1, 2, 3 ��5%� ���%��� u1 � u2� $����$�#��!+,��
-!����+ LM ?1�1	@ ��� !������( ?1�1�@�


���� ������7$ ��*���� �# ����%' T10U ��� %�7( ������%��� �
#�����$��%� �% ��� � $�%���' V� 
�� !����%�� ����7$ ���#�������j

Vij = vi · vj � V123 = v1 · [v2 × v3] ?1�1�@

X�������8 ������������

�� ��!��� ���!���� � ��%��$����%� V123 �= 0 ����$'� ���%��� u1,2 $� !%
�'%� #������' � ����!+,�$ ����

[1 = x1z1 + x2z2 + x3z3� [2 = x7z1 + x8z2 + x9z3, ?1�12@

 ��

x1 = 2λ3V123−V22V33+V
2
23

z1V123
,

x2 = V33V12−V13V23−λ1V123
z1V123

,

x3 = V123·(2V13λ3−V23λ1)+(V22V13−V12V23)(z1−V33)
z1V123·(z1−V33) ,

x7 = −λ1V123+V12V33−V13V23
z1V123

,

x8 = 2λ2V123−V11V33+V
2
13

z1V123
,

x9 = V123·(2V23λ2−V13λ1)+(V23V11−V12V13)(z1−V33)
z1V123·(z1−V33) ,

λ1 = 2λ2[V12·(z1−V33)+V13V23]
V 2
13+(V11−z1)(z1−V33)

� λ2 =
λ3[(V11−z1)(z1−V33)+V 2

13]
V 2
23+(V22−z1)(z1−V33)

,

λ3 =
V123·[z21−(V22+V33)z1+V22V33−V 2

23]
z31+b·z1/2+2(V11V22V33−V11V 2

23−V22V 2
13−V33V 2

12)+4V12V13V23

?1�10@



��1������� 4� �Ǳ����.����Ǳ���"�!���!����!�1� &�-"���.�Ǳ�

� z1 G ������ !��������

z4
1 + bz2

1 + cz1 + d = 0, ?1�1�@

 ��

b = 2
(
V 2

12 + V 2
13 + V 2

23 − V11V22 − V11V33 − V22V33

)
,

c = 8V 2
123,

d =
(
V 2

22 + V 2
33 + 2V 2

23

)
V 2

11 − 2 (V11 + V22 + V33)V 2
123−

−2
(
V22V

2
12 + V33V

2
13 + 2V12V13V23

)
V11+

+
(
V 2

33 + 2V 2
13

)
V 2

22 − 2 (V33V23 + 2V12V13)V22V23 + 2
(
V 2

13 + V 2
23

)
V 2

12+

+2V 2
33V

2
12 − 4V33V12V13V23 + V 4

12 + V 4
13 + V 4

23 + 2V 2
13V

2
23.

��'��� !�������� ?1�1�@ �$��% ��%'�� ��5�%��%����'( ����� ?�( $�/��
��5%�� ������#!� -��$!�' 4������� �����$��� �# ����������� T��U@� 
��
���( ��5�%��%����'( #������5 ����� ���� �'�����%� ���%��%�%�!+,��
#������� -!����� LM � �'���%� ������% � $����$����'$ LM �

�!����5 ��%��$����%j $�%���� Y ��� � ��
>�/�% �'%� %��� �%� V123 ≈ 0� �� �$�+%�� �� ���5��5 $��� ���
������������'( ���%��� vk� 
�� ����%�%' �!��$ ���%�%�� �%� &%� ���%���
v1 � v2�

A���7$ ����$� �%����'� ����$���'�

D = V11V22 − V 2
12 > 0�

r1 = V22V13−V12V23
D �

r2 = V11V23−V12V13
D .

?1�11@

B����� ��*���� $�/�� �����%���%� � ����j

u1 = x1v1 + x2v2 + x4 [v1 × v2] �
u2 = x7v1 + x8v2 + x10 [v1 × v2] �
u3 = r1v1 + r2v2,

?1�1
@
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 ��

x1 =
(V22+2V12λ3)r1r2+r

2
1V12+2(r22V22−z1)λ3

(4λ2λ3−1)λ1z1
,

x2 = − (V12+2V11λ3)r1r2+r
2
1V11+2r22V12λ3−z1

(4λ2λ3−1)λ1z1
,

x7 = − (V12+2V22λ2)r1r2+r
2
2V22+2r21V12λ2−z1

(4λ2λ3−1)λ1z1
,

x8 =
(V11+2V12λ2)r1r2+r

2
2V12+2(r21V11−z1)λ2

(4λ2λ3−1)λ1z1
,

x4 = r1
z1
,

x10 = r2
z1
,

z1 = ±√D · (1 + r21 + r22),

λ2 =
(V11z1−D)(1+r21)+2r1r2V12z1+r

2
2(V22z1−2D)

2(r1r2D+V12z1)
,

λ1 = ±
√

z1−V33
1−4λ2λ3

,

λ3 =
(V22z1−D)(1+r22)+2r1r2V12z1+r

2
1(V11z1−2D)

2(r1r2D+V12z1)
.

?1�1�@

�!����5 ��%��$����%j $�%���� V ��� � ��
A &%�$ ��!��� ��� ���%��� vk ��������������' ����$! ���%��! pj

v1 = a · p� v2 = b · p� v3 = c · p� p2 = 1. ?1�1�@

>����$������ #������� LM � &%�$ ��!��� �����

fM = maxLM = maxTr (TV) =
√
a2 + b2 + c2 ?1�
	@

>�%���� ������%� T ��� &%�$ ������#������ ���� �# ��#$�/�'(
��*���5 ����!+,��j

T = T2T1�  �� T2 =

⎛
⎜⎜⎜⎝

0
√
b2+c2

fM

a
fM

− c√
b2+c2

− ab√
b2+c2fM

b
fM

b√
b2+c2

− ac√
b2+c2fM

c
fM

⎞
⎟⎟⎟⎠ , ?1�
�@

%��%�� �%���� $�%���' T1 ����� ���%��! p� Ǳ���'� ��� �%���� $�%���' T1

G ��� �������'( ���%���� ��%��'� ����#!+% � p ����!+ %��5�! ���%�����
>�%���� V �� $�/�% �'%� %���� ����� �!�+� ��&%�$! ������7��'� %��

������%� ��*���� �(��%'��+% ��� ��#$�/�'� ��!����



���������� 4� �Ǳ����.����Ǳ���"�!���!����!�1� &�-"���.�Ǳ�

6���$�%����'� ������' ����$�%������5 ������%�!���� ���$���$' �
���'%��$ � �+�'$ �������%��$ ���%�� � � �+��$! �����! �#$�����'(
&������$��%����'( �������� =%� �����%�� � ��!���� � C��%�����'$�D
���%���$� ��� ������� � ��%��%��� ���!��%��%����'( �����%�5� � ��!����
� �������5 �� ��%�����5 (����%����%�� ���%��� �����$��� �� �� ! �'
�'��%� �#$���+%��� � &��� �� G ��%� ��� �#$����%�� %����� �!$$� &��� �5
��� ����5.���!�� ���' ���%�� � %��� ������� !�������5 ���#� ��#�����%
� &%�( ��!���( !%����%� ��� ����%�����%� �����%�+,�� (����%����%���
���%��� 
�� ��$� ��%�'( ��%��%���� %�����'$ ���$���$ ����$�%������5
������%�!���� $�/�% ��!/�%� �'�������� &��� �5 ���%�� � %�7(. �
��%'�7(.���%���'( ���'%��( �� �#$�����'$ ! ��$ &%�( ���%�� T1�U�

-
+
) ����
���(�$�1 ��C&�#����#
�& ��3����

6���$�%��$ ��!��5� �� �� � ��%��%��� #��� ��%�������' %����� ! �'
���%��� � �#���%�' �!$$����� &��� �� � �$�!��� ���%�$'� ���$�
%� �� � ������$ ������������ ��!���$� �� �� ����'5 �$�!��� ���%�$'
����� �!�+ ?��$$�%����'� !�%������ �� ��%����'$� �!���$�@� 
��
���$$�%����'( !�%������ �� ��%����'$� �!���$� �����%����� ��� �'���'
��%�+%�� � ����� �� ��� -��$!�' !���/��+%��� %�� ��� ������.
�������#������ �$�!����� ���%�� �# ���%�$' ���%�� $��� � ������%���!+
���%�$! #�����% �% ��$�( �$�!������ ��%��'� � ��*�$ ��!��� �� �#$����'
� ����+%�� �������'$� ����$���'$��

Ǳ!�%� $���' ���%�� �#���%�' � ��$��( %����%������5 $����� � ����'
m1� m2� m3 ?���� $���' ���#���%�'� %� ���� ��������%� ���������
%����%������( $�����5 ��������@� Ǳ���!+ &��� �+ ���%�$' ���#����$ ���
W � A ���! ������%�� �!�+ �$�!���� ���%�$'� �$�!���' ���( %�7( ���%��
p1� p2� p3 ���/�' ��/�%� � ����5 �������%�� Ǳ!�%� � &%�5 �������%� ! �'
$�/�! ���%���$� ����'� ���%��%�%������ α12� α13 � α23� Q�%��%������ &%�
%�� ! �� !�����%����+% ���%��*���+

α12 + α13 + α23 = 2π. ?1�
�@

Ǳ��$���� #���� ��(������� �$�!���� � �������%� ��/����� ���%���
���!��$ {

p1 + p2 cosα12 + p3 cosα13 = 0,
p2 sinα12 = p3 sinα13.

?1�
2@

�%�+�� ��%�!��� ���!��%� ���%��*����j

p1

sinα23
=

p2

sinα13
=

p3

sinα12
= x, ?1�
0@
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 �� ������� ����$� �%������ ����$����� x� 3 !�7%�$ &%�( ���%��*���5
!�������� ��(������� &��� �� #����'���%�� � ����

√
m2

1 + x2 · sin2 α23 +
√
m2

2 + x2 · sin2 α13 +
√
m2

3 + x2 · sin2 α12 = W. ?1�
�@

��������� �%� &%� !�������� �$��% ����� ��� ��*���� ��
��5�%��%�����5 ���� ��#����+,���� #����$� A ��������� #���� �%�
������ ���#�%����� ��%� � �����%����'5� !�������� $�/�� ��*�%� �+�'$
�������'$ $�%���$� �����$��� $�%���$ ������� ��%������ ������$�
3 ��! �5 �%����'� -��$����� &%� !�������� �����%�� �� ����������$
!��������$ ����$�5 �%������ ���� ���������%����� �#����%��� �% ���(
������%�'( �����5j

a4x
8 + a3x

6 + a2x
4 + a1x+ a0 = 0, ?1�
1@

 ��

a0 =
[
W 2 − (m1 +m2 +m3)

2
]
·
[
W 2 − (m1 +m2 −m3)

2
]
×

×
[
W 2 − (m1 −m2 +m3)

2
]
·
[
W 2 − (m1 −m2 −m3)

2
]
,



�2	������� 4� �Ǳ����.����Ǳ���"�!���!����!�1� &�-"���.�Ǳ�

a1 = −8 · [(((2 (m2
2 +m2

3

) ·m2
1 − 3m4

1 +m4
2 − 10m2

2m
2
3 +m4

3

)
W 2+

+
(
3m2

1 +m2
2 +m2

3

)
W 4 +

(
3m4

2 + 2m2
2m

2
3 + 3m4

3

)
m2

1−
−3

(
m2

2 +m2
3

)
m4

1 −W 6 +m6
1 −m6

2 +m4
2m

2
3 +m2

2m
4
3 −m6

3

)
sin2 α12−

− (2 (m2
2 − 2m2

3

)
m2

1 −m4
1 −m4

2 − 4m2
2m

2
3 +m4

3

)
W 2−

− (2m2
1 + 2m2

2 +m2
3

)
W 4 − 2

(
m2

2 +m2
3

)
m2

1m
2
3 +W 6 +

(
m4

1 +m4
2

)
m2

3−
−2m2

2m
4
3 +m6

3

)
sin2 α13+

+
((

2
(
2m2

2 −m2
3

)
m2

1 +m4
1 −m4

2 + 4m2
2m

2
3 +m4

3

)
W 2−

− (2m2
1 +m2

2 + 2m2
3

)
W 4 − 2

(
m2

2 +m2
3

)
m2

1m
2
2 +W 6 +m4

1m
2
2+

+m6
2 − 2m4

2m
2
3 +m2

2m
4
3

)
sin2 α12

)−
− (((m2

2 +m2
3

)
m2

1 − 3m4
1 +m4

2 − 10m2
2m

2
3 +m4

3

)
W 2 +

+
(
3m2

1 +m2
2 +m2

3

)
W 4 +

(
3m4

2 + 2m2
2m

2
3 + 3m4

3

)
m2

1−
−3

(
m2

2 +m2
3

)
m4

1 −W 6 +m6
1 −m6

2 +m4
2m

2
3 +m2

2m
4
3 −m6

3

)×
× sinα13 sinα12 cosα13 cosα12] ,
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a2 = −8 · [(2 (2 (3m2
1 −m2

2 −m2
3

)
W 2 + 6

(
m2

2 +m2
3

)
m2

1 − 3W 4 − 3m4
1 − 3m4

2−
−2m2

2m
2
3 − 3m4

3

)
sin4 α12 +

(
7W 4 − 10W 2m2

1 + 6W 2m2
2 − 6W 2m2

3 + 3m4
1−

−6m2
1m

2
2 − 10m2

1m
2
3 + 3m4

2 + 6m2
2m

2
3 + 7m4

3

)
sin2 α12 − 2W 4 + 4W 2m2

3−
−2m4

3

)
sin4 α13 − 2

((
2
(
3m2

1 −m2
2 −m2

3

)
W 2 + 6

(
m2

2 +m2
3

)
m2

1 − 3W 4−
−3m4

1 − 3m4
2 − 2m2

2m
2
3 − 3m4

3

)
sin2 α12 − 2

((
m2

1 −m2
2 + 2m2

3

)
W 2 −W 4+

+m2
1m

2
3 −m2

2m
2
3 −m4

3

))
sin3 α13 sinα12 cosα13 cosα12 +

(
2
(
2
(
m2

2 +m2
3

)
m2

1−
−3W 4 + 6W 2m2

1 −m4
1 −m4

2 − 4m2
2m

2
3 −m4

3

)
+
(
7W 4 − 10W 2m2

1 − 6W 2m2
2+

+6W 2m2
3 + 3m4

1 − 10m2
1m

2
2 − 6m2

1m
2
3 + 7m4

2 + 6m2
2m

2
3 + 3m4

3

)
sin2 α12

)×
× sin2 α13 sin2 α12 + 4

((
m2

1 + 2m2
2 −m2

3

)
W 2 −W 4 +m2

1m
2
2 −m4

2 −m2
2m

2
3

)×
× sinα13 sin3 α12 cosα13 cosα12 − 2 (W +m2)

2 (W −m2)
2 sin4 α12

]
,

a3 = 32
(((

8W 2 − 2m2
1 + 3m2

2 + 3m2
3

)
sin2 α12−

− (5W 2 − 3m2
1 + 5m2

2 + 3m2
3

)
sin4 α12 − 2W 2

)
sin2 α13−

− ((5W 2 − 3m2
1 + 3m2

2 + 5m2
3

)
sin2 α12 − 4

(
W 2 −m2

1 +m2
2 +m2

3

)
sin4 α12−

− (W 2 +m2
3

))
sin4 α13 +

((
3W 2 −m2

1 + 3m2
2 +m2

3

)
sin2 α12 − 4W 2

)×
× sinα13 sinα12 cosα13 cosα12+

+
((

3W 2 −m2
1 +m2

2 + 3m2
3

)− 4
(
W 2 −m2

1 +m2
2 +m2

3

)
sin2 α12

)×
× sin3 α13 sinα12 cosα13 cosα12+

+
((
W 2 +m2

2

)
sin2 α12 − 2W 2

)
sin2 α12

)
sin2 α13 sin2 α12,

a4 = 16
((

8 sin4 α12 − 8 sin2 α12 + 1
)
sin4 α13 − 2

(
4 sin2 α12 − 3

)
sin2 α13 sin2 α12−

− 4
(
2 sin2 α12 − 1

)
sin3 α13 sinα12 cosα13 cosα12+

+4 sinα13 sin3 α12 cosα13 cosα12 sin4 α12

)
sin4 α13 sin4 α12.

������� ��&--�����%' ��� ���7%�'( �%�����( x ��� ����' �!�+� ��&%�$!
!�������� �$��% �%����� 0 �� ����$����5 x2� 8�����#!� �(�$! ��*����
4������ T��U� !�������� ��%�7�%�5 �%����� $�/�� ��*�%�� ������#!�
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�����%������� -��$!�'� �%� ���/�� ��������� �'�%��� �������%� �
!���(!� ���%'���  ��$�#����%� -��$!� ��� ��&--�����%�� ������$� ai
� ����*!+ �����%���%� �����%�� ��� ����������� ��� ��$$� ������7$
���%�����'5 ���$��� ��%��'5 $�/�� ������#���%� ��� �%������

A�#�$7$
m2 = 2m1, m3 = 3m1, W = 10m1,

α12 = 2π
3 , α13 = 3π

4 , α23 = 7π
12 .

?1�

@

B� �� ��&--�����%' ������$� ���/�' �'%� ����'

a0 = 51609600m8
1,

a1 = −96000
(
56 + 9

√
3
)
m6

1 ≈ −6872492m6
1,

a2 = 4
(
25813 + 5786

√
3
)
m4

1 ≈ 143338.6m4
1,

a3 = − 3
2

(
354 + 163

√
3
)
m2

1 ≈ −954.4864m2
1,

a4 = 9
64

(
7 + 4

√
3
) ≈ 1.958654.

?1�
�@

A ���%��%�%��� � �� ���%$�$ 4������ ���� ��*�%� ����$� �%������
�!�������� !�������� ?�!/�� ���� � � ������@j

y3 + b2y
2 + b1y + b0 = 0, ?1�
�@

 ��

b2 = −a2

a4
≈ −73182.20m4

1,

b1 =
a3a1

a2
4

− 4a0

a4
≈ 1604494079m8

1,

b0 =
4a2a0 − a2

1

a2
4

− a2
3a0

a3
4

≈ −10855743156294m12
1 .

� &%� � !�������� � ��*�$ ��!��� ��� ��&--�����%' ��5�%��%����'��
��&%�$! ���/�� �'%� (�%� �' ���� ��5�%��%����'5 ������� A ���%��%�%���
� �� ���%$�$ ������� T��U �������$ !�������� � �������$! ���! #�$���5
y = z − b2/3j

z3 + p · z + q = 0, ?1��	@

 ��

p = b1 − b22
3
≈ −180717534m8

1,



4�:� &���"�!�1� &�( ��&�� !��&��(  �8*!�- �22

q = 2
(
b2
3

)3

− b2b1
3

+ b0 ≈ −747987935368m12
1 .

B����� %�� ����� $� !% �'%� �'������' ?� ��$�������$ ����@ ��
����!+,�5 -��$!��j

yk = Ak − p

3Ak
+
b2
3
, ?1���@

 ��

Ak = e
2πki

3 · 3

√√(p
3

)3

+
( q

2

)2

− q

2
, k = 0, 1, 2.

A ��*�$ ���$��� ����� ����$� �%����� � !�������� %��%��5 �%�����
����'j

y0 ≈ 39560.96m4
1, y1 ≈ 13948.54m4

1, y2 ≈ 19672.70m4
1. ?1���@


�� ��*�( ����5 ���(���% �+��5 �# &%�( �����5� A�#�$7$� �����$���
y = y1� B����� � ��$�,�+ &%� � ����� $�/�� ��(����� !�������� ��%�7�%�5
�%����� ��#��/�%� �� ��� ������%�'( !��������j

x4 +
a3

2a4
x2 +

y1
2

= ±
√
ρ2x4 + ρ1x2 + ρ0, ?1��2@

 ��

ρ2 =
a2
3

4a2
4

− a2

a4
+ y1 ≈

(
11.65985m2

1

)2
,

ρ1 =
a3

2a4
y1 − a1

a4
≈ 2 · (11.65985m2

1

) · (4721.323m4
1

)
,

ρ0 =
y2
1

4
− a0

a4
≈ (4721.323m4

1

)2
.

B���5 � ��%� #�$'��� 4������ G �%��' ��� �����$ ������%�'$
� ?1��2@ ���#���� ����'5 ������%� %� �� ������ �#������%�� � !��������
������,��%�� �

x4 + (−243.6588± 11.65985)m2
1x

2 + (6974.268± 4721.323)m4
1 = 0. ?1��0@

�%�+�� ���!���$ ����'5 ����� �# ��%'�7( �����5j

x1 ≈ 12.56803m1, x2 ≈ 8.60486m1,

x3 ≈ 15.6897m1, x4 ≈ 3.025247m1.
?1���@
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Ǳ������� ����#���� �%� ��� &%� ����� !�����%����+% !�������+ ?1�
1@�
�� ��� !�������� ?1�
�@ ����'� %�� �# ��( ���#����� ��/�'�� �
������ x4 (���*� ����*7�� =%�% ���$�� ����#'���%� �%� ���!���
��*���� �� ���������� � !��������� $' ���/�' ��� ��5�%��%����'� �����
�������%�� !�����%����+% �� ��� !�������+ ?1�
�@�

A�� &%� ���/���%� � ��*����$ !�������� ����#�+%� ���� ��� %�� $���'
�!���'�� A &%�$ ��!��� ��*���� ����� ����%��j

x =
W

sinα12 + sinα13 + sinα23
. ?1��1@

B����� ����7$�� � ������ ����� � ��#���� � ����$�%��$ !�������
�%� �$�!���' ���( ���%�� ���/�' ��/�%� � ����5 �������%��
Q��� ! �' ���%�� �#$���+%�� � &������$��%�� %� %���� ��%!����
���� �� �� �����#!�%��� A ��$��( ��,� � ���(��� � $���$�#����5
�� ���-$������5 -!����� ������������� � %�( ��!���(� �� ��
����������� ������/���� ?1��0@� $�/�� �'����%� ��#!��%�%
������������� &������$��%����'( %����� �� �������%�� Ǳ!�%� ni G
����$'� �������'� ���%���� ei G &������$��%����� #��� ��%��������'�
����������� ���/���� %�7( ���%��� ��%�$����'5 ������% ���%��%�%�!�%
��!��+� �� �� ���%� ��%�� $����$!$ -!�����

3∑
i=1

(ni · ei)
σ2
α,i

.

3%����� ��$���������%� ���%���� ei $�/�� (����%���#���%� ��������5

∆0 = (e1 · [e2 × e3]) ,

%��� �$�*���'$ ����#�������$ %�7( ���%����� 6�*���� � ��!��� ∆0 = 0
%���������j ni = ei� Q��� ����%� ���#������� wi = 1/σ2

α,i� cosα12 = e1 · e2�

cosα13 = e1 ·e3� cosα23 = e2 ·e3� %� � ������/���� ∆2
0 � 1 $�/�� #�����%�

��*���� � ����!+,�$ ����� Ǳ!�%� ���$��� � ����$�5 �������%� ���%����
ni �����%������ � ����

N = z1 · [e2 × e3] + z2 · [e3 × e1] + z3 · [e1 × e2] . ?1��
@
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B� �� ��&--�����%' zi $� !% �'%� �����%�����' � ����

z1 = w2w3
2A0

· [2w1w2 ·
(
1− cos2 α12

)
(cosα12 cosα23 − cosα13) +

+ w1w3

(
2 cosα12 cosα23 − cos2 α12 cosα13 + cos3 α13−

− cosα13 cos2 α23 − cosα13

)
+

+ 2w2w3

(
1− cos2 α23

)
(cosα12 cosα23 − cosα13)

]
,

z2 = w1w3
2A0

· [2w1w2 ·
(
1− cos2 α12

)
(cosα12 cosα13 − cosα23) +

+ 2w1w3 ·
(
1− cos2 α13

)
(cosα12 cosα13 − cosα23) +

+ w2w3

(
2 cosα12 cosα13 − cos2 α12 cosα23 + cos3 α23−

− cosα23 cos2 α13 − cosα23

)]
,

z3 = w1w2
A0
· [w1w2 ·

(
1− cos2 α12

)
+

+ w1w3 ·
(
1− cos2 α12

) (
1− cos2 α13

)
+

+ w2w3 ·
(
1− cos2 α12

) (
1− cos2 α23

)]
.

?1���@

���$��������� ����%��%� A0 $�/�% �'%� ��5���� �# !������ ������%��
������� $��!�� ���%��� ���$���j

|N|2 = 1 =
z2
1 ·
(
1− cos2 α23

)
+ z2

2 ·
(
1− cos2 α13

)
+ z2

3 ·
(
1− cos2 α12

)
+

+ 2z1z2 · (cosα13 cosα23 − cosα12) +
+ 2z1z3 · (cosα12 cosα23 − cosα13) +
+ 2z2z3 · (cosα12 cosα13 − cosα23) .

?1���@

Q������'� ���%��� ni $�/�� %����� #�����%� � ����

ni =
ei − zi∆0 ·N√

1− z2
i∆

2
0

. ?1��	@

3��%��%�%������ %����� �$��%� &������$��%����� �#$�����'( ! ��� αij
$�/�� �����%� �������� &%�( ! ��� α∗

ij �� �������� ��$!+ �������%�
��#�7%� ���( %�7( ���%��j

cosα∗
12 =

(
1 + z21+z22

2 ∆2
0

)
cosα12 − z1z2∆2

0,

cosα∗
13 =

(
1 + z21+z23

2 ∆2
0

)
cosα13 − z1z3∆2

0,

cosα∗
23 =

(
1 + z22+z23

2 ∆2
0

)
cosα23 − z2z3∆2

0.

?1���@

Q�%��%������ ���!��� !�!�*���'� ������ ! ��� $�/�! ���%���$�� $'
���/�' ������#���%� �( � #�����( ��(������� &��� ��.�$�!���� ?1�
2"
1�
�@�
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-
+
+ ����
���(�$�1 #����C&�#����#
�& ��3����

A %�$ ��!���� ���� �#$����' ! �' �'��%� ��%'�7( ���%�� � �#���%�'
������ &��� �� ���%�$' � �$�!���� � %��/� $���' ���%��� %� $�/��
��������%� �$�!���' ���%�� pi ����� ���'$� �'��������$�� Ǳ���'5
����� !�������5 ��� ����$���'( pi ����!+,�5j

4∑
i=1

pi sin θi cosϕi = 0,

4∑
i=1

pi sin θi sinϕi = 0,

4∑
i=1

pi cos θi = 0,

4∑
i=1

√
p2
i +m2

i = W.

?1���@

Q��� ���#����%� �������'� ���%��� ����� ����������� �$�!�����
����#

ei = (sin θi cosϕi, sin θi sinϕi, cos θi) ,

� ����%� ���#������� ��� �$�*���'( ����#������5 ���%����

∆1 = (e2 · [e3 × e4]) , ∆2 = − (e1 · [e3 × e4]) ,
∆3 = (e1 · [e2 × e4]) , ∆4 = − (e1 · [e2 × e3]) ,

?1��2@

%� ���%�$� �# ����'( %�7( !�������5 �$��% ��,�� ��*���� ����!+,� �
����j

p1 = z ·∆1, p2 = z ·∆2, p3 = z ·∆3, p4 = z ·∆4. ?1��0@

A������� ����$�%�� z �'�����%�� %���5� �%��' !�����%�������� !��������
��(������� &��� ��� � � � #��� �'�����%�� %���$ ����#�$� �%��' ���
�$�!���' �$��� ����/�%����'5 #���� Q��� ��������� ����#$�/��� %�
��*���� �� �!,��%�!�% ?�����$��� �� �� ��� �$�!���' ���������' � ���!
���!�-��!@�

6�*�%� !��������
4∑
i=1

√
m2
i + z2∆2

i = W ?1���@

$�/�� �������'$� $�%���$�� �����$��� $�%���$ ������� ������$�
Q��� �#����%��� �% ������%�'( �����5� %� ���!���%�� !��������

����$�5 �%����� �%����%����� ����$����5 µ = z2� Ǳ��$'( -��$!� ���
��*���� %���( !�������5 �� �!,��%�!�%� ��&%�$! ��$'$ �������%���'$
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�����������$ !�������� ��*���� �����%�����%�� !�������� ������!�'
�(���$��%� ��� ��*���� !�������� ?1���@�
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A �%����� �% %����� �����%���%�5� �%�%��%��� �����%�� ����� ���/��5
� ������#�����5 ��!��5� Ǳ�����+�%���!�$ &%� ���!/�����$ ����%��'(
������$ � ������%����'$� ��%������$� � ���(��$� �������$��

Ǳ�����' ���/���%� ���%������ ������%����'( ��%������� � %�$�
�%� ������������� �����%���%�5 �� ������$ ����$�%�� #�����% �%
��%���� � #������� ����$�%��� ��%��� � $' �� #���$� ���� �#
�������� ������/7���5 ������ ������%����'( ��%������� " $�%���$
$����$����� � ��������������" �'� �������� ����$�%��� � ��#�� 1���
������ �!,��%�!�% %���'5 $�%�� ���%������ ������%����'( ��%��������
������/���'5 ��5$���$ T1�U� 9� ���%$ ��5$��� ����$�%��$ ��#/� ��
���$��� ������ ���$��� /�#�� � ��#�� 
��� 
���� �� ���������( ���$���(
����$�%��$� � ����$ �*����$ � !����� ������� $�/�% �������%� $�%��
$����$����� � ������������� � ��������� �%����+%�� ������%����'�
��%�����'� ���!����'� �� -!����� ������������� � �����������$
$�%���$ ��5$���� <���� ��%������ ���!/����� ������$� ��#����+,�( ���
����������� ������%����'( ��%�������� $�/�� ��5%� � ����%�( T11� 1
U�

�2�
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5�� -# �
������ � �
���� 
��  ��# �
������

0�����

=%� ���$�� C(���*� �D ������������� �����%���%�5 �� ������
����$�%��� Ǳ!�%� $' ���������$ ���#���%��� ������� #������� a ;�!�����
������������� � �#���%��5 ���������5 σ2 �� � ���������5 �'����� n
���'%�5� �� ���-$������� -!����� ������������� #����'���%�� � ����

L = n · ln
(
σ
√

2π
)

+
1

2σ2

n∑
i=1

(xi − a)2 . ?
��@

�� �� ����#�%�� �%� #�����$��%� �% ����$�%�� a -!�����
������������� �$��% ��� �������' � $���$!$�$ � %����

â =
1
n

n∑
i=1

xi ?
��@

� ����%�����$ �% %���� $���$!$� �� %���� ����������� �������' �
 ���#��%�����5 �����5 �� !����� (Lmin + 0, 5)j

σa = ± σ√
n
. ?
�2@

3 ��! �5 �%����'� �� �� !����%���� �%� ������������� �����%���%�5
�� â �����%��  �!����'$ � ���%��$ � %���� a � ������������%���'$
�%��������$ σa� A �����$ ��!��� 1�p.5 ������%����'5 ��%�����

â =
1
n

n∑
i=1

xi ± σ√
n

?
�0@

� %�����%� ���%��%�%�!�% !%���/����+� �%� ��%����� #������� ����$�%��
� 1�p ��!���� �������% ��!%�� ������%����� � ��%������� ���!����� �
�� -!����� �������������� 6���$�%��$ ���$��'� �� �� &%� !%���/�����
���!*��%���

5�� 	 �
��� � ��� ;����

B���!�%�� ��������%� ������� ���$� τ /�#�� ���%�$' ?�����$���
���%�������5 ���%��'@� ������#!� n �#$�����5 ti� 6������������



@�+�  ������ ���"( ;�)�� �0�

�����%���%�5 �� ���$��� ������� ��7%�� &�������������'$
�������������$j

dW
dt

=
1
τ

exp
(
− t
τ

)
. ?
��@

�� ���-$������� -!����� ������������� � &%�$ ��!��� �����

L = n · ln τ +
1
τ

n∑
i=1

ti. ?
�1@

>���$!$ -!����� L0 ���%� ��%�� ���

τ̂ =
1
n

n∑
i=1

ti ; min L = L0 = n+ n · ln τ̂ . ?
�
@

=%� ������� ��������� �����%�� ���$�,7���5 ��� �+��$ ����� �#$�����5
n� �� �� #�$�%�%�� �%� �%�%��%������� ���5�%�� ������ ����$�%�� �
������%����'( ��%������� #���� �� #�����% �% ��$�5 �������' τ ?$�/��
��� ���$��� �#$���%� � �������( τ@� �� #�����% �% ����� �#$�����5
n� ;�����' ������%����� � ��%������ $� !% �'%� ���������' %�����
�������'$� $�%���$�� A %���� 
�� ��������'  �����' ������%����'(
��%������� ��� ���������( #������5 n � ��� !����� ������� 1�p ?∆L =
1/2@ � ��p ?∆L = 2@� A ������� ����*�( n ������%����'5 ��%�����
�%�����%�� ��$$�%����'$ � ���!��#$���$

∆τ = τ̂ ·
√

2∆L
n

. ?
��@

8# %�����' ������ �%� ��/� ��� n = 50 ������%����'� ��%�����'
�,7 �� �%�����%�� ��$$�%����'$�� �� ���� 
�� ��������'  ��-���
-!����� ������������� ��� ���������( #������5 n� 
��
$��'( n  ��-�� -!����� ������������� #�$�%�� ����$$�%������
Ǳ��$�%��$� ��������� ���%��%�%�!�% �������� �����%���%� C����'%��D
��%���� � #������� ������%����'$ ��%������$ �/����$�5 �����%���%�
?���� 
��@� i���� �� ����� ��������%�� ������������%� !%���/������
�%� $�%�� $����$����� � �������������� �%�� �  ������ ��7% ��������'�
��#!��%�%' %����� � ������� ����*�5 �%�%��%���� 6���$�%�����$��
#����� � �#$������$ ���$��� /�#�� �����%�� (���*�$ ��R��%�$
��� ��$���%����� ����������� � ���(��� ��� %���� � �����������
������%����'( ��%������� T��U� ��#��%� � ��5$���$ T1�U�



�0�������� @� ������!�.6�*���!����.*� � !����.�������3��'�

g`u_r 
��j ;�����' ∆τ (±) = |τ − τ̂ | ������%����'( ��%������� ��� !�����
������� 1�p ?∆L = L−L0 = 1/2@ � ��p ?∆L = 2@� �������7��'( �� $�%��!
$����$����� � ��������������

∆L = 1
2 ∆L = 2

n
∆τ (−)

τ̂
∆τ (+)

τ̂

√
2∆L
n

∆τ (−)

τ̂
∆τ (+)

τ̂

√
2∆L
n

� 0, 5759 2, 3144 1, 0000 0, 7780 18, 0588 2, 0000
� 0, 4689 1, 2283 0, 7071 0, 6822 5, 3054 1, 4142
2 0, 4095 0, 8940 0, 5774 0, 6206 3, 1642 1, 1547
0 0, 3697 0, 7253 0, 5000 0, 5759 2, 3144 1, 0000
� 0, 3405 0, 6212 0, 4472 0, 5410 1, 8579 0, 8944
1 0, 3177 0, 5496 0, 4082 0, 5127 1, 5714 0, 8165

 0, 2992 0, 4968 0, 3780 0, 4891 1, 3736 0, 7559
� 0, 2839 0, 4560 0, 3536 0, 4689 1, 2283 0, 7071
� 0, 2708 0, 4232 0, 3333 0, 4513 1, 1164 0, 6667
�	 0, 2595 0, 3963 0, 3162 0, 4357 1, 0274 0, 6325
�	 0, 1939 0, 2614 0, 2236 0, 3405 0, 6212 0, 4472
�	 0, 1290 0, 1558 0, 1414 0, 2367 0, 3456 0, 2828

�bk[ar 
��j ;��-�� -!����� ∆L = L − L0 � #�����$��%� �% ∆τ/τ̂ =
(τ − τ̂ ) /τ̂ ��� ���������( #�������( n
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�bk[ar 
��j A����%���%� ��������� ��%���� � #������� ���$��� /�#��
��!%�� ������%����� � ��%������� ���#�������j • " ∆L = 1/2� � "
∆L = 2� � " ∆L = 0, 8221 ?���!���������'5 ��%������ �	p.5 ���(��5
������@� ;���#��%����'� ����*�'� ����� ����#'��+% C����������D
#������� �����%���%� ?	�1��
� 	���0� � 	��@
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-��		���	
�8 ���2�� ��* �����1� ����������* ������%����'(
��%�������� ����'���$'5 ����� $�%�� ���������� ��� �+�'( ������
����$�%���� �� %����� ��� %�(� �%� ���!���' $�%���$ $����$����� �
������������� ?��/� ��� �$�,7��'( ������ " � ����%��'( ��!���( $�/�%
���#�%���� �%� ������%����'5 ��%����� �� ���+���% ���!����!+ �����!
����$�%��@� A�#�$7$ �����! ���$��� /�#�� τ̂ �# �'��/���� ?
�
@�
6������������ �����%���%�5 �� #�������$ τ̂ ��� ����%���$ ��%����$
#������� ���$��� /�#�� τ �����

dW
dτ̂

= fn(τ̂ ) =
1

(n− 1)!

(
nτ̂

τ

)n−1
n

τ
exp

(
−nτ̂
τ

)
. ?
��@

��� !/� !��#'������� &%� ������ ����$�%�� �����%�� ���$�,7���5� %� ��
������� #������� τ̂ ����� τ � �������� �����%�'$ #�������$ τ̂ �����%��

τ̂���� =
n− 1
n

τ.

8�����#!� ������������� �����%���%�5 ?
��@� $�/�� ���!��%�
������%����'5 ��%����� ��� τ̂ ��� �+��$ ��%����$ #������� τ �
!�����$ ������� β < 1� F��%�����'5 ������%����'5 ��%����� $�/��
��������%� ��!$� -!�����$� τ̂1(τ) � τ̂2(τ) %���$ ����#�$j

τ̂1∫
0

fn (τ̂) dτ̂ =
1− β

2
;

∞∫
τ̂2

fn (τ̂ ) dτ̂ =
1− β

2
. ?
��	@


�� �����5 -!����� ������������� �����%���%�5 ��%� ���
�'������%�� � ����

∞∫
a

fn (τ̂ ) dτ̂ =
{

1 + na
τ + 1

2

(
na
τ

)2 + . . .+ 1
k!

(
na
τ

)k + . . .

+ 1
(n−1)!

(
na
τ

)n−1
}

exp
(−naτ ) .

?
���@

� ��/�����+� -!����� τ̂1(τ) � τ̂2(τ)� ��5����'� �# !�������� ?
��	@�
���/�'$ ����#�$ #�����% �% n� B�$ �� $����� ���� ��*�%� !��������
��� ��/�� � τ � �����%� ��  ��-���  �� �� ����5 ��� �%����'���%�� τ̂ �
� �� ��! �5 τ � %� ���!��%�� ������%������ #���� �� ���� 
�2 ������7�
���$�� %���5 ������%�����5 #��' ��� n = 5� β = 0, 6827� B�����
��������� �%� ���� $' ��� ��/��5 ������ τ̂ � ���!�����5 � ���%��%�%���
� -��$!��5 ?
�
@� ������7$ ���%������!+ ����+ �� ����������� �
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�bk[ar 
�2j Ǳ��$�� ���%������ ������%�����5 #��' � ������%����'(
��%������� ��� &������$��%� �� �#$�����+ ���$��� /�#�� � n = 5�
β = 0, 6827

������%�����5 #���5 ?��� ����#��� �� ���!���@� %� ���!��$ ������%����'5
��%����� (τ1, τ2)� ��%��'5 ����� � 1���
p ��!���� ����'���% ��%�����
#������� τ0 ?������ �' �� �'�� ��%����� #��������@� 3%��% �,7 ��#
��������!%� �����-��! &%� � ���(���j ���%������ ������%�����5 #��'
��7% C��  ���#��%���D� � ���%'���%�� ������%����'5 ��%����� ��� ��/��5
���!�����5 � &������$��%� ������ ����$�%�� C�� ���%�����D� ��%�!���
#�$�%�%�� �%� ���$�%�� �� ����(���$��%� ��*���� !�������� �������'$
�������$� ��*���� ��� ������%����� � ��%������ � �����$ ��!��� $�/�%
�'%� �����%������ � !�����$� �� #�����,�$ �% τ̂ ����j ∆τ (±)/τ̂ ?��� �
%���� 
��@� A %���� 
�� ��������' ������%����'� ��%�����'� ���!����'�
��� �����������$ ���(���� 3��������� ������%����'( ��%��������
���!����'( ������/7��� � ��$�,�+ -!����� �������������� � %�$��
��%��'� ���!���' ����� %���'$ �����������$ $�%���$ ��5$���� ��%
��/� ��� �%�%��%��� n = 50 �#$�����5� ������ �� �� #�$�%�%�� �%�
����� ��%������ ��� ����*�( n ��������% �!�*�� ��$ � � ����/�����
Ǳ�� n = 50 ����' &%�( ��%������� �������+% � %�����%�+ �p ?���
�$�,���� ����� �p �% ����' ��%������@� 8# ��������� ��#!��%�%��
%���� � $�%��� ������ ������%����� � ��%������ � ������/7��� �
�� -!����� ������������� $�/�� �����%� �'���� �%� �����������
������%����� � ��%������ �� -!����� ������������� ��� �����#� ���� �
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g`u_r 
��j ;�����' ∆τ (±) = |τ2,1 − τ̂ | ������%����'( ��%������� ���
!����� ������� 1�p � ��p� �������7��'( �� �����������$! $�%��!
��5$���

β = 0, 6827 β = 0, 9545
n

∆τ (−)

τ̂
∆τ (+)

τ̂
∆τ (−)

τ̂
∆τ (+)

τ̂

� 0, 457 (0, 577∗) 4, 789 (2, 314) 0, 736 (0, 778) 42, 45 (18, 06)
� 0, 394 (0, 469) 1, 824 (1, 228) 0, 648 (0, 682) 7, 690 (5, 305)
2 0, 353 (0, 410) 1, 194 (0, 894) 0, 592 (0, 621) 4, 031 (3, 164)
0 0, 324 (0, 370) 0, 918 (0, 725) 0, 551 (0, 576) 2, 781 (2, 314)
� 0, 302 (0, 341) 0, 760 (0, 621) 0, 519 (0, 541) 2, 159 (1, 858)
1 0, 284 (0, 318) 0, 657 (0, 550) 0, 492 (0, 513) 1, 786 (1, 571)

 0, 270 (0, 299) 	���0 (0, 497) 0, 470 (0, 489) 1, 538 (1, 374)
� 0, 257 (0, 284) 0, 529 (0, 456) 0, 452 (0, 469) 1, 359 (1, 228)
� 0, 247 (0, 271) 0, 486 (0, 423) 0, 435 (0, 451) 1, 225 (1, 116)
�	 0, 237 (0, 260) 0, 451 (0, 396) 0, 421 (0, 436) 1, 119 (1, 027)
�	 0, 182 (0, 194) 0, 285 (0, 261) 0, 331 (0, 341) 0, 654 (0, 621)
�	 0, 124 (0, 129) 0, 164 (0, 156) 0, 232 (0, 237) 0, 356 (0, 346)

∗� ������� �����	
 ���	
�
 �����
����	
� 
	�������� 
� ����� ���� ��
��
��		�
���	�		
� �� ��	��

 �����������
�

�#$������ ���$��� /�#�� ?��� �+�� � ��! � � ����$�%��� ��%��'5
���#�� � &������$��%� � &�������������'$ �������������$ �����%���%�@
�������% � #����%�����5 �*����� �� � ���'*����$ �%�%��%��� �#$�����5
������#������ ������/7��� � $�%��� ��7 ����� ������������

5�� 
��� ���� #� ���� �� 0�������

 ��# �
������

6���$�%��$ #����! ����������� ����$�%��� a � σ ;�!�����
�������������

dW
dx

=
1√
2πσ

exp

[
− (x− a)2

2σ2

]
?
���@

�� �'����� n �#$�����5 ��!��5��5 �������' xi, i = 1, . . . n.



@�/� �)"������ Ǳ���"�!��� '��  ��� �� Ǳ����.���( �0


�� ���-$������� -!����� ������������� #�����% �% ��!( ����$�%���

L =
n∑
i=1

[
(xi − a)2

2σ2
+ ln

(√
2πσ

)]
?
��2@

� ���%� ��% $���$!$� ���

â =
1
n

n∑
i=1

xi; σ̂ =

√√√√ 1
n

n∑
i=1

(xi − â)2. ?
��0@

;�����' ������%����'( ��%������� ��� ∆L� ���%��%�%�!+,� � !����+
������� β� ���!��+%�� �# !�������5(

a− â
σ̂

)2

= e
2∆L

n − 1; 2 ln
(σ
σ̂

)
+
(
σ̂

σ

)2

− 1 =
2∆L
n

. ?
���@

Ǳ����� �# &%�( !�������5 ���������% ��$$�%����'5 ������%����'5
��%�����

∆a(±) = σ̂ ·
√
e

2∆L
n − 1. ?
��1@

A%���� !�������� ���������% ����$$�%����'5 ������%����'5 ��%�����
∆σ(±) � $�/�% �'%� ��*��� %����� �������� ��� ������%�'( ∆L � n�

����,���� ����������� � $�%��� ��5$��� ���%������ ������%����'(
��%������� �� ��!��5 #�����$��%� %����%������5 $����� �% ���������(
����$�%��� �� �� �����%� � %��$���( C&������� �*����D� �� ��
������%����'� ��%�����' !��#'��+%�� �� ��� ��/�� � ����$�%�� �
�%�������%�� � � ���� �����%� � $�� �$����$ ����%����%�� ?(�%�
%�(�������� ���/���%� $� !% �����%� &%� ����%������ ����#$�/�'$@� A��
/� ������!�$ ��������%� ������%����'� ��%�����' �%������ ��� a � σ�

8#���%��� �%� ����$�����

t =
√
n− 1 · â− a

σ̂
?
��
@

�$��% �%�����%��� ������������� 3%�+���%� ?�$�� �����$��� T0�U@� ��
#�����,�� �% #������5 a � σ� Ǳ��%���%� �����%���%� �������������
3%�+���%� � (n− 1) �%�����+ ������' �����

dW
dt

=
A(

1 + t2

n−1

)n/2 , −∞ < t < +∞. ?
���@
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i���� AG ���$��������� ����%��%�� Ǳ���#!��� &%�$ �������������$� ���
��/�� � n � !����� ������� β $�/�� �����%�%�  �����' ��$$�%����� �
������%����� � ��%������ ��� ����$����5 tj −∆t < t < ∆t� �%�+�� $�/��
��������%� ��$$�%����'5 ������%����'5 ��%����� ��� ����$�%�� aj

∆a = |a− â| < σ̂ · ∆t√
n− 1

=
∆t√

n(n− 1)

√√√√ n∑
i=1

(xi − â)2, ?
���@

��%��'5 ��#�����$� �% ��%���'( #������5 a � σ � β ���� ��!���� �!��%
���+��%� ��%����� #������� a�

6������������ �����%���%�5 ��� �������' µ = n · σ̂2/σ2 �����%��
�%�����%�'$ �������������$ χ2 � (n − 1) �%�����+ ������'� 
�� �� �
$�/�� ��5%�  �����' ������%����� � ��%������ µ1 < µ < µ2 � !�����$
������� β� B� ��  �����' ������%����� � ��%������ ��� ����$�%�� σ
���!��+%��

σ1 =
√

n

µ2
· σ̂ < σ <

√
n

µ1
· σ̂ = σ2. ?
��	@

A %������ 
�2 ��������'  �����' ������%����'( ��%������� ��� a � σ
��� ���������( #�������( n� A$��%� ������ $����$����� � �������������
σ̂ �� ����%��� ��,� ������#!�%�� %�� ��#'���$�� C���$�,�����D ������
������������%���� � �%��������

σ̃ =

√√√√ 1
n− 1

n∑
i=1

(xi − â)2 ?
���@

��� ����� �# %�����' 
�0� ��� &%� ������ ����+%�� �$�,���'$��
���$�,����5 ������5 �����%�� %����� ������ ��������� σ̃2� B��
���  �����' ������%����'( ��%������� �� #�����% �% ����$� �%����'(
���#������5� %� ��� �'��������  ����� �$��%� σ̂ $�/�� ����%����%� ��
�'��/���� ����# σ̃j

σ̂ =

√
n− 1
n
· σ̃.

�%����� ������/����5 ������  ����� ������%����'( ��%������� �%
%���'( � %������ 
�2 #�$�%�'� �� ����� ��� &%�$ ���!����%�� �*����
� �����%���%� ����'%�� ��%���� � #������� �# &%�5 %�����' �� ������

�� ����������� &%�5 �����%���%� �'�� ��������' �����%' $�%���$
>��%�.������ � ��#!��%�%' �����%�����' �� ����
�0 ��� ������ � �
������������%���� � �%�������� �%�������
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g`u_r 
�2j ;�����' ������%����'( ��%������� ��� ����$�%��� ;�!�����
�������������� ���������$'( �� n �#$������$ ����$����5 x� A
������( !��#��' ������  ����� ������%����'( ��%������� �� -!�����
������������� �� -��$!�� ?
���@�

n
β = 0.6827 (∆L = 0.5)

∆a
σ̂

σ1
σ̂

σ2
σ̂

� 1.837 (0.805) 1.003 (0.651) 7.065 (1.821)
2 0.934 (0.629) 0.903 (0.698) 2.947 (1.604)
0 0.691 (0.533) 0.878 (0.729) 2.190 (1.493)
� 0.571 (0.471) 0.870 (0.751) 1.879 (1.424)
1 0.497 (0.426) 0.868 (0.768) 1.708 (1.376)

 0.445 (0.392) 0.869 (0.782) 1.600 (1.341)
� 0.407 (0.365) 0.870 (0.794) 1.525 (1.313)
� 0.377 (0.343) 0.872 (0.804) 1.469 (1.291)

�	 0.353 (0.324) 0.874 (0.812) 1.426 (1.273)
�� 0.316 (0.295) 0.878 (0.826) 1.363 (1.245)
�� 0.277 (0.263) 0.885 (0.842) 1.303 (1.215)
�	 0.236 (0.226) 0.893 (0.861) 1.243 (1.182)
2	 0.189 (0.184) 0.906 (0.884) 1.182 (1.144)
�	 0.144 (0.142) 0.922 (0.908) 1.130 (1.109)

n
β = 0.9545 (∆L = 2)

∆a
σ̂

σ1
σ̂

σ2
σ̂

� 13.968 (2.528) 0.621 (0.471) 49.59 (4.366)
2 3.201 (1.671) 0.630 (0.526) 8.074 (3.042)
0 1.909 (1.311) 0.647 (0.564) 4.449 (2.511)
� 1.435 (1.107) 0.663 (0.593) 3.296 (2.223)
1 1.185 (0.974) 0.678 (0.616) 2.744 (2.041)

 1.027 (0.878) 0.690 (0.635) 2.423 (1.914)
� 0.918 (0.805) 0.701 (0.651) 2.212 (1.821)
� 0.837 (0.748) 0.711 (0.665) 2.062 (1.748)

�	 0.773 (0.701) 0.720 (0.677) 1.951 (1.691)
�� 0.680 (0.629) 0.735 (0.698) 1.795 (1.604)
�� 0.587 (0.553) 0.753 (0.722) 1.649 (1.515)
�	 0.491 (0.471) 0.776 (0.751) 1.511 (1.424)
2	 0.388 (0.378) 0.806 (0.788) 1.376 (1.326)
�	 0.293 (0.289) 0.841 (0.829) 1.265 (1.239)
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g`u_r 
�0j �������� �����%�'� � ������� #������� ����%��'( ������
����$�%�� σ ;�!����� ������������� �� n �#$������$ xi�

A������� σ̂
σ

σ̃
σ

(
σ̂
σ

)2 (
σ̃
σ

)2
�������� �����%���

√
n−2
n

√
n−2
n−1

n−3
n

n−3
n−1

3������ #������� (n−2)!!
(n−3)!! ·

√
Rn

n
� (n−2)!!

(n−3)!! ·
√

Rn

n−1
n−1
n �

������ 
���������	
 ����	���	
� 

n!! = n · (n − 2) · (n − 4) · · · , R2k = 2/π, R2k+1 = π/2.

�bk[ar 
�0j A����%���%� P ����'%� ��%����� #������� ����$�%��� a
?�����@ � σ ?������@ ;�!����� ������������� ������%����'$ ��%������$
��� ��!( !�����5 �������j 1���
p � ���0�p� • G ������%����'5 ��%�����
���������%�� �� -!����� �������������� � G ������%����'5 ��%�����
���������%�� $�%���$ ��5$���� 3%�%��%��� �����%� � ��/��5 %���� �����
104�
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�bk[ar 
��j 4!����� ������������� ��� Ǳ!�������� �������������
�����%���%�5

5�! 	 �
��� ���%���� Ǳ���������

 ��# �
������

6���$�%��$ ����%�5*�5 ��!��5� �� �� �� �����%�����$!
�#$�����+ n $' �'%��$�� ��������%� ������� #������� p Ǳ!��������
������������� ?2�22@� 4!����� ������������� � &%�$ ��!��� $�/�% �'%�
#������� � ����

L = p− n+ n · ln n
p

?
���@

?#���� ������#����� %� ���%��%����%��� �%� � �� ���-$������5 -!�����
������������� $�/�� ������%� �+��� ��� ��$��� �� #�����,�� �%
����$�%�� p@� ;��-�� &%�5 -!����� ��� �� ����$$�%����� ?���$��
 ��-��� ��� n = 2 ������7� �� ���� 
��@� �� �� ���!��%� �����! ����$�%��
p �� $�%��! $����$����� � �������������j

p̂ = n. ?
��2@

1�p.5 ������%����'5 ��%����� ���!���%�� ��*����$ !��������

σp − n · ln
(
1 +

σp
n

)
=

1
2

?
��0@
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�%����%����� σp� ��������� �%� ��� �+��$ n > 0 �!,��%�!�% ����� ���

��*���� � �����%� p > 0� A ������� ����*�( n ��������
σp
n �%�����%��

$���5� � �� ���-$ $�/�� ��#��/�%� � ��� �� �%��� � ������ %� �� ��*����
���!���%�� � ����!+,�$ ����j

σ2
p

2n
=

1
2

=⇒ σp = ±√n. ?
���@

��������� ?
��0@ $�/�� ��*�%� �+�'$ �������'$ �������$� �����$���
$�%���$ ������� ������$� >�/�� %��/� ������#���%� $�%��
���������%����'( ������/���5 � ���!����%�'$� -��$!��$�� �����$���
$�/�� ������#���%� %���5 ���(��� Q��� ���#����%� #� �������! x = σp/n�
%� ��� ����/�%�����5 ��%�� ��*���� $�/�� ������#���%� -��$!�!

xk+1 =

[
ln (1 + xk) + 1

2n

] · (1 + xk)− xk
xk

; x1 = 1 ?
��1@

� ��� �%����%�����5 ��%��

xk+1 = exp
(
xk − 1

2n

)
− 1; x1 = −1. ?
��
@

A ��!��� n = 0 ��� ���$�����5��$ ������#������ ����$������5 $�%���
$����$����� � �������������� ��%�$������ #������� p̂ = 0 � 1�p.5
������%����'5 ��%����� ���!���%�� (0; 0, 5)�

Ǳ��!����'5 %���$ ����#�$ ������%����'5 ��%����� $�/�� �������%�
$�%���$ >��%� "������ �'������ �����%���%� P " � ����5 ���� ��!����
������%����'5 ��%����� #�(��%'���% ��%����� #������� p� i�����$��%�
&%�5 �������' P (p) �����%������ �� ���� 
�1 ?%�$ /� ���������
����� ���'5  ��-�� ��� ��p. � ��%�������  �� ∆L = 2@� ����,��%
�� ���� ���$���� $�������� �(���$��%� ��#!��%�%� � ���$�%�%������$!
��� !��������� �%�%��%��� ������� %����������$! $����+� �%� ���
Ǳ!�������� ������������� ��� �%�%��%��� �	 ��� ����� ���'%�5 ���
(����%����%��� �������+% � (����%����%���$� ;�!����� ��������������
Ǳ������5 �� ������%� �����%�������5 -!����� �����%�� �� � ����������
�%�%��%��� ����7%� $�%���$ >��%� "������ � ������%���%� �������������
Ǳ!�������

=��������9�78 �������� �� ������ X�8����� 
�����%���%�
������������� �����%���%�5 �� ��#�����% ��������%�  �����' #��'
����� ���� -��$!�� ?
��	@� B����������� ��*���� � %���$ ��!��� "
&%� $���$����'$ ����#�$ ���*���%� ������%����!+ #��! %��� �%��'
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�bk[ar 
�1j A����%���%� P ��������� ��%���� � #������� ����$�%��
p Ǳ!�������� ������������� � ������%����'5 ��%������ ���!����'5
$�%���$ $����$����� � �������������� ���#�������j • " 1�p.
5 ������%����'5 ��%������ � " ��p.5 ������%����'5 ��%������
;���#��%����'� ����*�'� ����� ����#'��+% C����������D #�������
�����%���%� ?	�1��
 � 	���0�@
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�bk[ar 
�
j A����%���%� ����'%�� P ��%���� � #������� ����$�%�� p
���%�$�5 ������%����'( ��%������� ��� β = 0, 6827 (•) � 0, 9545 (�) �#
%���� 
��

��� �� �'��������� ��������%�� P (p) ≥ β� B���5 ���(�� ��#'���%��
��������%���'$� A ��*�$ ��!��� ������ ����$�%�� p̂ = n �$��% %� /�
��$�� ������������� �����%���%�5 Ǳ!������� A ��$��( ��������%���� �
���(��� ��� ���%������ ������%�����5 #��' ��� �+�� � #������� p $'
���/�' ��������%� ��%����� �!$$�������� (k1, k2) %���5� �%��'

k2∑
k=k1

pk

k!
e−p ≥ β. ?
���@


�����%������ #��� ��� ��!��� β = 0, 6827 �#����/��� �� ���� 
���
B�� ��� ��#!��%�%' &������$��%� #���� " ��� �� ���'� ������ %� $�/��
��� ����'( ���������( #������5 n ������%� �'�������'� ������%����'�
��%�����' ?%���� 
��@� �� ���� 
�
 ����#��� �����%���%� ����'%��
��%���� � #������� p ���%�$�5 ������%����'( ��%������� � !�����$
������� β = 0, 6827 � 0, 9545� 3�������� �����%���%� ����'%�
��%����� #������� ������%����'$ ��%������$ � 1�p.$ !�����$ ��������
���!����'$ �� -!����� ������������� ?���� 
�1@ � $�%���$ ��5$���
?���� 
�
@� $�/�� #�$�%�%�� �%� ��� p > 2 ��#���� �����%���%�
��� &%�( $�%���� �������� ?���������%�� ������%���%�+ �������������
�����%���%�5@� ������ ��� $�%��� ��5$��� �%�� � �'������%�� !������
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�bk[ar 
��j 
�����%������ #��� ���
������ ����$�%�� p �������������
Ǳ!������ � !�����$ ������� β =
0, 6827

�bk[ar 
��j 
�����%������ #��� �
!�����$ ������� �	p ��� ������
����$�%�� ������������� Ǳ!������
p̂

g`u_r 
��j ;�����' ������%����'( ��%������� � !�����$ ������� β
��� ������ ����$�%�� p ������������� Ǳ!������ �� �����%�����$!
�#$�����+ n

n
β = 0, 6827 β = 0, 9 β = 0, 9545
p1 p2 p1 p2 p1 p2
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C��������%�����%�D P (p) ≥ 68, 27%� ���$� %� �� � !���������$ p ��#����
!$���*��%��� � � ���$�%�%��� ��� $�%��� �!�!% &��������%�'�

5�) =� (��� # �
�� �� #� ���� 

 ��# �
������ Ǳ�������

Ǳ�� ���(��$ �������$ ����$��%��  ������ �����%������ � ��%�������
�����%���%� ��������� � ��%��'5 �#$����$� � ����$�%�� ��#'���%��
!�����$ �������� ��'��� � -�#��� &��$��%���'( ���%�� ������#!�%��
���(��5 ������ � �	p.$ !�����$ �������� Ǳ��$�� ������#������
������/7���5 ������ ���(�� � ������� ���$��� /�#�� �� -!�����
������������� ������7� �� ���� 
�� ?��#!��%�%' �������' ��$����$�
�@� A����� �%� ��� $���$ ����� �#$�����5� �� �� &%�% ��#!��%�% �
�����%�����% ��%����� �*���� � !����� ������� #����%����� � ���%�����%
����� �	p�


�� ����$�%���� �$�+,�( ������'���� ������������� �����%���%�5�
��� � ��!��� � �#$������$ ���$��� /�#��� �����������5 ���(��
���$���$ � ��� %���� � !�%��������� ���(�� � �������� Ǳ���%�������
�%����� �% ��(�/����� ��!�%������ � ������%����� � ��%������ ���%��%
� ����!+,�$� Ǳ�� ����7%� ������%�����5 #��' ���� ��� ��/��$
�������� ��$�$ #������� ���$��� /�#�� τ �'�����%�  �����! ��%������
τ̂1(τ)� ��� ��%���5 �����%���%� P (τ̂ ≥ τ̂1) ����� #������$! !����+
������� ?�����$��� 	��@� Ǳ������ ���%��%�%�!+,�� �'��������� ���!��$
� ��!��� �������%�� � �#$������ ���$��� /�#�� τ̂ �	p.5 ���(��5 �������
����'5 9, 49 · τ̂ � � ��� ������ � �� ��!$ �#$������$ " 3, 76 · τ̂ � �%�
��������� ����'*��% ������/7��'� ������ �� $�%��! $����$����� �
��������������

��� $' !/� ������� � ��!��� ������%�� � ������������� ������
����$�%�� ��%!���� ����/���%��� 6���$�%��$ � �����%�� ���$���
&������$��%� ������ ����$�%�� p̂ = n � ��%���$ ��������������� ����!
�%��7%�� n� �������������$! �� #����! Ǳ!������j

Wn =
pn

n!
e−p, n = 0, 1, 2, . . . ?
���@

� ����%��'$ ���#���%�'$ ����$�%��$ p� Ǳ�� ���'%�� ���%���%�
������%����!+ #��! �����������$ $�%���$� �#.#� ������%���%�
������������� $' �'�!/���' �!��$ #�$���%� ������� �'��������
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g`u_r 
�1j A��(��5 ������ �� ����$�%� p ������������� Ǳ!������ �� �	� ��
� ��p.$ !����� �������

E����
#��� ��%��������'(
���'%�5 n 	 � � 2 0 �

A��(��5 ������ ��
����$�%� p ?β = 90%@ ��2	 2��� ��2� 1�1� 
��� ���


A��(��5 ������ ��
����$�%� p ?β = 95%@ 2�		 0�
0 1�2	 
�
� ���� �	���

A��(��5 ������ ��
����$�%� p ?β = 99%@ 0�1� 1�10 ��0� �	�	� ���1	 �2���

����5  �����' ������%�����5 #��' ?
��	@ ��

∞∑
n=p̂1(p)

Wn ≥ β >
∞∑

n=1+p̂1(p)

Wn, ?
�2	@

 �� β G #�����'5 !������ �������� Ǳ��%������� �� &%�$! ������!
������%������ #��� ��� �	p. � !����� ������� �#����/��� �� ���� 
���
A %���� 
�1 ��������� �������� ���(�� � ������� �� ����$�%� Ǳ!��������
������������� p ��� ���������( #������5 ����� #��� ��%��������'(
���'%�5� A��(��5 ������� !�%��������'5 � ��$��( &%� � ���(����
��������� �������% ����!+,�$ ���5�%��$j ������ �' �� �'�� ��%�����
#������� ����$�%�� ������������� Ǳ!������ p� ��� $�� ����%��$
���%������ &%� � &������$��%� ���(��5 ������ � 100 · βp ��!����
?��� ��$�� � ����*�@ ����'��% ��%����� #������� ����$�%�� p� Ǳ��
&%�$ ���#�%����� �����#!$����%��� �%� ��<���/��� �0  �<�
�0�0�

>�/;� ����0� !�%���������%�� ���(��5 ������� �%� � �������$
&������$��%� �� �'������%��� ��� ��� ��#!��%�%� ����*� ����%��� �� ���
�������� �������%�� ��!�%������5 ������%����'5 ��%������

A ����%� T11U ������ ��%�� ������ �����' � &%�$ � ����%��'$�
��! �$� �����%�%��$� ���$�����5�� � ���$������ ����������� � $�%���
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g`u_r 
�
j B������ ������%����'( ��%������� ��� Ǳ!��������
�������������∗

n 	 � � 2 0 �

β = 0, 9
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���%������ ������%����'( #�� ?� ���%���%�� �#�������� �% ������%����'(
��%������� �!����5 ����'@� ���� �# ������/���5 � &%�5 ����%� "
&%� -��$�����%� ?��  ���#��%���@ ������%����!+ #��! � !�7%�$
���������%�5 ������%�� ���!���$'( ��#!��%�%��� A ���$������ �
��*�5 #����� ������ ��%�� ���%���%� ������%����!+ #��! %��� �%��'
��� ����� #��� ��%��������'( ���'%�5 	 ?�� $�/�% �'%�� �@ ���!�����
���(��5 ������ �� ����$�%� p� � ��� ����*�( #�������( n "
��!�%������5 ������%����'5 ��%������ B����� $�/�� $�%���$ >��%� "
����� �������%�� ��������� ���%��%�%�!�% �����%���%� C����'%��D
��%���� � #������� ����$�%�� ��R�������$! !����+ �������� ���� ���
$�� ����%��$ ���%������ &������$��%� � ����%��'$ ��%���'$ #�������$
����$�%�� p ����#���%��� ��� �����%������� ��#!��%�%� %���� 
�
 ? ��-��
#�����$��%� P (p) ������7� �� ���� 
��	@� Ǳ��%������� ������%������
#��� �' ����% �����%�%���� ��%�$�����5� Ǳ��$�%��$� ����#� �� ���
&%� � ������%�� � ��!��� ���%���%� ������%����!+ #��!� ��� ��%���5
����'*���� �����%���%� ����'%�� ��%���� � #������� ����$�%�� ���
#�������'$ !�����$ ������� $���$������ 
�� #������ � !����� �������
β &%� #����� $�%�$�%������ ���%��%�%�!�% ����!+,�5 -��$!�������j ���
�+�� � #������� ����$�%�� p �������%� ��%����� �!$$�������� (k1, k2)
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�bk[ar 
��	j A����%���%� P (p)
C����'%��D ��%���� � #�������
����$�%�� p ������%����'$
��%������$ � !�����$ �������
β �# %���� 
�
� ���#�������j • "
β = 0, 9� � " β = 0, 95

�bk[ar 
���j A����%���%� P (p)
C����'%��D ��%���� � #�������
����$�%�� p ������%����'$
��%������$ � !�����$ �������
β� ���#�������j • " β = 0, 9�
� " β = 0, 95� 
�����%������
#��� ���%����� ��������5
$���$�#����5 ����'*����
�����%���%� C����'%��D ���
!�����$ ������� ?%���� 
��@
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g`u_r 
��j B������ ������%����'( ��%������� ��� �!��������
�������������� ���!������ ��������5 $���$�#����5 ����'*���� ���
!�����$ ������� β �����%���%� ����'%�� ��%���� � #������� ����$�%��
p ������%����'$ ��%������$
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Pk1k2(p) =
k2∑

k=k1

pk

k!
e−p, 0 ≤ k1 ≤ k2 <∞ ?
�2�@

%��� �%��' ��� �� �'��������� ��������%�� Pk1k2(p) − β ≥ 0� �� ��������
����'*���� �'�� $���$�����5� A �����%� $��'( n %��!+ $���$�#���+
$�/�� ������%� �������� � ���%���%� %�����! ������%����'( ��%�������
?%����
��@� A����%���%� C����'%��D ��%���� � #������� ����$�%�� p
������%����'$� ��%������$� �# &%�5 %�����' �����%������ �� ���� 
����

3�������� ���( &%�( ������%�� ����#'���%� �%� #����� ���%������
���(�� � ������� �� ����$�%� ������������� Ǳ!������� ������
����/�7���� ������%���%�+ �������������� �� �$��% ����#����� �
��*����� ��������� �%� ��� ���������#�� ���/�� �'%� �� ��*���� $�/�!
&������$��%�%���$� �%����%����� %����� ������%����'( ��%������� ���
$���$ ����� #��� ��%��������'( ���'%�5� 6�#!��%�%' %��� � �� ��*����
�%��/�+%�� � �%�%��%������$ ��#���� ��#��� -�#��� ���%�� T1�U�

5�* Ǳ�
�����  ���������� � ����

A &������$��%�( �� �����5����(� �� �� #�����$��%� ����� ���'%�5 �%
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&��� �� � ���%�$� ���%�� $��� ��� ����%�� �����5 ��#�!/����� ��#������
� ����+ ���!��%� ����$�%�' �#!���$� � ��#������ ?$���!� *����!
� %���@� ������������� �����%���%�5 �� ���!����'$ ������$ �����%��
������%�'$� (�%� &%� ������������� ���%� �'���% ���%�%���� ���%�'$�
Ǳ��%������ ������%�����5 #��' ��� %���( ��!���� �����%�����%��
���%�%���� %�!���$��5 #�����5� � ��#!��%�% �!��% #�����%� �% $�� �(
���%��%����%�j ������������� ��%� ���� ���%�$��%� �� &��� ��� �������
-���� %����%������5 $����� � %��� ��������� �%� &%�$ ���� #���$�%���
� %�( ��!���(� �� �� ��%� !��������%�� �%� ���%������ ������%����'(
��%������� �� -!����� ������������� ���% ������'5 ��#!��%�%� ��
��/� &%� ����� ����%�� #����� �������� ������%����'( ��%������� $�/�%
��%������%� ����*�5 �'�����%�����5 $�,���%�� %�� ��� ��� ������%��
&������$��%����'( ����'( ��'��� �������%�� ��������� $���$�#����
�� ���-$������5 -!����� �������������� � ��������� $������������
$�� ����%�� � ���%������ ������%�� &������$��%� ��� ��#�'( ��%���'(
#�������( ����$�%��� %����%������5 $����� $�/�% �����%����%� ���/�!+
%�(������!+ #����!�

i���� $' ����$�%��$ �����$ !���,���!+ $����� &������$��%� ��
����������+ ����$�%��� ��#�������

Ǳ!�%� � ����%� %����( �� &��� �� ���!���� ����� ���'%�5 ���� �.����
������ ������� ��#������� �!�%� %��/� ��% ������ � -��� ?�%� �����
�'���%@ � �������'( ����$�%��� $����� ��� � ���j $���� ��#������ �
��%��������%� �������� B� ��%� ����$�� -��$� ��#������ -����������
� ���������%��� �����$��� �#���%�'$ ������%!��'$ ��#��*����$ σ� �
��%����� *����� ��#������ $�� � $���*� &%�5 �������'� 
�� ����%�%'
�'����$ &%! -��$! � ���� ;�!����� �������������� (�%� ��'��� ��/� �
%���( ����%'( ��!���( ��� �$��% ����$$�%����'5 ����

8%��� �������� &������$��%� � ��%���$ � %����( � &��� ��5

Ei = E0 + (i− 5.5) · σ/2, i = 1, 2, . . . , 10

� ����'$ ��%� ����$ ���%�$��%� �#$����� ����� ���'%�5 ni �������
��#������ �� �#!���$�$! �����!� �/����$�� ����� ���'%�5 � %���� i �����

pi = B · exp

[
− (m− Ei)2

2σ2

]
. ?
�2�@

4!����� �������������� #�����,�� �% ����$�%��� m � B� $�/�% �'%�
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#������� � ����

L =
10∑
i=1

[
pi − ni + ni · ln ni

pi

]
. ?
�22@

A ��!��� ni = 0 ��������� ��� ��$�� � ������( ���� ��%�� ����'$ �!�+�
Ǳ� ����$�%�! B $���$�#���� $�/�% �'%� ��������� �����%������j

B0 =

10∑
i=1

ni

10∑
i=1

exp
[
− (m−Ei)

2

2σ2

] , ?
�20@

� $���$�#���� �� ����$�%�! m $�/�% �'%� �'�%�� �'�������� �����$���
$�%���$ C#���%� � �������D ?�$� ��#�� ���@�

A�#�$�$ %����� ��%����� #������� m = E0� � � #�����$��%� �%
��%���� � #������� B �������$ �����%���%� ����'%�� ��%���'( #������5
m � B 1�p.$� ������%����'$� ��%������$�� ���!����'$� �� -!�����
�������������� �� �� #�$�%�%�� �%� ������� #�������

<

10∑
i=1

ni >= B ·
10∑
i=1

exp
[
− (i− 5.5)2

8

]
≈ 5 · B. ?
�2�@

Ǳ�&%�$! ��%����� B �% � �� �		 ���%��%�%�!�% ������5 �%�%��%���
&������$��%� �% � �� �		� �� ����
��� ��������� �����%���%� ����'%��
��%���'( #������5 B � m ������%����'$� ��%������$�� ���!����'$�
�� -!����� ������������� �� !����� ∆L = 1/2 ?1�p.'5 ������%����'5
��%�����@�

6�#!��%�% ���!����� ��������� ���/�����'5 G ��/� ��� �%�%��%���
������� � ���'%�5 ������ ������%����� � ��%������ �� -!�����
������������� ���% ���%�%���� %���!+ �����%���%� ����'%�� ��%���� �
#�������� 
�� ������ $���' ��#������ ��/� �� ����� !(!�*���� ���
��#��5 �%�%��%��� ������� � ���'%�5� A�#$�/��� &%� ��R�����%��
�%�!%�%���$ ������5 ���������� $�/�! ����$�%��$� B �m ?��&--�����%
����5��5 ���������� � ��*�$ ��!��� ����� �!�+@� Ǳ�.����$�$!� ����
�' �������'$� ����$�%��$� $����� �'�� ������ *����� �� ���!�'��%�
Γ � ��%��������%� ������� B� %� %�����%� ������ ����( ����$�%���
!(!�*����� � !$���*����$ �%�%��%����
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�bk[ar 
���j A����%���%� ����'%�� ��%���'( #������5 ����$�%��� B �
m ��#�������5 �����5 ������%����'$� ��%������$� (B̂1, B̂2) � (m̂1, m̂2)�
���%��%�%������ ���!����'$� �� -!����� ������������� �� !����� ∆L =
1/2 ?�/����$'5 !������ ������� 1�p@� 3%�%��%��� �����%�� $�%���$
>��%�.����� � ��/��5 %���� G 103 C&������$��%��D
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!�"	���
�� ��#*��,

A ����%��� ������%�� &������$��%����'( ����'( ���%� %���!�%��
��%�� &������$��%����'( ���'%�5 C������%�����%�D �� ��������� %����
���'%�5 � ���%��%�%��� � %����%������$� ��������$� &%�( ���'%�5�

7�� ���
������ ��.���� 
��( �������

B������5 #�����5 ������%�� &������$��%� �����%�� #�����
��%�$����� � ��#������� ���'%�5 ��!( �������� ������� $�/��
�-��$!������%� ����!+,�$ ����#�$� Ǳ!�%� ��/��� ���'%��
(����%���#!�%�� ������$ ����$�%��� x � � ��%��� ���'%�5 �$�+%��
���'%�� ��!( �������� 3��'%�� ����� � ������ �����������' �
���%��%�%��� � �#���%�'$ �������������$ �����%���%�5 f1(x)� ���'%��
�%��� � ������ " f2(x)� B���!�%�� �������%� %��!+ -!����+ ����$�%���
Ψ(x)� �%��' �� #������+ &%�5 -!����� ��%�$����'$ ����#�$ ��#����%�
���'%�� �� ��� C���%'�D  �!��'� %� �� ���� Ψ(x) > Ψ0� %� ���'%��
�%����%�� � �����5  �!���� � ���%����$ ��!��� " �� �%���5� B���������
��%�$������%� $�/�� ������%�#�����%� ����!+,�$ ����#�$� Ǳ!�%�
�'��� ���� ��� � #������� Ψ0 ���������%�� %�$� �%��' � ����!+  �!��!
�������� #������� ���%� ε0 ���'%�5 ����� � ������� ��%�$����'$
����$�%��$ �%���� ��#��H�$ %��!+ -!����+ Ψ(x)� ��%���� $���$�#��!�%
���$��� ε1 � ����!+  �!��! ���'%�5 �%��� � �������

Ǳ�(�/�� ����������� ��%�$������%� �%���� $�/�� -��$!������%� ��.
��#��$!� �� ��*���� #����� �!,��%�!�%� ����H�$ ��� �� ���� � %� /�j
����!�*�$ ����$�%��$ ��#������� ���'%�5 �����%�� �%��*���� -!����5

�1�
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������������� Ψ(x) = f1(x)/f2(x) ?���%���5 ��5$��� " Ǳ������ T1	�
��U@ ��� �+��� �#��$�� ����#������ -!����� &%� � �%��*���� ?���%�
������#!+% �� ���-$ �%��*���� -!����5 �������������@� ������ ��
����%��� &%�% %����%������5 ��#!��%�% $�/�� ������#���%� %����� %� ���
�� �� ���%�%���� (���*� �#���%�' -!����� ������������� f1(x), f2(x)�
A �����%�� ���+�%����� ����$�%��$ ���$�� ��#������� ���'%�5 ��!(
��������  �� ��/��� ���'%�� ����'���%�� ��!$� ����$�%��$��

Ǳ!�%� ���'%�� ����� � ������ �$�+% -!����+ �������������
�����%���%�5

f1(x1, x2) =
1

2π
√

1− q2 exp
{
−x

2
1 + x2

2 − 2qx1x2

2(1− q2) +
x1 + x2 − 1

1 + q

}
, ?���@

� ���'%�� �%��� � ������ " -!����+

f2(x1, x2) =
1

8π
√

1− q2 exp
{
−x

2
1 + x2

2 − 2qx1x2

8(1− q2) − x1 + x2 + 1
4(1 + q)

}
. ?���@

�� �� !����%���� �%� < x
(1)
1 >=< x

(1)
2 >= 1� < x

(2)
1 >=< x

(2)
2 >=

−1� D(x(1)
1 ) = D(x(1)

2 ) = 1� D(x(2)
1 ) = D(x(2)

2 ) = 2 � q " ��&--�����%
���������� ?��������'5 ��� ���'%�5 ����( �������@� A �����%��
����$�%��� ��#������� ���'%�5 ����$�%��$ %�� ������%�j C��!��'5D
����$�%� � ������#������$ %���'( -!����5 �������������

Ψ1 = ln
f1(x1, x2)
f2(x1, x2)

= ln 4 + 3 · 2qx1x2 − x2
1 − x2

2

8(1− q2) +
5(x1 + x2)− 3

4(1 + q)
, ?��2@

C��!��'5D ����$�%� � �����������5 -!�����5 ������������� ?�� #�$�����
����������@

Ψ2 = ln
f∗
1

f∗
2

= ln 4− 3
8
(x2

1 + x2
2) +

5(x1 + x2)− 3
4

?��0@

� C����!��'5D ����$�%�

Ψ3 = x1 + x2. ?���@
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B������ ����#!��� &%�$� ����$�%��$� �%����� �'�����$ �������!
C���$���D ���'%�5 �%��� � ������ � ����!+  �!��!

εi =
∫

Ψi(x1,x2)>Ψ0

f2(x1, x2)dx1dx2 ,

��� !������
∫

Ψi(x1,x2)>Ψ0

f1(x1, x2)dx1dx2 = ε0 = 0, 5. ?��1@

�� ���� ��� ��������'  ��-��� #�����$��%� ε1, ε2, ε3 �% ��&--�����%�
���������� q� ��� � ���/�� �'%�� ����$�%� �%���� Ψ1 ���#���� ��$'$
�!�*�$� 8�%������ �%$�%�%�� �%� ��� −1 < q < −0, 72 C����!��'5D
����$�%� Ψ3 �!�*� ��#�����% ���'%��� ��$ ����$�%� Ψ2� ���%�����'5
�� �����������5 -!����� �������������� �� !��%'��+,�5 ���������+
����$�%����

7�� 
�#���������� ��  ���$������ ��� �$�


��  ��
������ ��.����

A ��!��� ��#������� ��!(���%���'( ���'%�5 �'���% ��#$�/�'$
���$���%� ���������'5 ���7$� ������/���'5 3������'$ A�9� T1�U � ��1

 ��!� � ������#�����'5 ��� ��#������� ���%�� � ����'( &������$��%�( ��
��%����'( �!���( � ������������ T
	� 
�U�

4��$����� ��� ���$������ $�%��� ������������'( $�%��� ���/�'
�'�����%��� ����!+,�� !������j � ��!(���%���'( ���'%��( ���%��'
��� �� ���/�' �'%� ��������� � %��� ?�����$��� ���� ������ ���%���
" ����� %� � �%���� ���%��� ���/�� �'%� �����$@ � �������������
�����%���%�5 �� ����$�%�! ��#������� ���/�' �'%� ��������' ��� �����5
� �%���5 ���%��'� B� ��� ��/� �� #��� &%�( ������������5 �����%���%��
$�/�� �����%� �������%�� ��� ���%�� ����� � � �%��� � %���� � %��/�
����%�����%� ������������� �����%���%�5� B����� &%�% $�%�� $�/�� �'��
�' ��#��%� �� $�%���$ ��#������� ���%��� � $�%���$ ������ ��,� � �����
���%�� ����� � � �%��� � %��� �� ��!$����$! ������������+ ���'%�5�
6���$�%��$ ���+ &%� � $�%���� ����� ����!+,�� ���#��������

Ǳ!�%� $�%�$�%������� �/������ ����� ���'%�5 ����� � %��� ����� Nx�
���'%�5 �%��� � %��� " Ny� 8 �!�%� �� �'������$! ����$�%�! ��#�������
��� &������$��%����'( ���'%�5 ���%����� ��!$�����  ��%� ��$$� nij ; i =
1, 2, . . . , k; j = 1, 2, . . . , k� Ǳ�������/�$� �%� ������������� �����%���%�5
���'%�5 ����� � %��� �� ������$  ��%� ��$$' ����� xi, i = 1, . . . , k� � ���
���'%�5 �%��� � %��� " yi, i = 1, . . . , k� 8# !������ ���$������ ���/�'
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�bk[ar ���j A������� ���$��� ���'%�5 �%��� � ������ � ���'%��$ ����� �
������ ��� ������#������ ��#�'( ����$�%��� �%����j ε1 " ���%���5
��5$��� " Ǳ������ � ���������5 -!�����5 �������������� ε2 " ���%���5
��5$��� " Ǳ������ � �����������5 -!�����5 ������������� ?�� !�%���
����������@� ε3 " ����$�%� �%���� Ψ3 = x1 + x2
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�'%� ����������' %�/���%��j

k∑
i=1

xi = 1;
k∑
i=1

yi = 1. ?��
@

>�%�$�%������� �/������ ����� ���'%�5 � ��/��5 ���5��  ��%� ��$$'
%����� $�/�� ������%� � ����

pij = Nx · xi · xj +Ny · yi · yj . ?���@

Q��� �' �� �'�� �%�%��%������( -�!�%!���5 ��� �� ��%����� ���'%�5� %�
$' $� �� �' ���%���%� k · (k + 1) /2 !�������5

pij = nij , i = 1, 2, . . . , k, j = i, i+ 1, . . . , k ?���@

?!�%��� ��$$�%���  ��%� ��$$' �%����%����� ��� �����@� A�� �
��#�����$'( ����$���'( ! ��� 2k� � !�������5 " k · (k + 1) /2� ��&%�$!
��� ���%�%���� ����*�$ k ����� !�������5 ����'��% ����� ���#���%�'(
� ���%�$� !�������5 $�/�% �$�%� �����%������ ��*����� �� �� ���!��%�
&%� ����(���$�� !������j

k · (k + 1)
2

≥ 2k =⇒ k ≥ 3. ?���	@

������� &%� ����!/����� %����� ��#�����% ������+�%������%� ���+
$�%���� A ��5�%��%������%�� ��� �� ��%� �%�%��%������� -�!�%!����
?� �����$ ��!��� ���%��%�%�!+% ������������+ �����%���%�5 Ǳ!������@�
���$� %� �� ��� #������� k > 3 !�������5 !/� �!��% ����*��
��$ ���#���%�'(� � ���%�$� !�������5 �%���% �����$��%��5� >�%��
$����$����� � ������������� ��#�����% ���5%� &%� %�!����%��

3������ ������$ #�$��! ����$���'(� ��%���� �#����% ��� �% !�����5
���$������j

x̂i =
√
Nx · xi; ŷi =

√
Ny · yi; x̂i, ŷi ≥ 0. ?����@

����%��� �������#������ ��������j

Nx =

(
k∑
i=1

x̂i

)2

; xi =
x̂i
k∑
j=1

x̂j

;Ny =

(
k∑
i=1

ŷi

)2

; yi =
ŷi
k∑
j=1

ŷj

. ?����@
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A &%�( ����$���'( $�%�$�%������� �/������ ����� ���'%�5 � ��/��5
���5��  ��%� ��$$' #����'���%�� ��$�� � ���,�j

pij = x̂i · x̂j + ŷi · ŷj. ?���2@

B����� $�/�� ���%���%� �� ���-$�����!+ -!����+ �������������j

L =
k∑
i=1

k∑
j=1

(pij − nij · ln pij) . ?���0@

������� $���$!$� &%�5 -!����� ���%���% ���%�$! �# 2k !�������5j

∂L
∂x̂i

=
k∑
j=1

x̂j ·
(
2− nij+nji

pij

)
= 0, i = 1, 2, . . . , k,

∂L
∂ŷi

=
k∑
j=1

ŷj ·
(
2− nij+nji

pij

)
= 0, i = 1, 2, . . . , k.

?����@

������� #������ %���� !������ $���$!$�� $' C#��'��D � ���������
�� ����$���'� " ��� �� $� !% �'%� �%����%����'$�� Q��� /� -��$�����
$���$!$ �������% �� ����5.%� ����$����5 � #����,7��!+ �����%�� %� �
���! ������'����%� -!����� ������������� �7 $���$������ #������� ��
�����5 ����$����5 �!��% ���%� �%��� ��  ������ ��#��*7���5 �����%�� %� ��
��� #������� ���%��%�%�!+,�5 ����$����5� �����$ �!�+� B� �� $�/��
$���-�������%� !������ $���$!$� %��� �%��' ��� �'�� ����������' ���
�+�� � ��!���j

k∑
j=1

x̂ix̂j ·
(
2− nij+nji

pij

)
= 0, i = 1, 2, . . . , k,

k∑
j=1

ŷiŷj ·
(
2− nij+nji

pij

)
= 0, i = 1, 2, . . . , k.

?���1@

Q��� ���/�%� ��� !�������� ��� -�����������$ CiD� %� ���!��$
����!+,�� !������j

k∑
j=1

pij =
1
2

k∑
j=1

(nij + nji) . ?���
@

A���7$ ���#������� ��� �����5 &������$��%�����5 �%�%��%���

N =
k∑
i=1

k∑
j=1

nij
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� ����!$$��!�$ ��������� ������%�� �� CiD� B� �� ���!��$ �,7 ����
���%��*����j

Nx +Ny = N. ?����@


��!�%�$� $' ���!���� ���� ��*���� x̂
(0)
i � ŷ

(0)
i ���%�$'

!�������5 ?���1@� %����� �%� ��� x̂
(0)
i � ŷ

(0)
i ����*� �!��� B� �� �� ��

!����%���� �%� �$��%�� ���������� $�� � ��*���5� #�����,�( �% ����$�%��
θj

x̂i = x̂
(0)
i cos θ + ŷ

(0)
i sin θ; ŷi = ŷ

(0)
i cos θ − x̂(0)

i sin θ, ?����@

� ��%����� ��#$�/�'( #������5 ����$�%�� θ� �� ��%���$ -!�����
������������� ����� ����5 � %�5 /� ����%��%�� ���������%�� %���������$
���%����%������%� ���( ����$���'(j

− arctan

(
min
i

x̂
(0)
i

ŷ
(0)
i

)
≤ θ ≤ arctan

(
min
i

ŷ
(0)
i

x̂
(0)
i

)
. ?���	@

3��%��%�%�!+,�� ������ �������%�� ���'%�5 ����� � %��� �����

Nx = N −Ny =
(√

N
(0)
x cos θ +

√
N

(0)
y sin θ

)2

. ?����@

Q��� � ���%��%�%��� � $�%���$ $����$����� � ������������� ���
������ �������%�� ���'%�5 ����� � %��� $' �!��$ �%���%�  ��-��
�� ���-$������5 -!����� ������������� � #�����$��%� �% Nx� %� &%�%
&--��% ������%�� � ���� C�%�����D� i���� ��� �/����% �,7 ���� �+����# �
������$� ��#������5 ������ Nx � Ny� ��������� �%� ��� ��%�$�#���� ���(
����$���'( ��*���� ��������%�� �%����%����� �������$����5 #�$��'
Nx ↔ Ny � xi ↔ yi� � &%� �#�����%� �%�  ��-��� -!����� ������������� ��
����$���'$ Nx � Ny �������+%� Ǳ�� &%�$ $� !% ��#����!%� ��� C�%�����D
�� ����$ !����� ��� ���� ��,�5� Ǳ�����+�%���!�$ !��#���'� &--��%'
���������$� �������'$� &������$��%�$��

Ǳ!�%� ��%����� ����� ���'%�5 ����� � %��� ����� N̄x = 40� �����
���'%�5 �%��� � %��� N̄y = 100� � ������������� �����%���%�5 �� k = 4
������$  ��%� ��$$' ���%��%�%����� ����'j

x̄i =
1− q
1− q4 q

i−1; ȳi =
1− q
1− q4 q

4−i; i = 1, 2, 3, 4. ?����@

B� �� ������#!�  �����%�� ��!��5�'( ����� ��� ������������� Ǳ!�������
$' $�/�$ ���!��%� ��� q = 1

2 ��#!��%�% C&������$��%�D� ������7��'5 �
%���� ����
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g`u_r ���j 3�!��5��� �'����� ��!$���� � ������������� ��!(���%���'(
���'%�5 ?����@ ��� q = 1/2�

�����
j

� � 2 0i
� � 0 � 1
� � � 0 �
2 
 � � ��
0 2 � � 2	

g`u_r ���j 3�!��5��� �'����� ��!$���� � ������������� ��!(���%���'(
���'%�5 ?����@ ��� q = 0.3�

�����
j

� � 2 0i
� �0 � 2 �
� 
 � � 2
2 2 � � ��
0 � 2 �2 ��

�� ���� ��� ��������'  ��-��� �� ���-$������5 -!�����
������������� � ������ x1� y1 � #�����$��%� �% Nx�

�� ���� ��2 ������7� %��/�  ��-�� #�����$��%� ��%�$����� �Ny �% Nx�
����*� ������ �%� � �������( C�%�����D �!$$� Nx +Ny ���%������

A &%�$ ���$��� �������������� $�%���� ���#����� �� �����
&--��%���'$ �����%��$ ��� ������ ����� ���%�� ��/�� � ���%��
��������� �%� �����%�� ��#������� &%�$ $�%���$ #�����% �% �%�����
C������'%��D ������������5 �� ����$�%�! ��#�������� C��!�*�$D ��*
����$�%� ��#�������� �'���� $���*�� #������� q = 0.3� � ���%���$ ��+
������!�!�

Ǳ��!���*���� ��!$����� ������������� �����%������ � %���� ����

�� ���� ��0 ��������'  ��-��� �� ���-$������5 -!�����
������������� � ������ x1� y1 � #�����$��%� �% Nx�

;��-�� #�����$��%� ��%�$����� � Ny �% Nx ������7� �� ���� ���� ��
&%�% ��# � �������( C�%������D �!$$� Nx +Ny %��/� ���%������
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�bk[ar ���j ;��-��� �� ���-$������5 -!����� ������������� ?�����@ �
������ �����%���%� x1� y1 ��� C&������$��%����'(D ����'( �# %���� ����

�bk[ar ��2j ;��-�� #�����$��%�
��%�$����� � #������� Ny �% Nx
��� C&������$��%����'(D ����'(
�# %���� ���� ����*� ������ �%� �
�������( C�%�����D �!$$� Nx+Ny
���%����� � ����� N = 121�
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�bk[ar ��0j ;��-��� �� ���-$������5 -!����� ������������� ?�����@ �
������ �����%���%� x1� y1 ��� C&������$��%����'(D ����'( �# %���� ����

�bk[ar ���j ;��-�� #�����$��%�
��%�$����� � #������� Ny �% Nx
��� C&������$��%����'(D ����'(
�# %���� ���� ����*� ������ �%� �
�������( C�%������D �!$$�Nx+Ny
���%����� � ����� N = 154�

�bk[ar ��1j ;��-��
�� ���-$������5 -!�����
������������� ���
C&������$��%����'(D ����'(
�# %���� ���� 
�� �����������
���%�� ����� � ���%� ������#�����
!������ x1 + x2 > y1 + y2�
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Ǳ�  ��-��! -!����� ������������� �� ���� ��0 $�/�� ���!��%� ������
����� ���'%�5j

Nx = 51± 12; Ny = 104± 14. ?���2@

Ǳ��!����'� ������ �*���� �!,��%����� ����*� �%�%��%������( �
��%�$�%������ ���+��+% ���%�$�%�����!+ �*���! $�%���� �����������
���%�$�%������5 �*���� ����%��% %��� �%� ���� ����$�%� ��#�������
�$��% �'���!+ &--��%�����%� ��#�������� %� ���%�$�%������� �������
� ���� C�%�����D $�/�% �����$ ����#�!%�� A $���*�5 �%����� &--��%
C�%�����D #�����% �% �������%�� ������� � ��!$����5  ��%� ��$$� G
!��������� ����� ������� ��$�� � !�!�*��% ��#�������� �� ��� &%�$
!���������%�� � ����� ����$���'(� �� ��%��'$ ���� $���$�#�����%�
-!����+ �������������� i���� ���� ����%� ��$���$����

�� ����'5 �# ��� ���/������� ������� G %�/���%������%�  ��-����
-!����� ������������� ��� ����� � ���%� ���'%�5 � ��� �%��� ��G �$��%
����%�� ��R�������� >' �� -��$���#������ �%� ��#'��%� ���'%��$�
����� � ���%�� �+��� $�%�$�%������� !������� ��������+,��� �%�
��#'��%� ���'%��$� ����� � ���%�� ���#! ���$��% &%! ������$!� �  ��-���
-!����5 ������������� �� Nx � Ny �%�����%�� ��#�'$�� �� ���� ��1
�����%�����  ��-�� L(Nx) ��� !������

x1 + x2 > y1 + y2. ?���0@

A%���5 C�%����D ��� &%�$ ����#� �� ����� ����$  ��-��� ��� Ny ����#��%
��! �5 C�%����D�

Q�%��%������ � &%�$ $�%��� $�/�% �'%� ��������� ��%�������
���%�$�%������5 �*����� ��%��'� ���� ���������� ���������%�j
����!%�%��� %��%�� � %��� ���'%�5� ��#����� ������������5 ��
����$�%�! ��#������� ��� �����5 � �%���5 ���%��' � ���'%��� -��
�% $�� ����%���'( ���'%�5� � ��%��'( #��� ��%�������� %����� ��� �#
��(� � %� ��
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A �������� ������%�� &������$��%� $�/�% ��#����!%� �������
��������� �� ���!+%�� ���!����'� &������$��%����'� ����'� �
%����%������$� �������#����$�� ����#����� � �%��%� �� &%�% ������
�� �!,��%�!�%� �������%� �� ����� $�/�� ��#����'$� �%�%��%������$�
���%����$�� �������� ���!����'$ � &������$��%�����5 -�#��� �����%��
���%���5 χ2�

8�� " ��� �� χ2

Ǳ!�%� &������$��%����'� �#$������ ���#�����' yi, i = 1, . . . , n� �*����

�#$�����5 σi � %����%������� �������#���� " y
(th)
i � A�������5 χ2

��#'���%��

χ2 =
n∑
i=1

(yi − y(th)
i )2

σ2
i

. ?���@

�





�
�������� >� Ǳ�����&�'�Ǳ�!�)� &��!���� �'.� �(!����� 5& Ǳ

E���� n �����%� ��#'��%� �����$ �%�����5 ������'� Ǳ�������/�$�
�%� �������' yi �����������' �� #����! ;�!��� ����! ���� � ������ �

#������� y
(th)
i �� ������������%���'$ �%��������$ σi� B� �� ���#'���%���

�%� �������� χ2 �$��% �%�����%��� �������������� ��� ��%��� � #�����%
%����� �% ����� ��� ��$'( n� 4!����� ������������� �����%���%�5 ��
�������� χ2 �� �� ���!���%��j

Fn
(
χ2
)

= An ·
(
χ2
)n

2 −1
e−

χ2

2 , ?���@

 ��

An =
1

2n/2Γ(n/2)
=

⎧⎨
⎩

1
2k·(k−1)! , n = 2k,

k!·2k− 1
2

(2k)!
√
π
, n = 2k + 1.

3������ #������� χ2 � ��������� ����'

< χ2 >= n, D(χ2) = 2n. ?��2@

�����%����%������� -!����� ?�$� ��#�� 2��@ %�/� �� �� �'������%��j

ϕ(t) =
1√

1− 2it
n . ?��0@

�������� �����%��� #������� χ2 ��� �� $���*� ������ � � ����� (n − 2)
��� n > 2 ?��� ����5 � ��!( �%�����5 ������' ����#������ -!�����
������������� �� �� �� ����,��%�� � �!��� ��&%�$! ����� ��������
�����%�� � %���!�% ���������� � �����#� � � ����( ��!���( �������% �
#������+ 	@�

B�� ��� �����%���%� ���!��%� �����.���!�� %����� #������� ���
������'���$ ������������� �����%���%�5 �%�� � ����� �!�+� %� ���
�����#� �� ����� &������$��%� � %�����5 ������#!�%�� ��%� �������
������������� Pn(χ2) " �����%���%� #��� ��%������%� #������� χ2�
����'*�+,�� %�� ��%���� #��� ��%�������� � �����$ &������$��%� ?�,7
�H� ���%�� ��#'��+% !�����$ �������� ��.�� ��5��� " ?��#���1� @�6�"@�
Q��� &%� �����%���%� ����� $���� %� �� ����� ���(��� ������ �� ����
�!$�%�� �%� ���� !������ ������� � %�����%� ����� � ��� ����� ���#��
� �� %� �� ����� (���*��� =%� ������ ��� � �����%����%�!�% � �����������5
������ �*���� σi� ���%'��� ��������� #�$������� $�/�� ���%�%� !�����$
������� min{Pn(χ2), 1 − Pn(χ2)} ��� �����%� C������%����'5 ��%�����D
(χ2

1, χ
2
2) ��� !����� ������� P < 0, 5 %���5� �%� Pn(χ2

1) = 1−P � Pn(χ2
2) = P �



>��� &��!���- χ2 �
�

A'�������� �����%���%�5 Pn(χ2) " �� ����� ����%�� #���%��� ��&%�$!
��'��� ����#!+%�� %������$� #������5 ���  ��-���$�� �� ���� ���
��������'  ��-��� Pn(χ2) ��� ����%��'( #������5 n�
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µ=
χ

2
- 

n

2n
�bk[ar ���j 
�����%����'�
��%�����' ��� µ = (χ2 − n)/

√
2n

��� ���������( !�����5 �������
� #�����$��%� �% ����� �%�����5
������' n

>�/�% ��#����!%� ����(���$��%� ���!��%� #������� Pn(χ2) ���
#������� n� ��%��� � ��% ��  ��-���� B� �� $�/�� �������#���%���
���!����%��5 -��$!��5

Pn(χ2) = Pn−2(χ2) +
Bn

(n− 2)!!
e−χ

2/2(χ2)
n−2

2 , ?���@

 ��

Bn =

{
1, ���� n G �H�%����√
2
π , ���� n " ���H�%����

8�����#!� &%� ���%��*����� $�/�� �����%���%� Pn(χ2) � ���� �!$$'�



��	������� >� Ǳ�����&�'�Ǳ�!�)� &��!���� �'.� �(!����� 5& Ǳ

Pn(χ2) =

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

e−
χ2

2 ×
(

(χ2)
n−2

2

(n−2)!! + (χ2)
n−4

2

(n−4)!! + . . .+ χ2

2 + 1
)
,

��� n G �H�%��$�√
2
π × e−

χ2

2 ×
(

(χ2)
n−2

2

(n−2)!! + (χ2)
n−4

2

(n−4)!! + . . .+ (χ2)
1
2

1

)
+ P1(χ2),

��� n G ���H�%��$�
?��1@

P1(χ2) =

√
2
π

∞∫
√
χ2

e−
λ2
2 dλ.

�������� ��� ����*�( n $�/�� ������#���%� %�% -��%� �%�
�%�����'� ��� ��$'� � χ2 �%�%��%������ ��#�����$' � �$�+% ����������
������������� �����%���%�5� B� �� � ���%��%�%��� � ���%������5
���������5 %����$�5 ��� ����*�( n ������������� �����%���%�5 �� χ2

���/�� �%��$�%��� �  �!����! ������������+� ���%'���� �%� < χ2 >=
n� D(χ2) = 2n� ���!���$� �%� ����$����� µ = χ2−n√

2n
��� ����*�( n

������������ �� #����! ;�!���� �� ���� ��� �����%�����' ������%����'�
��%�����' �� µ � #�����$��%� �% n ��� ����%��'( !�����5 ��������

Q��� ��� �'�������� %����%������( �������#���5 �����.%� �������%��
����$�%��� %����%������5 $����� ����������� %��� �%��' $���$�#�����%�
χ2 ?&%� &��������%�� ���$�����+ $�%��� $����$����� � �������������
������ ����$�%��� $����� ��� ;�!����� � ������������� �#$����$'(
�������@� %� ��������� �%� ��#!��%�%' �������� �� �� ����� %����� �
&������$��%�$ �!�!% ����������'$�� A �����$ ������/���� ����/����
$�/�� �������%�� !$���*�� ����� �%�����5 ������' �� �������%��
��%�$�#��!�$'( ����$�%����

=%�% �����% �%�� � ���������� � ��!��� ����5��5 #�����$��%�
�/����$� � #������� �% ����$�%���� 
�5�%��%������ �!�%� �
-��$!�� ?���@ %����%������� #������� y(th) ����!+,�$ ����#�$ #�����% �%
��%�$�#��!�$'( ����$�%���j

y
(th)
i = ai +

k∑
j=1

ri,jσiαj , i = 1, 2, . . . , n, ?��
@

 �� k < n� ai " $�%�$�%������� �/������ yi� αk " ��%�$�#��!�$'�
����$�%�'� <�#��#$���'� ��!��5�'� �������' xi� ���������7��'� ��



>��� &��!���- χ2 ���

���$�����$! #����!� ��%����� %�$� /� ��$'$�� �� �$��%� χ2 %�����
������#!�%�� ��#!��%�% $���$�#����

λ = min
αj

χ2 = min
αj

n∑
i=1

⎛
⎝xi − k∑

j=1

ri,jαj

⎞
⎠

2

. ?���@

Q��� ��� ���$�! �����5 $�%���'� ���%�������5 �# ��&--�����%�� ri,j �
����� k� %� &%� �#�����%� �%� �%����' $�%���' � n.$����$ ����%����%��
����#!+% ����5 k ����5�� ��#�����$'( ���%���� Rj � B� �� � ����%����%��
����$���'( xi $�/�� ��5%� %���� ��%� �������� �������#������� � ��#���
��%��� � ����'� (n − k) ���%���� ��%� ������' �� ���$ ���%���$ Rj �
Q��� �������#������$ ������%� ����5%� � &%�% ��#��� %� ���'� ��!��5�'�
����$���'� ξi ��%��!%�� �%�%��%������ ��#�����$'$� � ���������7��'$�
�� ���$�����$! #����!� ������� �������� λ %����� �!��% #������� ���

λ = min
αj

⎡
⎢⎣n−k∑
i=1

ξ2i +
n∑

i=n−k+1

⎛
⎝ξi − k∑

j=1

r̃i,jαj

⎞
⎠

2
⎤
⎥⎦ =

n−k∑
i=1

ξ2i . ?���@

Ǳ�������� #����� �#�����%� �%� ��!��5��� �������� λ �����%�� �!$$�5
������%�� (n − k) ��!��5�'( �������� ���������7��'( �� ���$�����$!
#����!� �� #����%� �$��% ������������� χ2 ��� (n− k) �%�����5 ������'�

E%��' !����%���� �%� &%� �� ��� �� %��� ����$�%��$ ����%�5 ���$���
Ǳ!�%� #�����$��%� %����%������5 $����� �% ����$�%�� α %������ �%� ���
��!( �#$����$'( ��������( x1, x2 �������� λ �����

λ = min
α
χ2 = min

α

[
(x1 − α)2 + (x2 − |α|)2

]
. ?���	@

Q��� � ����%����%�� ��!��5�'( ������� x1, x2 �����%� �������#������
������%�

x1 =
ξ1 + ξ2√

2
; x2 =

ξ1 − ξ2√
2
⇐⇒ ξ1 =

x1 + x2√
2

; ξ2 =
x1 − x2√

2
, ?����@

%� ����$����� λ ��� ��#����'( #�������( ξ1, ξ2 �����

λ =

⎧⎪⎪⎨
⎪⎪⎩

ξ21 , ���� ξ1 < 0, ξ2 < 0,
ξ22 , ���� ξ1 > 0, ξ2 > 0,
ξ21 + ξ22 , ���� ξ1 < 0, ξ2 > 0,
min{ξ21 ; ξ22}, ���� ξ1 > 0, ξ2 < 0,

?����@
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B����� $' $�/�$ ��5%� ��%� �����!+ -!����+ �������������
�����%���%�5 �� λj

P (λ < λ0) =
1
2π

∫
λ<λ0

e−
ξ2
1+ξ2

2
2 dξ1 dξ2 ?���2@

8�����#!� ���#������� ��� ��%� ���� �����%���%� ;�!���

Φ(x) =

√
2
π

x∫
0

e−
t2
2 dt, ?���0@

$�/�� #�����%� �%��% � %���$ ����j

P (λ < λ0) = Φ
(√

λ0

)
+

1
4

[
1− e−λ0

2 − Φ2
(√

λ0

)]
. ?����@

�%�+�� �� �� ���!���%�� ��--������������ -!����� �������������
�����%���%�5 �� λj

F (λ) =
1√
2πλ

e−
λ
2 ·
[
1− 1

2
Φ
(√

λ
)]

+
1
8
e−

λ
2 , ?���1@

�%� �� ��������% � �������������$ χ2 �� � ����$ �����$ �%�����5 ������'�
8 (�%� �������� �����%��� #������� ����� �!�+� %�� /� ��� ��� χ2 � ����5
�%�����+ ������' ?��%� ���!�$�� ���(���$��%� ��� λ = 0@� �� !/� �������
#������� � ��������� �%����+%�� �% ���%��%�%�!+,�( #������5j

< λ >= 1 +
1
4
− 1

2π
≈ 1, 091; D (λ) = 2 +

11
16
− 3

4π
− 1

4π2
≈ 2, 423. ?���
@

A�7 /� &%� ������������� ���/� � χ2 � ����5 �%�����+ ������'� ��$ �
��!$��

8�� " ��� �� ������

A �����%�� �������%����� � ���%���� �� ����� � ���%���+ χ2 $�/��
������/�%� ���%���5 #����� T��U� 
��� � %�$� �%� ���%���5 χ2

�!��%��%���� %����� � �����+%��5 �������� �%�������� �#$������ �
#������� �% %������ A %� /� ���$� ��%��%����� �/���%� ���$���� ����� �

����� ����/�%����'( � �%����%����'( ��#���%�5 yi − y(th)
i �



>�/� �� Ǳ����.����  !6����!� ��2

Ǳ!�%� � &������$��%� � n �#$������$� #��� ��%�������� m

����/�%����'( ��#���%�5 yi − y
(th)
i � Q��� �����%���%� ����/�%�����5

� �%����%�����5 ��#���%� ����' � ��#�'� &������$��%����'� %����
�%�%��%������ ��#�����$'� %� ������������� �����%���%�5 �� ����! m
�����%�� ����$�����'$ ?�$� ��#�� 2���0@� Ǳ� ����� �� � ���%����$
χ2 ��#��H�$ ������%�����5 �����%���%�+ Zn(m) ?��� !�����$ �������@
�����%���%� #��� ��%������%� ����*��� ��$ m� ����� ����/�%����'(
��#���%�5

Zn(m) =
n∑

i=m+1

n!
2ni!(n− i)! . ?����@

��������� �%� � ���(�$ �� ����� �����%����%�!�% �� %�����
���*��$ ����*��� �� � ���*��$ $���� �������%�� ����/�%����'(
��#���%�5� ���%'��� ��$$�%��+ ������������� �� m � %�/���%������%�
������������5 �� �������%�! ����/�%����'( � �%����%����'( ��#���%�5�
$�/�� ��R�����%� �������� �� C���*��$ ����*��D � C���*��$ $����D
�������%�� ����/�%����'( ��#���%�5� �'����� � �����%�� ��������$� �
����� m $����$������ �# ��!( ����� " �������%�� ����/�%����'( ���

�%����%����'( ��#���%�5 yi − y
(th)
i � Ǳ����%�����%�� ����� !����'$ ���

�#����/���� ��  ��-���( �#$���%� �%�������� m �% � � ������ � #�������
n/2 � �������( �%�����%�� � �%��������j σm =

√
D(m) =

√
n/4� �� ����

��2 ��������'  ��-��� !����� ������� ��� ���������( #������5 n�

8�� ���# �
������ 	��9
����

6������������$ 3%�+���%� ��#'���%�� ������������� � -!�����5
���%���%� �����%���%� T��� ��Uj

fν(t) =
Cν(

1 +
t2

ν

)ν + 1
2

� Cν =
(ν − 1)!!√
ν(ν − 2)!!

×
⎧⎨
⎩

1
2 , ν" �H�%����

1
π , ν" ���H�%����

?����@

 �� ν ��#'���%�� �������%��$ �%�����5 ������'� =%� �������������
��$$�%����� �%����%����� �!��� ��&%�$! ��� ���H�%�'� $�$��%'
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>�/� �� Ǳ����.����  !6����!� ���

������������� ����' �!�+� �H�%�'� $�$��%'

M2k =
(2k)!νk(ν − 2k − 2)!!

2k · k! (ν − 2)!!

�!,��%�!+% %����� ��� 2k < ν� Q��� !�%��$�%� � �����������%� �������%��
�%�����5 ������' ν → ∞� %� ������������� ���$�%�%������ ����(���%
�  �!����� ������������� �� ������$ #�������$ 	 � ���������5 �� ���
&%�$ ��� $�$��%' %�/� �%��$�%�� � ���%��%�%�!+,�$ $�$��%�$  �!�����
�������������j

lim
ν→∞M2k =

(2k)!
k!2k

.

Ǳ�����H�$ ��������� ���$���� ��!��5�'( �������� �$�+,�(
������������� 3%�+���%��

Ǳ!�%� �$��%�� ��������� �#$�����5 ����5 � %�5 /� ��!��5��5 �������'
xi, i = 1, . . . , n� ���������H����5 ��  �!����! #����! �� ������$ #�������$ µ

� ���������5 σ2� A'�������� ������� x̄ = 1
n

n∑
i=1

xi� �'�������� ���������

S2 = 1
n−1

n∑
i=1

(xi − x̄)2� B� �� �������� t =
√
n x̄−µS �$��% �������������

3%�+���%� � ν = n−1 �%�����$� ������'� B��/� ������������� 3%�+���%�
� ν = n− 1 �%�����$� ������' �$��% � ��/��� �# ������� ti = xi−µ

S �

=%� ���$��'� ������� �$�+% ���'���!+ ����%�����!+ ������%��
%�� ��� ���%� ��%����� #������� ������ � µ ���#���%��� >�/��
���%���%� ��!��5�!+ �������! �# ����+���$'( xi %��!+� �%� ��� �$��%
������������� 3%�+���%� � ν = n− 2 �%�����$� ������' T��Uj

ti =
(xi − x̄)

√
n(n− 2)√

S2(n− 1)2 − (xi − x̄)2n
� ν = n− 2 ?���	@

6���$�%��$ �,H� ���� ���$��� Ǳ!�%� ��������� n �#$�����5 ����5 �
%�5 /� �������' xi, i = 1, . . . , n � ��#�'$� %�����%�$� σi� ��,!+ �%�����
�� ����� ���( &������$��%����'( ����'( $�/�� �������%� �� ���%���+
χ2 ?�$� ��#�� ���@� ������#!� �������!

χ2
ν =

n∑
i=1

(xi − x̄(n))2

σ2
i

�  �� ν = n− 1, x̄(n) =
1
sn

n∑
i=1

xi
σ2
i

, sn =
n∑
i=1

1
σ2
i

.

?����@
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�� �������� �%����� �� ����� ���� � �#$������ �� ���$� ��%����'$�
$�/�� �������#���%��� ��������5� �$�+,�5 ������������� 3%�+���%� �
�����$ �%�����5 ������' ν = n − 2 ?��� ����%�%' �!��$ ���%�%�� �%�
��������� �#$������ xn $' ���������$ � ��%����'$�@j

t =
(xn − x̄(n−1))

σn

√√√√√ (n− 2)sn−1

sn
n−1∑
i=1

(xi−x̄(n−1))2

σ2
i

. ?����@

3%����� �� ����� �� ������������+ 3%�+���%� fν(t) $�/�� ��������%�
�� ����� �� � ��! �$� ���%����$� �� ����� ��� �����%���%� ����$����5 t
�� �����+%��5 �������� ����'��%� ����+���$�� #�������j

P (t) =

−|t|∫
−∞

fν(ξ) dξ +

∞∫
|t|

fν(ξ) dξ. ?���2@

;��-��� #�����$��%� !����� ������� �% t ��� ���������( �%�����5
������' ����#��' �� ���� ��0�

8�! " ��� �� "������ ���

>�,�'$ ���%����$ �� ����� ����#������ � &������$��%����� �
������������� � %����%������$ �������������$ �����%���%�5 �����%��
���%���5 ���$� ����� T��U� =%�% ���%���5 ���$���$ � �+��$!
������'���$! ������������+ �����%���%�5 ?���$�� %�� ��#'���$�5
��;� ���0 �%�/��
 /0�0�/0���@� 
�� ������#������ ���%����
���$� ����� ��� ��������� &������$��%����� � �������������
xi, i = 1, . . . , n � %����%������ � f(x) �'�����+%�� ��� ��%� �����'�
-!����� �������������j %����%�������

F (x) =

x∫
−∞

f (ξ) dξ ?���0@

� �'��������

Fn (x) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

0, x < x1,

k
n , xk < x < xk+1, k = 1, 2, . . . , n− 1,

1, x > xn

?����@
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�bk[ar ���j ;��-��� -!����5 P (λ) ?�����@ � K(λ) ?������@ ��� ���%����
�� ����� ���$� �����

>����$������ �%�������� �'�������5 -!����� ������������� �%
%����%������5 $�/�� ������#���%� � �����%�� ���%���� �� ������
6������������ �����%���%�5 �� %���$! �%�������+ �� #�����% �% ����
%����%������5 -!������ � %����� �% ����� ���'%�5 n � �'������ �
��/�����+� %����� ������������� �����%���%�5 ��� ��/�� � ������� �
#������� n $�/�% �'%� ������%��� %����� �������'$� $�%���$��
��&%�$! ��'��� ������#!+% ���$�%�%�����!+ -!����+ �������������
?&%�� ����%������ � ��#'���%�� ���%����$ ���$� �����@� ���#'���%��� �%�
������������� �����%���%�5 �� ��������

λ =
√
n×max

x
|Fn(x)− F (x)| ?���1@

� ������� n→∞ ����'���%�� -��$!��5

lim
n→∞W

(√
n×max

x
|Fn(x)− F (x)| < λ

)
=

= K (λ) =
∞∑

k=−∞
(−1)k exp

(−2k2λ2
) ?���
@

A������� �����%���%� P (λ) = 1 − K(λ) %�$ $���*�� ��$ ����*�
#��� ��%�������� �%�������� �'�������5 -!����� ������������� �%
%����%������5� � $�/�% �'%� ��#���� !�����$ ������� �� ���%���+
���$� ������ ;��-��� -!����5 K(λ) � P (λ) ��������' �� ���� ���� A�



���������� >� Ǳ�����&�'�Ǳ�!�)� &��!���� �'.� �(!����� 5& Ǳ

$�� �( ��������( %����� $�%�$�%������5 �%�%��%��� �������%�� %�����'
#������5 -!����5 P (λ) ��� K(λ) ?�$�� �����$��� T
2U@�

���%���5 ���$� ����� $�/�� ������#���%� � ��� ��������
��������/����� �%� ��� �'������'� -!����� Fn1(x) � Fn2(x)
���%��%�%�!+% ����$! � %�$! /� ������������+ �����%���%�5� 
��
��!( �'����� n1 � n2 ���'%�5 ���� � � %� � /� ������������� ��������

λ =
√

n1 · n2

n1 + n2
×max

x
|Fn1(x)− Fn2(x)| ?����@

� ������� n1, n2 → ∞ �$��% ������������� �����%���%�5 ���$� ������ �
��� �%����� �� ����� ��!( �'����� $�/�� ����#���%��� -!�����5 P (λ)�

A ����%� T
�U �� ���������( ���$���( ��������� ��������� $�,���%�
���%����� ���$� ����� � χ2� ��� � �/�������� ����#$�/�� �����%�
�'���� �%� ����5.%� �# &%�( ���%����� �� ���( ��%!����( ����� $�,�'5�
��$ ��! �5� ��%��%������ �� ���%�� %�( ��!����� �� �� ���%���5 χ2 ����%�
����#� ���$���%��

Ǳ�����+�%���!�$ &%� !%���/����� ��!$� ���$���$�� A ��/��$
���$��� ��������%�� C��/���D %������ �������� �+,��� �%� �#$������ �
�	 C&������$��%����'(D %����( �$�+% ;�!����� ������������� �� ������$
#�������$ 	 � ���.��� �%��������$ σ� Ǳ� ��/��$! ���%���+ !�%�����$
���� ���� #������� �%����� ������� �p� � ���� �%����� ������� �� �����$!
���%���+ �%�����%�� $���*� &%� � ���� ��  ���%�#� ���#��7%�� C��/��5D�
A����%���%� �%��� �!%� C��/�!+D  ���%�#! �!��$ ��#'��%� $�,���%�+
���%�����
Ǳ���'5 ���$��� Ǳ!�%� ��%����� ������������� �����%���%�5
��5�%��%����� ;�!����� �� ���.��� �%��������$ σ� �� ��%����� �������
#������� ��� �#$������ ��$�� i �����

x̄i =
i− 5.5

4.5
· σ · µ, i = 1, 2, . . . , 10, ?����@

 �� µ G ����$�%� �%�������� ��%����5 %����� �% ��/��5� Ǳ��
µ = 0  ���%�#� �%�����%�� ���������5� � $�,���%� �+�� � ���%���� �
���%��%�%��� � �'�����'$ ���� �$ �%�������� ���/�� �����%��� 0, 05. ��
���� ��1 �����%������ #�����$��%� $�,���%� ���%����� χ2 � ���$� �����
�% ����$�%�� µ� ���%���5 χ2 �$��% � &%�$ ��!��� #�$�%�� ����� �'���!+
$�,���%��

A%���5 ���$��� Ǳ!�%� C��/���D  ���%�#� %� /� ��$�� G �	 ��#�����$'(
�#$�����5 � �!���'$ ������$ � ���.��� �%��������$ σ� 8�%���'� #�������
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�bk[ar ��1j >�,���%� ���%�����
���$� ����� � χ2 ��� �����5
$����� �%����� ��%����5 %����� �%
��/��5 ?����@�

�bk[ar ��
j >�,���%� ���%�����
���$� ����� � χ2 ��� �%��� �
���$��� �%�������� ��%����5
%����� �% ��/��5 ?��2	@�

&%�( ������� ����'

x̄i =

⎧⎨
⎩
− σ·µ√

1+µ2
, i = 1,

σ·µ√
1+µ2

, i = 2, 3, . . . , 10,
σi =

σ√
1 + µ2

, i = 1, 2, . . . , 10. ?��2	@

A &%�$ ��!��� ����$!,��%�� ���%���� ���$� ����� ����������

8�) " ��� �� 1����� 2	�� ����


�! �$ ���$���$ ������$�%�������5 �%�%��%��� �����%�� ���%���5
�� ����� >�#��� "3$������ T
0� 
�U� i���� � �����%�� $��' �%�����
�'�������5 -!����� �% %����%������5 ������#!�%�� ������������%�����
�%��������

M = n×
1∫

0

[F (ξ)− Fn(ξ)]2 dF (ξ). ?��2�@

��� � � ��!��� � ���%����$ ���$� ������ ������������� �����%���%�5 ��
��������M �� #�����% �% F (ξ)� � %����� �% ����� �%���%�� n� 8�%� �������
-!����� ������������� �����%���%�5

Φn(µ) = W (M > µ) ?��2�@
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�bk[ar ���j 8�%� ������� -!����� ������������� �����%���%�5 Φ(µ)

$�/�% ������#���%��� � �����%�� �%����� �� ����� &������$��%����� �
������������� � %�����5� ������� ��� � � ��!��� � ���%����$ ���$� ������
�'�������� &%�5 -!����� ������������� �����%�����% #����%����'�
%�!����%�� � �� ����%��� ������#!�%�� ���������� -!����� �������������

Φ(µ) = lim
n→∞Φn(µ). ?��22@

A'�������� &%�5 -!����� %�/� ������%�� #������ ������� �� $�� �(
��������( �%�%��%������( %����� �������%�� %�����' #������5 Φ(µ) ���
1 − Φ(µ) ?�$�� �����$��� T
2U@� ���$� %� �� $�/�� �������#���%���
(����%����%������5 -!�����5 T
�U� ���!�����5 3$�����'$ ��� &%� �
��������������

ϕ(t) =
∫

exp (itµ) dΦ(µ) =

√ √
2it

sin
√

2it
, ?��20@

� � ��$�,�+ -��$!�' ����,���� �'�����%� Φ(µ)� Ǳ��!����'5 %���$
����#�$  ��-�� -!����� Φ(µ) �������� �� ���� ���� 3�����%� �(���$��%�
Φn(µ) � Φ(µ) ��$���%���!�% ���� ����
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�bk[ar ���j �%��*���� ��%� ������5 -!����� ������������� Φn(µ) � Φ(µ)
��� ��#�'( n� i������� -!����� Φn(µ) �'��������� $�%���$ >��%� "
����� ?�%�%� �*���� ��  ��-��� �� ���������@
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�*'����
�, 567��6

4�#��!.&������$��%�%��! ��� �� ���(���%�� �'�����%� �� %�����
�������'� ����H�%'� �� � �������%� %�!��H�$��� �����%������� �'���������
3!,��%����!+ ��$�,� ��� &%�$ $�/�% ���#�%� ���%�$� �����%������(
�'�������5 MNOIPN T
1� 

U� >' �� �!��$ � �����$ ��#���� �%��$�%��� �
�����$! �������+ ��#$�/���%�5 MNOIPN ����! � ����������%� $��%��
����$�%��$ %����� ��$'� ����%'� ��$���' MNOIPN� ��#����+,��
������#���%� � � � ��#�'( �����%�(� 8 �����$ �� �!��$ ����%��� $�,�'(
�����%� ��� �'�������5 � -�#��� &��$��%���'( ���%��� ~���+,�� �����
�������� �#����$�%��� � &%�$� ��#$�/���%�$� MNOIPN ���$� �#!�����
����� � �!������%�� ����#���%��� $� !% �����%�%� �������%' T
�� 
�U�

3��%�$� MNOIPN �����%�� ��%�����%�%���$� � �� ��$����%���$� =%�
#����%� �%� ��$���' �����%�� �� �������� �����#��!+%�� �� �������
���%���������( �*���� �� ���� ��% �*����� ���#! /� �'�����+%��� Q���
��� &%�$ ���!���%�� ����5.%� ��#!��%�%� %� �� $�/�% �'%� ���#! ������%���
Ǳ�� �������� ���'( ����������5 � ����%������ ���/��� �'��������
��%�$�%������ �� ���%���+%��� ��� ���%������ ���� �'��%� ��$���'
#������

�:�� >����� #� �������� �� ���� � �����


3��%�$� MNOIPN ������#!�% ����!+,�� ��$���'j

��2



��0������� �?�  � !�"� ���.�!�1� &�3�*1� .���-��A#��

• <!��' �� ��5��� � ��-���%� ?� ����*���%�� �����#���5 ����*�� �
$�������� �!��' �� ��#����+%��@�

• F�-�' �% 	 �� ��

• 3��������'� ��$���'j
� � � � � � � � � �  � � ! " # $ % & ' (�

B���% ��$��� �����%�� � ����'( 
� ��#����( �%����� #����� ��$���
���-��$�%��� ?�� �����#��� � ����$.���� ��#����$@� $�/�! ��$����$�
� ��������$� $�/�% �'%� ����#������� �������%�� ��������� �����
��$���' �%$����%�� ��$����$ C�D ��� C�D�

F��'� ����� �����%�� ��� ���������%������%� ��-�� ��%��'$ $�/�%
����*��%����%� ��$��� #���� C+D ��� C−D� A �����'( �����( $�/��
������#���%� ����%���!+ %���! � ��$��� ����%���� � ������� CND� #�
��%��'$ #����'���%�� ������� � ���� ���� � ����� �� #����$ ��� ��#
#����� Ǳ���'$ ��$����$ ����� ?���� ��%� #���� %� ����� #����@ ���/��
�'%� ��-��� A �%�����%��$ ��/�$� �����'� ����� ������,�+%�� �
��'�������'� ����� � #���$���+%�� ��� �%��*���� ��!( ���'( ������ ��%
� ��������5 �� �������! ���� � ������ ���$� ��%��%����� � � ���������
�� �����%����5 ��$�%� =A>� ����(���$�5 ��� (������� ��-��$�����

8���%�-���%���$ ����$����5 $�/�% �'%� �+��� ���������%������%�
�!�� � ��-�� ������+,���� � �!��'� >����$������ ����� $�/�% �'%�
��#��5 � ��#�'( �����#����(� �� ����� � �0 ��$���� ��� �� ��#$�/��� Q�%�
���'5 ��� ����%�-���%����� #���#����������'( ���%�$�5� ����*���%��
�# ��( ����+%�� �����%���$� �#'�� MNOIPN ��� $�%�$�%������$�
-!�����$� � �� ���/�' ������#���%��� � �����%�� ����%�-���%����
����$���'(j

� �� � � ! "& $ $& & % %&
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����%��'� �# #���#����������'( ����%�-���%���� ���#����+% ����'�
������ ��%��'� $�/�� ������#���%� � ����( #������( ��� MNOIPNj

N " ��������� ��%!�����'( �� ���-$�� e ≈ 2, 718281828
K " $��$�� ������� i =

√−1� ������% �H� ��%�$�%������
#�$����%�� �� −1

JKh " ������$ �!��
mK " ����%��%� π ≈ 3, 141592654�

A���! %��� � ����*� � �������%�� #���#����������'(
����%�-���%���� ���� �'%� �������� ��%���/�'$ ��� �'���� �$H��
����$���'(� %�� ��� �����%���%� ��!��5�� � ���������� ������� �
��� ���%��� �*���� $�/�% �'%� �� ������ ����5�

Ǳ� !$������+ ����%�-���%���$ ����������%�� %�� YPZhZM�
#�������$ %���5 ����$����5 $�/�% �'%� �+��� �� ����������� �'��/�����
�� ��#$�/�' � ��! �� %��' ����$���'(� ��%��'� %���!+% ���������� �
��������� B���� %��' ����$���'( �!�!% ����$�%���' � ���%��%�%�!+,�(
$��%�(�

3%���� ��$������ #���+�H����� � ���5�'� ����%��-'� �� �����#��!�%��
� �� �������#!�%��� �����$��� }gtbc bc ` csab\k}� B���� �%����� � �������$�
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